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The religious iconography of Indus Valley people consists of

1. Seals and sealings

2. Images and statues

3. Amulets and tablets

4. Terracotta figurines

(A) 1 and 3 only .1, 2,3and 4
(C) 2 and 3 only (D) 1,3 and 4 only

Which of the following statements are correct?

1. Rigveda is a collection of hymns.

2. Atharvaveda is a collection of spells and charms.

3. Yajurveda is a collection of sacrificial formulas for worship.
(A) 1and 2 only (B) 1 and 3 only
.1, 2,and 3 (D) 2 and 3 only

Which of the following is/are correct?

(A) Darius sent a naval expedition under Scylax to explore the course of the valley of the Indus
river and its tributaries.

(B) Alexander crossed the Indus with the help of a bridge of boats built at Und (Ohind).
@ ot (») and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct?
1. Dharmasthiya were the courts which decided personal disputes.
2. Kantashodhana were the courts which decided upon matters related to the state and individuals.

3. The City Council, according to Megasthenes, was divided into six committees and each
committee consisted of six members.

(A) 2 and 3 only (B) 1 and 3 only
@ and 2 only (D)1,2and 3

Vishakhadatta’s play ‘Devichandraguptam’ throws light on the reign of

(A) Chandragupta Maurya (B) Chandragupta |

(C) Chandragupta Il .Ramagupta

During Kanishka’s reign, the center of political activity shifted from Magadha to
.Purushapura (B) Kashmir

(C) Ayodhya (D) Delhi
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At which of the following places did Harsha hold a special religious assembly to honour
Hiuen Tsang?

(A) Prayag .Kanauj
(C) Thanesvar (D) Vallabhi

Arrange the following dynasties of the Vijaynagar empire in chronological order.

1. Tuluva 2. Saluva 3. Aravidu 4. Sangama
(A)2,4,1,3 B)4,1,3,2
(C)1,4,2,3 @: 213

Which of the following Bhakti saints developed different modes of religious emotionalism such as
vatsalya, dasya, sakhya and madhurya?

(A) Nanak (B) Ramananda
@ «<abir (D) Mira
‘Pravinsagar Granth’ in Vraj language was written by

(A) Lakhajiraj (B) Bavajiraj
.Maheramanji (D) Ranmalji

Which of the following rulers of Bhavnagar state established ‘Department of Archaeological
Survey and Antiquarian Survey’ in 18817

(A) Jasvantsinhji .Takhtasinhji

(C) Bhavsinhji (D) Krishnakumarsinhji
The third Anglo-Mysore war ended by the treaty of

(A) Mangalore .Seringapatam

(C) Madras (D) Pondicherry

Which of the following Governor Generals of English East India Company was impeached by the
British Parliament?

(A) Sir John Shore .Warren Hastings
(C) Lord Hastings (D) Lord Cornwallis

Which of the following women had not participated in Rajkot Satyagrah?
(A) Mrudulaben Sarabhai (B) Maniben Patel
(C) Kasturba .Pushpaben Patel

Which of the following animals are seen on the Indus seals?

1. Bull 2. Elephant 3. Lion 4. Tiger
(A) 1and 4 only .1, 2 and 4 only
(C) 2and 3 only (D) 1, 3and 4 only

[RFP-1] rro. [N
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016. Sabha and Samiti of Vedic times are termed as twin daughters of
(A) Shiva (B) Vishnu
.Prajapati (D) Surya

017. Which of the following pairs are correctly matched?
1. Vendanges — Six
2. Upveda - Gandharva Veda
3. Upanishads — One hundred eight
4. Samskara — Twleve
.1, 2 and 3 only (B) 1 and 3 only
(©)1,2,3and 4 (D) 2 and 4 only

018. Who of the following Rigvedic Gods is also known as Dhananjaya?
(A) Varuna (B) Indra

.Agni (D) Soma

019. Which of the following pairs are correctly matched?
1. Navnitakam — Medicine
2. Panchsiddhantika — Astronomy
3. Aryabhatiya — Mathematics
4. Shushrut Samhita — Surgery
(A) 2 and 4 only (B) 1 and 3 only
@:.23and4 (D) 1, 2 and 3 only

020. Which of the following statements are correct?
1. The Chola rulers were followers of Vaishnavism.
2. The capital of Cholas was at Tanjore.
3. Around 400 dancers were working in Rajrajeshwar temple.
4. Famous Kailash temple of Ellora was constructed by the Rashtrakuta ruler Krishna I.
(A) 2 and 3 only .2, 3 and 4 only
(C) 1and 4 only (D) 1, 2 and 3 only

021. Which of the following statements are correct?
1. The headless statue of Kanishka has been found at Mathura.
2. After defeating Harsha, Chalukya ruler Pulkeshi Il had adopted the title of ‘Paramatma’.
3. Mahapandit Jaysen of Saurashtra was in the court of Harsha.
(A) 1and 2 only .1 and 3 only
(C) 2and 3 only (D)1,2and 3
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022. Which of the following statements pertaining to the description of Somnath temple given by
Alberuni are correct?

1. It was built before one hundred years.

2. It was of seven storeys.

3. It was on the support of 56 pillars.

4. Bells were linked with heavy chains of gold.

.1, 2,3and 4 (B) 2 and 4 only
(C)1,3and 4 only (D) 1, 2 and 3 only

023. Which of the following pairs are correctly matched?

1. Abdur Razzak - Persian traveller

2. Nicolo Konti - Italian traveller

3. Domingo Paes — Portuguese traveller

4. Barbosa — French traveller

(A) 1and 2 only (B) 2 and 3 only
.1, 2 and 3 only (D)1,2,3and 4

024. Sir T. Madhav Rao served as Diwan at which of the following places?

1. Vadodara 2. Travancore 3. Indore
(A) 1 only (B) 1 and 2 only
(C) 1and 3 only .1, 2and 3

025. Which of the following statements are correct?
1. Sir Arvind Ghose had served as a professor at Vadodara.

2. Vadodara state had introduced compulsory primary education on experimental basis in the
villages of Amreli district.

3. Vadodara state had established libraries with the co-operation of Chhotubhai Purani.
.1 and 2 only (B) 1 and 3 only
(C) 2and 3 only (D)1,2and 3

026. Which of the following pairs are correctly matched?
1. Second Anglo Sikh war — Punjab annexed by Dalhousie.
2. Third Maratha war — End of Peshwaship.
3. Fourth Mysore war — End of Tipu Sultan.
4. Anglo-Sindh war — Sindh annexed by Ellenborough.
(A) 1and 3 only (B) 2, 3 and 4 only
.1, 2 and 3 only (D) 1,2 and 4 only
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Which of the following statements are correct?

1. Hyder Ali modernized his army with the help of French experts.

2. Hyder Ali had said that it was better to live a day as a lion than lifetime as a sheep.
3. Tipu Sultan has shown keen interest in American revolution.

4. Baji Rao | is considered as the greatest exponent of guerilla tactics after Shivaji.

(A) 1and 3 only (B) 2and 4 only

(©)1,2,3and 4 .1, 2and 4

In which of the following States of Gujarat was the first Praja Mandal established?
(A) Bhavnagar .Vadodara

(C) Rajkot (D) Wadhvan

Which of the following pairs are correctly matched?

1. Arvind Ghosh — Bhawani Mandal

2. Shyamji K Verma - Indian Sociologist

3. Madame Cama — Bande Mataram

4. V. Chattopadhyaya — Talwar

(A) 2 and 3 only (B) 1 and 2 only
.1, 2,3and 4 (D) 1, 3and 4 only

Which of the following advocates appeared for the defence of Indian National Army trials at Delhi
in 1945-46?

1. Bhulabhai Desai 2. Jawaharlal Nehru

3. Tej Bahadur Sapru 4. Sardar Patel

(A) 1and 3 only (B) 2 and 4 only
(C)1,3and 4 only .1, 2 and 3 only
After the victory of Kalinga, which place was made its capital by Ashok?
(A) Katak .Jaggannath Puri
(C) Anarta (D) Tosali

What is ‘Fresco’?

.Type of painting (B) Type of sculpture
(C) Type of inscription (D) Both (A) and (B)

After which treaty did the British got the rights of collecting revenue tax in India?
.Treaty of Allahabad in 1765

(B) Treaty of Awadh in 1755

(C) Treaty of Murshidabad in 1764

(D) Treaty of Sugauli in 1715
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22 O=flul Su-ll-i WA eRU, AAl, A1e1Ad sul 2uddl 8dl ?

(A) [l (B) sliasi

(C) Hst @: s

‘5249” g1l AY TR

(A) dl (B) a~u ¥l
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4. d1932-33 Hi 23l &dl.
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(el 241, s1mst A WS 6 anan-a Adizil 8di ?
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@ -e (B) ig34R £t
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(A) ARan (B) tucl-iz
(C) HRUYR @~ 11 (B) vin

-

AL d2iH S1sH UHIGL 2Lsal.

1. A 2. AWds 3. uedd 4.
(A)1,2,3,4 (B)4,3,2,1
(C)4,3,1,2 @:.2:4:3
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Where was the Supreme Court situated during the rule of the East India Company?
(A) Delhi (B) Bombay
(C) Madras .Calcutta

The meaning of the word ‘Kutch’ is
(A) Sand (B) Forest land
(C) River bank .Area of seacoast

Where among the following was the permanent settlement first introduced?
.Bihar (B) Madras
(C) Varanasi (D) Puna

Which of the following statements are correct regarding Bhumij Revolt?
1. Birsa Munda was its leader.

2. Ganga Narayan Singh was its leader.

3. It took place at Dalbhum of erstwhile Bengal State.

4. It took place in 1932-33.

(A) 1,2 and 3 only (B) 2, 3and 4 only

.2 and 3 only (D) 1, 3and 4 only

Siddho and Kanho were the leaders of which of the following movements?
.Santhal Movement (B) Munda Movement
(C) Bhagat Movement (D) None of the above

Which of the following revolutionary died of hunger strike?
.Jatindas (B) Batukeshvar Dutt
(C) Anand Kishore (D) Bhupendranath Dutta

Which of the following places in Gujarat had Navabi rule before Independence?
(A) Sachin (B) Balasinor
(C) Dharampur @soth (A) and (B)

Arrange the following dynasties in chronological order.

1. Maurya 2. Satavahana
3. Pallava 4. Gupta
(A)1,2,3and 4 (B)4,3,2and 1
(C)4,3,1and 2 @:.24and3
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042.

043.

044.

045.

046.

047.

048.

049.

050.

-\

A=A Q4 sie uegled a5 ue elldl edi ?

(A) Asda- (B) Agd-11

@ eoa (D) §HIR2p-11

A2 WAL [Qarunoi-u sun o 8 WA Aollyel 206itl neai edi ?
@z (B) sRe2-1

(C) 8Re2-11 (D) 2aRua-11

AL S Sivl g Som 1882ui ‘UA[Baatls uew’ -l 2au- as dl ?

(A) sdlaia i Yo (B) Bs1eus uMel

@~ 11 (B) vin (D) (A) #A (B) WA A1 )
adRlg ols vid 2y 8.

@iz (B) Bud-2r

(C) aiusl (D) x13{l218

50Ae Grne il DA WS st B als 390 soadl 8l ?

1. uiReigR 2. A¥sl2 3. aisinz
(A) $5d. 1 241 2 (B) $5d. 1 241 3
(C) §5d 2 441 3 @ 23
(212, azdl uas a3 2uR [Béa u%2 doudul el @A [Aeuoimi
aflga 54 .
(A)5 (B)6
@ (D) 8
52941 2uY-ls snaell-l wal 2 vl 8dl.
@ o v (B) [Baut oilfdeua
(C) MaalRige (D) wadalise
2 192041 2ul2anflail 2 Yansia caHl 2usiHon a3 53
@<z ulzs (B) 64536UuL
(C) [@rien cud (D) 2itfle
191341 921l et g1l snall-l wAR s 2 9ap1d snagll Hao' -l e s,
@-icvana useaa GEEEREES
(C) g Al (D) Mg
[RFP-1] [Contd.
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042. Who among the following was also known as Mahendraditya?
(A) Chandragupta | (B) Chandragupta Il
.Kumargupta | (D) Kumargupta Il

043. With which of the following rulers of Vijaynagar did the Portuguese maintain friendly relations?
.Krishnadevrai (B) Harihar I
(C) Harihar 11 (D) Devrai ll

044. Under the leadership of which of the following was ‘Prajahitvardhak Sabha’ established in 18827
(A) Harilal Harshad Dhrul (B) Ukabhai Prabhudas
@soth (4) and (B) (D) Neither (A) nor (B)

045. The rebellion of Vaaghers took place at
.Okhamandal (B) Himatnagar
(C) Vansda (D) Amirgadh

046. Karamchand Uttamchand Gandhi served as Diwan of which of the following?

1. Porbandar 2. Rajkot 3. Wankaner
(A)1land?2 (B)land 3
(C)2and 3 @:. 2and3
047. The British Government categorized the local provinces of Gujarat into divisions in
terms of area, population, income etc.
(A)5 (B)6
@ (D)8
048. laid the foundation of modern education in Kutch.
.Pranjivan Khakhhar (B) Diwan Govindrao
(C) Bhagvatsinhji (D) Jaswantsinhji
049. started the Ashram Shala for tribals in Panchmahal district in 1920.
.Indulal Yagnik (B) Thakkar Bapa
(C) Vinoba Bhave (D) Gandhiji
050. established ‘Gujarat Kelavani Mandal’ to promote education through Gujarati language
in 1913.
.Ambalal Sakarlal (B) Kaka Kalelkar
(C) Nathuram Sharma (D) Narmad
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051.

052.

053.

054.

055.

056.

057.

058.

D2 WAL s s(AA el AiA2 Sl USIRHE HeTa] /L O ?

1. ol . 61512 2. AR+ WS 3. Buny
(A) $5d 1 211 2 (B) $5d 1 ¢ 3
(C) $5d 201 3 @ 23

QA1 U4 su1 ossi 0=l Ad Az e ?

1. sil3al — e

2. dgld — Guieis: sl

3. URbL — AW Y24

(A)$5d 1 (B) $5d 2
@512 (D) 1,21 3

“32 dl dlai ¢ onell onell” daasan uell Al U4 su1 sausi? s dur sy ed ?

(A) »12(de sl (B) 1:[ag [Aagl
@ci~ (Bl (D) A3y g
A VA 56 AaasuiiL A5 Agsird e1all Al ?

1. 2SR 2. Wlak 3. s

(A) 554 114 2 @:s3

(C) $5d1 (D) 5d 2

AHEL gl (3R A U4l sun 22 8l 221Aa8d-l 2u8H 20dal ¢ ?
(A) 1018 (B) 38
@2 (D) staiaRisel

A2l W 54 GuiH AR (A wesd el ?

@ (B) AN
(€) [g3s (D) WA

A

6.4, 1923 Wi “IaeA” AW Anls Qa3 54 g ?
(A) yeis: yeusll (B) S1eneus Hinaue
@ 1R Qeus: (D) dsiagt Hdl

A2l WA 5y / sui [Qanq / [Qal 02 /i e ?

(A) Ffare uns well curuni avnda sieilRs 214 8 [As ueta vuadl 5la €.
(B) H1GURUA Avs Ydorel i,

@ ») 211 (B) vin

(D) (A) 211 (B) U4l 415 -l
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051.

052.

053.

054.

055.

056.

057.

058.

The contribution of which of the following poets have remained important to sonnet form

of poetry?

1. B. K. Thakore 2. Rajendra Shah 3. Ushnash

(A) 1and 2 only (B) 1 and 3 only
(C) 2and 3 only .1, 2and 3

Which of the following pairs are correctly matched?

1. Dandiyo — Narmad

2. Sanskruti — Umashanker Joshi

3. Parab — Ravji Patel

(A) 1 only (B) 2 only
.1 and 2 only (D)1,2and 3

Which of the following artists developed a play based on the novel, ‘Zher tuo pidha che jani jani’?

(A) Arvind Joshi (B) Arvind Trivedi
.Upendra Trivedi (D) Nimesh Desai

Chandrakant Baxi is not the author of which of the following novels?

1. Aakar 2. Paralysis 3. Chehara
(A) 1and 2 only .3 only
(C) Lonly (D) 2 only

At which of the following places is the Ashram of Shree Rangavadhoot situated on the banks of

river Narmada?

(A) Chanod (B) Dabhoi
.Malsar (D) Kayavarohan
Which of the following pen names is not of Ramnarayan V. Pathak?
@ =suki (B) Shesh

(C) Dwiref (D) Swairvihar

Who started the trimonthly named ‘Rangbhumi’ in 1923?
(A) Mulshankar Mulani (B) Dhayabhai Dholshaji
.N rusinh Vibhakar (D) Chandravadan Mehta

Which of the following statements is/are correct?

(A) Milindpanha is a work of philosophical and literary significance written in Pali.
(B) The writer of Mahabhashya was Patanjali.

@soth (») and (B)

(D) Neither (A) nor (B)

[RFP-1] [PT.O.
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059. A« WA 53 / sui (At / Q- ) / i 8 ?
@1t s ilaulaen GuzHl sia 8.
(B) [Ana (M2 dluui 16 U121 @2+l Gedu 69,
(C) (A) 21 (B) bid
(D) (A) 211 (B) U4l 41 -l

060. A USL Sl G121 YA AL NAH 2iA2 WaHHl won A3 sami »udl ?
(A) YU PAIRAA gIRL YRAHI
(B) Ul 3 [(R4R gRL AHEINEHE
@z auam croucus gL yraui
(D) uR U3 i H8R1 AWl gL A si2Hi

061. GURAHL A% cu2Ls DA U4 s [Qaldenau-dl @u-u 539 ¢dl ?
@-cael (B) BlBa
(C) [asnallen (D) AHYAU

062. M35l A3l

1. vite 2 Yl5q a. URAY WSS

2. ¥ GleR A wgua b. ngeus uaidl

3. [alida C. ALMASR 815

4. €154 U s Ad d. sy wlas

(A) 1-a, 2-b, 3-¢c, 4-d (B) 1-b, 2-a, 3-d, 4-¢c
@:02c3-a4-d (D) 1-a, 2-d, 3-b, 4-c

063. 529+l MAHS A A WS 56 22Uy Al sindal © ?

(A) S=3i-SeuHls (B) $-si-Sa-lls
@<z Qun-oidds (D) §=81-Badla
064. AL U4 55 Aita cudil ¢ ?
1. [Asu - dawa 2. AdssAA 3. yadat
(A) $5d 1 (B) $5d. 1 244 2
@::s 2 (D) 1,2%A 3
065. AMdE w2 elld 9.
(A) ditn 2451 @42 2iolla 24 ANl
(C) 25t aul-il (D) u[dxil
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059. Which of the following statements is/are correct?
.Yavanajataka is a treatise on astrology.
(B) There is a mention of 16 types of marriages in Vinaypitaka.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

060. By whom of the following was the first English medium school started in Gujarat?
(A) Rev. Glasgav at Surat
(B) Prof. Andrew Miller at Ahmedabad
.Dalpatram Bhagabhai at Surat
(D) Sir Alfred and Maharaja Lakhadhirsinhji at Rajkot

061. Which of the following universities was established by King Bhhatarka in India?
@ 211a0ni (B) Mithila
(C) Vikramsheela (D) Sompura

062. Match the Columns.

1. Bhandhan ane Mukti a. Saroj Pathak

2. Ek Uunder ane Jadunath b. Manubhai Pancholi

3. Likhitang c. Labhshanker Thakar
4. Highway per ek raat d. Hasu Yagnik

(A)l-a 2-b, 3-¢c, 4-d B)1l-b, 2-a, 3-d, 4-c¢c
@:.02-c3-34-d (D)1-a 2-d, 3-b, 4-¢

063. Prag Mahel of Kutch is built in which of the following architectural styles?
(A) Indo-Islamic (B) Indo-Ethnic
@ talian-Gothic (D) Indo-British

064. Which of the following are Buddhist tales?

1. Vikram-Vetal 2. Jataka Stories 3. Panchatantra
(A) Lonly (B) 1 and 2 only
.2 only (D)1,2and 3
065. Samaveda is known for
(A) Long shlokas .Melodies and songs
(C) Short narratives (D) Smrritis

[RFP-1] rro. K3
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066. 1A UL 58 Adl2Al i) {d Al € ?
1. Meueus s — sAn
2. ugeus valdl — gwl
3. ddeisR Al — yusg
4. welleis: Mz — Gu-
(A) $5d 1 211 2 (B) $5d 2 2 3
@5 1w (D) 1,2, 3% 4

067. A UL 58 Ulsail 21 @21l 22l ?
(A) dl2e 530 s AL, did A usiza R are.
(B) 24 A d g ¥, 51 Wganidl -ull 2y ?
(C) Glsl gal A 5181 oliw, vy AiMw) uay sis.
@) =0 i o1 2, o1 S1S 2l .

068. A3 ASL.

1. y3ad edl a. YesR

2. %dllal sew HlER b. 342

3. s 2l Hle c. HEAS

4. W-uall 2l d. ladan

(A) 1-b, 2-d, 3-c, 4-a @:0223-d4-c
(C) 1-a, 2-d, 3-b, 4-cC (D) 1-a, 2-¢, 3-d, 4-b

069. M35l A3l

1. il ooR B a. vleu gA-vur

2. %uYR AdRid] au- b. 2l {13 eaui3

3. AHYR BRI C. BRelle Seliud g vt
4. $EIR BUr d. Gt 2uHlR vuq

(A) 1-a, 2-b, 3-d, 4-cC B) 1-b, 2-d, 3-a, 4-c¢
(C) 1-¢, 2-b, 3-d, 4-a @:.:22-0b3-c4-d

070. D2 WA 53 / sui (At / Q- ) /i 8 ?
1. dansta-i ¢la gedl Ul gt qed [ onelld €.
2. 4 gL YU ¥ SR 6.
3. 4t 5l auid JusRl HielHi dlof usdl .
(A) §5d 1 @512
(C) $5d 121 3 (D)1,2x43
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066. Which of the following pairs are correctly matched?
1. Zhinabhai Desai — Snehrashmi
2. Manubhai Pancholi — Drashata
3. Gaurishanker Joshi — Dhumketu
4. Manishanker Bhatt — Ushnash
(A) 1and 2 only (B) 2 and 3 only
.1 and 3 only (D)1,2,3and 4

067. Which of the following lines are not of Akha Bhagat?
(A) Tirath kari thakya charan, tuoye na pahonchya hari ne sharan

(B) Sanskrut bole te shu thayu, kai prakrut mathi naasi gayu?

(C) Undo kuvo ne faati bok, shikayu sambhalyu saghalu fok
.Tarna othe dungara re, dungar koi dekhe nahi

068. Match the Columns.

1. Mundeshwari Devi a. Pushkar

2. Jagatpita Brahma Temple b. Kaimur

3. Mallikarjun Swami Temple c. Madurai

4. Meenakshi Temple d. Shrisailam

(A)1-b, 2-d, 3-¢, 4-a @:. 0 2-a3-d4-c
(C)l-4a, 2-d, 3-b, 4-c (D)1-4a, 2-¢, 3-d,4-b

069. Match the Columns.

1. Bhendibazaar Gharana a. Khadim Hussain Khan

2. Jaipur Atrauli Gharana b. Ashwini Bhide Deshpande
3. Rampur Gharana c. Ustaad Inayat Hussain Khan
4. Indore Gharana d. Ustaad Aamir Khan
(A)1-a 2-b, 3-d, 4-¢ (B)1-b, 2-d, 3-a, 4-c
(C)1l-c, 2-b, 3-d, 4-a @:.: 220 3-c4-d

070. Which of the following statements are correct?
1. Wardance (Yuddhanrutya) is specifically known among the Bhildances of the Panchmahals.
2. This dance is mostly performed by the males.
3. The dancers hold lemon in mouth while performing this dance.

(A) 1 only .1 and 2 only
(C)1and 3 only (D)1,2and 3

[RFP-1] rro. BB



Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


071.

072.

073.

074.

075.

076.

077.

078.

2 WS sl U wgua Aueial 24l ?
(A) agdla
(C) dI= dia

131 gl 20 soustlol-l fog A1 WA -l suL AASIAUHL F WA € ?

@iz yun, awsie
(C) cuviiel Ry [HuH, MH-2R

@

(D) stul&s

(B) £36UR Sid R¥[HUH, 1oL
(D) WRlaa dasiqy, cua-r

D21 WAL 5181 ol ML NAH LS Yrels AR $Y e, ?

(A) silaa simgam
(C) laReA Ulid

@-:io sus
(D) Q938U BeuAH

oAl AU uRMEA nan HSAL Uy A1 UL S 8ai ?

@il Qass
(C) YRMa 83

(B) aul 3140
(D) dlenadl y-au

A2l WA 5y / sai [ / [Qanl 02 /i 6 ?
(A) 1541 uelHi a8 ada Hagl “wael g fawll ust-l oerudl-i wulo sul .

(B) (1AL 2 Hd i ansielA .

@~ 1 (B) vin
(D) (A) 21 (B) U4l 518 1l

s612-1 [QRiA AL (6] AANT HASAHL 2l 69,

(A) YRALIR
(C) yeila-dl

@

(D) [t 282

UYL AL How, D=L WAL s i aiony 69 ?

1. gl 2. YARUA
(A) $5d 1,291 3
(C)$5d 1,321 4

3. e
(B) $5d 2, 3 ¢ 4
@: 2324

A0 U 5y / sui Qe / (sl 2 / i ¢ ?
(A) 3151 Wes @3 M2 HAsLsMT iy 8d.
(B) Y2d vitd-ll R wal-ua dlEui due A2ugiue vid-i 2Al¥d-ua dlEmi stesmqu Guyn

AL AL WAL 89,

@ ») 21 (B) vind
(D) (A) 21 (B) U4 518 el

4. x4l
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071. Which of the following cults is not of Pashupata sect?

(A) Lakulisha .Aagam
(C) Veershaiv (D) Kapalik

072. The rare things of 13t century artwork are found in which of the following museums of Gujarat?
.Watson Museum, Rajkot (B) Darbar Hall Museum, Junagadh
(C) Lakota Museum, Jamnagar (D) Parseval Museum, Bhavnagar

073. Who among the following prepared the first grammar book of Gujarati language?
(A) Kantilal Baldevram .Robert Drummond
(C) Bechardas Pandit (D) Ranchodbhai Udayram

074. Who among the following was the first woman president of Gujarati Sahitya Parishad?
.Vidyagauri Neelkanth (B) Varsha Adalja
(C) Sushmita Mehd (D) Lilawati Munshaw

075. Which of the following statements is/are correct?
(A) Mayan of the 15t century experimented Dingli type of Gujarati in ‘Mayanchhand’.
(B) Bhalan was contemporary of Narsinh Mehta.
@soth (4) and (B)
(D) Neither (A) nor (B)

076. The thoughts of Kabir are collected in Hindi book named
(A) Sursagar .Bijak
(C) Subodhini (D) Siddhant Rahashya

077. At which of the following places is the fair of ‘Golgadheda’ held?

1. Jesaavaada 2. Sutharvaasa

3. Chhayan 4. Gamla
(A)1,2and 3only (B) 2, 3 and 4 only
(C) 1, 3and 4 only @:23and4

078. Which of the following statements is/are correct?
(A) The famous Rancchodrai temple of Dakore was built in Maratha period.

(B) The best specimen of woodcraft is seen in Chintamani Parshwanath temple at Surat and in
Ajitnath temple at Ahmedabad.

@ soth (A) and (B)
(D) Neither (A) nor (B)
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Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


079. #eir A5 Aona g1 (61%) euetd A1 UL sui Q- i & ?
1. d AR [Raell gdl.
2. d UHY Yell YEd 06U Hirlldl 4o0ds1R ei-il Sdl.
3. Bl dolld visiean’ AumHl AU 24l edl.
(A) $5d 1 11 2 (B) $5d 1 241 3

(C) $5d 2 21 3 @: 213

080. ~llA-t WA sui [Aau-l i ¢ ?
1. agsusin eRaiq ol g2 ag Raidnl Qs sal.
2. AcddsnHl Rasal [@As 5245 21 2124 ol el
3. yaas eRu oridul Rasadl ikl dd Qs aul.
(A) 554 1 1A 2 @523
(C) $5d 121 3 (D)1,2x3

081. M3l A3l

1. vl a. RWULIAUTL 2A0A

2. Yi-e b. Rstan el

3. wun c. sAROUS HH

4. A Halsl d. 3acu olla

(A) 1-a, 2-b, 3-¢, 4-d B) 1-b, 2-a, 3-¢, 4-d
(C) 1-b, 2-d, 3-a, 4-¢ @:.:d2c3-b4-a

082. -t WA 53 / sul (At / Q- 02 /i 9 ?
@00 2R 2000l sdell 2iolla-u [ARve i sinvua 8.
(B) sadl il 20ldl S 9 a3 vioruy 69,
(C) (A) ¢ (B) bid
(D) (A) 21 (B) U4l i8S 1l

083. -la Aueid uetd A1 U4 sai Qe i ¢ ?
1. d 2la Ausasdl e .
2. d aAwq Ausa-l wen .
3. U AUELUA ALY ‘Sl ddls s 9.
4. 294 HlalliRd e-1s 2L AU 54 a5 elld ©.
(A) $5d. 1211 3 (B) $5d 2 241 3
@51 3214 (D) 554 2, 349 4
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079.

080.

081.

082.

083.

Which of the following statements regarding great musician Vaijnathdas (Baiju) are correct?
1. He was a resident of Champaner.

2. Later, he had become favourite musician in the Mughal court.

3. He had written a book named, ‘Sangeet Ekadasha’.

(A) 1and 2 only (B) 1 and 3 only

(C) 2and 3 only .1, 2and 3

Which of the following statements are correct?

1. The Buddhist monks developed miniature painting style during the Chalukya period.
2. The development of painting art was somewhat halted during the Sultanate period.
3. Painting developed in a good way in Gujarat during the Mughal period.

(A) 1and 2 only .2 and 3 only

(C)1and 3 only (D)1,2and 3

Match the Columns.

1. Akho a. Rancchodrai na Garba
2. Premanand b. Sinhashanbatrishi

3. Shamal c. Kunwarbai nu Mameru
4. Vallabh Mewado d. Kaivalya Geeta
(A)l-a, 2-b, 3-¢c, 4-d (B)1-b, 2-a, 3-c, 4-d
(C)1-b, 2-d, 3-a, 4-c @:.02-c3-b4-a

Which of the following statements is/are correct?

.The music of Vaishnav temples is specifically known as Haveli Sangeet.
(B) The songs of Haveli Sangeet are known as Ishwari Chhand.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Nath sect?

1. Itis a branch of Shaiv sect.

2. Itis a branch of Vaishnav sect.

3. The monks of this sect are known as ‘kaanfatta’.

4. The religious place of Dhinodhar in Kutch is known as centre of this sect.
(A) 1and 3 only (B) 2and 3 only

.1, 3 and 4 only (D) 2,3 and 4 only

[RFP-1] rro. B3
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084. uiell+i uzt (RueRsisl Byecn)yi 2udan dui-il usigart Mg sty DA WS sui Aeld 14142 8 ?

1. A4 2l 2. ulas 2ell 3. dissol
(A) $5d 1 211 2 (B) $5d 1 ¢ 3
(C) $5d 2 21 3 @ 23
085. ARl WLEE1 URHIR dall A Ad M2Ld DAL WS 56 sa w2 onefldi ¢ ?
(A) FAAZL g @
(C) s6uavil (D) BuRlSsd dHIH

086. A5 A3l

edl et
1. vidlar a. 4531
2. 6IgAR b. HARHAY
3. ALl c. G2
4. yiul d. a2l
(A) 1-a, 2-b, 3-¢, 4-d @:5052-23-d4-c
(C)1-a 2-d, 3-¢, 4-Db (D) 1-b, 2-d, 3-a, 4-¢C

087. IARAAHL $UAL, AUl HAraHY Mldw Hie A2 WS su1ad v €9 ?

1. ddl ad 2. (Rl aq 3. @ ad
(A) $5d. 1 211 2 (B) $5d 1 ¢ 3
(C) $5d 2 31 3 @:. 213
088. 518l dist Uldir asaidil viiell-wislla U U 69,
@:2u (B) Hiullui
(C) wuvlla (D) H8IRA™
089. [RA-lafaAzz-l vl vild Al €9,
(A) M3 GISUL @ c50 vud djerid)
(C) Wy WA §56Ua018 (D) i
090. sy >ul2aidlild UsRY wa 8.
(A) dd cuer @0z
(C) ¥H aier (D) &t gl

091. Saiurl og1iul a1 UL sul 4 Auei/aH Anerdi-i Rl 2udviai ¢ ?
(A) vlity (B) %1
@~ 11 (B) vid (D) (A) #A (B) WA A1 )
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084. The temple of Mahadev of Sekhana situated at Poshina Patta (in Sabarkantha district) follows

085.

086.

087.

088.

089.

090.

091.

which of the following style?

1. Solanki series 2. Pratihara series 3. Folk art

(A) 1and 2 only (B) 1 and 3 only

(C) 2and 3 only .1, 2and 3

Khodidas Parmar and Vrajlal Bhagat of Bhavnagar are known for which of the following arts?
(A) Jaltarang vaadan .Painting

(C) Puppet (D) All of the above

Match the Columns.

Deity Vehicle
1. Khodiyaar a. Rooster
2. Bahuchar b. Crocodile
3. Gelmata c. Camel
4. Mumaiya d. Sheep
(A)1-a, 2-b, 3-¢, 4-d @: 0 2-23-d4-c
(C)1l-4a, 2-d, 3-¢, 4-b (D)1-b, 2-d, 3-a, 4-c¢

Which of the following vows (vrata) do girls observe for their auspicious future?

1. Tilivrat 2. Nisarni vrat 3. Vrat of Saathiya
(A) 1and 2 only (B) 1 and 3 only
(C) 2and 3 only .1, 2and 3

The Kathi people name the Khaambhi-paliya of their ancestors as
.Shurpura (B) Dholiya

(C) Maaliya (D) Mahastambh

The fair of ‘Chitra-Vichitraeshwar’ is held at
(A) Bhoiwada of Bharuch

.Gumbhakheri near Khedbrahma

(C) Igbalgadh near Palanpur

(D) Dang

Tadpu is type of tribal musical instrument.

(A) String instrument .Wind instrument
(C) Percussion instrument (D) Solid instrument

The paintings of which of the following sect/sects are drawn in Ellora caves?
(A) Buddhist (B) Jain
@soth (») and (B) (D) Neither (A) nor (B)
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092. 2 “opRABl” L A5 numi [Alay el un Gersw A 2wl 8.
[ EEIMEIRE (B) sRaisylR
(C) ad™g (D) At
093. WHOUL WA 21dd gaa-dl HIZlHL Ui AL ulam wofl 2udl 6.
(A) wsu @
(C) [any, (D) S+=
094. ugRA-seu-l Rieuglail A A4 56 44 uun / udugid 2uadl 4 © ?
1. cusL 2. Ky 3. %1
(A) $5d 1 211 2 (B) $5d 1 ¢ 3
(C) §5d 2 41 3 @ 23
095. euHRll sl UsIRML AR aisdl uR Wi ael sl 2ud .
[ JERECEN (B) 4t
(C) vidl (D) dsaRi
096. llarHl-euHl Al R0 wgsa Adl-u e Adl 15 uRL U] 2ud 8.
(A) W2I1R (B) silas
@2 (D) Bulsd Ul £ 1l
097. [rR-uR urg w-ie 2l erR da axru g 2ule-uad eruR SRR RN
(A) e [AsR @)= s
(C) 1l¥d [ag12 (D) +ig [ag12

098. 2R Al Hl2AMi Al 21010 vl HiuA g 58 €9 ?

(A) HH3Y (B) %21l
@~ 211 (B) vid (D) (A) »1A (B) WA A1 )
099. MAB digsil sasie vud WA Hl22 2uay 9.
(A) by @
(C) §w1 (D) &8l
100. 2ueRdHl HyMNlad dlsBia siiaami Al 2usanaril L HeTa-dl 5101 8.
@ 2eRia HidaR v (B) us12acusS
(C) Wl3d s (D) uadd Yl8q
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092. has given the names of different types of metres along with illustrations in a chapter of
‘Bhruhut Sambhita’.
.Varaahmihir (B) Haribhadrasuri
(C) Vaagbhatta (D) Brahmagupt
093. The idol of has been found in the stupa of Devni Mori situated near Shamlaji.
(A) Brahma .Buddha
(C) Vishnu (D) Indra

094. Which of the following sect/sects includes/include sculptures of Mathura-art?

1. Brahmana 2. Buddhist 3. Jain
(A) 1and 2 only (B) 1 and 3 only -
(C) 2and 3 only .1, 2and 3

095. The description of twelve months is done in turns on in ‘Baarmaasi Kavya’ poetry type.
.Lovelorn (B) War
(C) Agriculture (D) Festivals

096. The style of Chalukya temples during the 11t-12th century is also known as
(A) Nagara (B) Dravid
.Vesar (D) None of the above

097. The deraasar of Abhinandan Swami on Girnar and the deraasar of Aadinath on Shetrunjaya are
also known as

(A) Prasadvihar .Kumarvihar
(C) Ajitvihar (D) Nandvihar

098. What is the mandap in the front of the Grubhgruh in Nagara style temples called?

(A) Mukhmandap (B) Jagmohan
@soth (») and (B) (D) Neither (A) nor (B)
099. The ancient temple is situated at Kantharot of Bhuj taluka.
(A) Vishnu .Sun
(C) Krishna (D) Brahma
100. The contribution of Gandhiji’s ashramvashi, , Is important in making Bhajan sangeet
popular in Gujarat.
.Narayanrao Moreshwar Khare (B) Mahadevbhai
(C) Pandit Omkarnath (D) Yashvant Purohit
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101.

102.

103.

104.

105.

A Q4 su stuel gL 3w 2 A5 Al A A8 wEl, A%U L 211, anadl wlui adaani
udl 69 ?

(A) aurdlu adatdl x18Run, 1947
(B) M1 A1 AE[AuH, 1919
(C) surdla ulRue 2B[Raxn, 1909
@120 w2512 2RRUH, 1935

2 WA 53y [Qsun B[Rl cudlas Hdeit 2512 2190 04 8 ?

oY =\

1. o BAael curdla wia avdl ay wuu 3l Add [@Qeai 8§l dl d2ll Hd 2uua 1R
SReuus .

2. [l cudlu oul dug Raen 8 d o HdgiRaAul 3613 % 1 2udl a5 9.
3. daszias a-afe uized vide [izen (ETPBS) gL [BirilAandl cudla (A2l 1a 2udl as .

4. nd2 (UsA) Haltrl [Aseu 55d AaAA 0, Ul 2 MIRA 6112 [RYsa s3e w513 218518241
W2 Buoiey 89,

(A)$5d 1,224 3 @524
(C) 55d 3 21 4 (D)1,2,311 4

Aop-lla-i Woleels [Rueaidl suotd DA W4 sy / sui [ / (el 0 /i o ?

1. AUE HOLEASIA HHA WIS YN SSIHT YHIRL 530 A5 69, Ul Y 21 YHIRA HNGA QBRI AU 5l
4 i,

2. Al seuasidl suHl [Qenadid asd $2 9.

3. il Hedd ARSIRIME aIRL 52 6.
@: 2213 (B) $5d 2 21 3
(C) $5d 1241 2 (D) 85d.2

21 i 22 1d#1R, 2020 g0 “21HL ALl ds Al HIS W52 s (AU uR su1 sigually vissd
UL SAUHL PN, S 5 BHL HIRAAL AL ARv% HIglA Mol dlal gl ?

@20 (B) ®©-77

(C) [asa (BRICS) (D) ¥l 2. (SCO)

RURArL AL 2UTH Bl HIRAL AAAAUL QU2 1A dd) 835 ulsd cuRdHl AR S A 244 ...
(A) % HIRdArL APUEAAHL B HA S1Y

(B) %+l WidlRatmigl $16 tIdrL AAUAAML %0 Sld

(C) % 2l 2UZAH- dd USAL 2ALe9ML 24191 wiA Al GURAL AAAARL A1HIA d 8] 20l €lu
@Gucisa aun
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101.

102.

103.

104.

105.

Which of the following Act divided the powers between the Centre and units into Federal List,
Provincial List and Concurrent List?

(A) Indian Independence Act, 1947
(B) Government of India Act, 1919
(C) Indian Councils Act, 1909

.Government of India Act, 1935

Which of the following statements are correct regarding the voting right of the Non-resident
Indians (NRIs)?

1. NRIs are not eligible to vote if they are staying abroad continuously for more than 5 years.
2. NRIs can only vote in person in the constituency where their residence is located.

3. NRIs can vote from abroad through the Electronically Transmitted Postal Ballot System
(ETPBS).

4. The option of proxy voting is available only for armed forces, police, and government officials
posted outside India.

(A) 1,2and 3only .2 and 4 only
(C) 3and 4 only (D)1,2,3and 4

Which of the following statements is/are correct regarding the Directive Principles of State Policy?

1. Parliament can amend fundamental rights for implementing the Directives so long as the
amendment does not touch the basic features.

2. They embody the concept of a Welfare State

3. They supplement fundamental rights

.1, 2and 3 (B) 2 and 3 only
(C)1and2only (D) 2 only

Which multilateral meeting was organized virtually during 21-22 November 2020 on the theme of
“Realizing the Opportunities of 215t Century for All”” in which the Indian Prime Minister Narendra
Modi participated?

@:-20 (B) G-77
(C) BRICS (D) SCO

At the commencement of the Constitution of India, every person shall be a citizen of India who has
his domicile in the territory of India and

(A) Who was born in the territory of India.
(B) Either of whose parents was born in the territory of India.

(C) Who has been ordinarily resident in the territory of India for not less than five years
immediately preceding such commencement.

.AII of the above
[RFP-1] [PT.O. m
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106.

107.

108.

109.

110.

Sl3un vt A1 g2 (IORA) 2101 Al WS sui (e i 69 ?

1. 19954i el&a 2ul3si-u [Bdoatd nguld Aeuq Hiadl aura-l yausid effun I0RA il vuiaHl
Bg™Ma AUl Sdl.

2. 10RA udl2 202 (Apex body) -uew wai-l uRue 8, ¢ alils €iEl ua O,

3. AUYsd 2201 AAMAA 14312 2019 ol UyvRAIA Aeuda 6.

(A) 1,243 (B) $5d 2 ¥ 3 @5 143 (D) $5d 1 211 2

uidAS|Y G elae uRasH siRsIR A (INSTC) dladl ugradluga ¢,

(A) auRd, Al 21 A0 uRagA- AsARIA Ul 2iual 2 Wy 2R sl e A
QHIRal W2

@ cuzq, R0 217 St uRag wsAlAA MRl 2udL A v AR 2ol WA Asw
QEIRAL W2

(C) ®URd, S A BsU[Ac WRAG A ASUAA UicRAS L AL 24 WL 2[00 22 118 A1
aHIRal W2

(D) BuRisd WA 518 Al

Al AauAs Al 2100 Dal-unioll 53 / sui [ / Qa0 /i 6 ?

1. [a9us o apu-lla-n woteels Reaidi-l [t sia di asawa eguld-d [Quen we dd 2-iHd
vl us .

2. ABAWA AU [AaneH vid A8l Aysd siss ellandl s . (i (g8 [Qanucu sia Qi)
3. d surl [RaAneuni 215 0dl-SFsuqq Aysd 53 a3 8.

(A) 85d 1 @:si 1243

(C) $5d 1241 2 (D) 1,2x4 3

-

QR Al e “uHp” B HIRAW AlAdAL 206 et el Hal xuléua DA WA su
SUHL 20 8l ?

1. eizeu-l 5, 1960

2. ug AYnL =3 A8 (A, 222 25 dilRarug, 2019

3. ofl. 3. uldon 2i-s 183 (. y[Run 2is SR, 2019

4. uadleR oL ugon =g x84 (4. 22 215 [Breir, 2019

@:: 1 (B) 51,2 91 3

(C) 8542, 321 4 (D)1,2,3u14

zulasAl el @oidl ot i - UL 56 ueald gl g asa o ?
@:ivic D vu orgudl 219 wsa 00 oreid),

(B) Aue-l vu sigHdl.

(C) due-l el sigudl.

(D) uxguld-u »ugal.
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106.

107.

108.

109.

110.

Which of the following statements are correct regarding Indian Ocean Rim Association (IORA)?

1. The vision for IORA originated during a visit by late President Nelson Mandela of South Africa
to India in 1995

2. IORA’s apex body is the Council of Finance Ministers (COM) which meets annually.
3. The United Arab Emirates (UAE) assumed the role of Chair since November 2019
(A)1,2and3 (B) 2 and 3 only

.1 and 3 only (D) 1 and 2 only

The International North South Transport Corridor (INSTC) is an important initiative taken by:

(A) India, China and Russia to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

. India, Russia and Iran to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

(C) India, Iranand Afghanistan to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

(D) None of the above.

Which of the following statements is/are correct regarding legislative powers of the Governor?

1. Governor can reserve Bill for President's consideration when it opposes a Directive Principle
of State Policy

2. Governor can call for joint sitting of both the Houses of State legislature (in case of bicameral
legislature).

3. He nominates 1 Anglo-Indian to the state legislative assembly.

(A) 1 only .1 and 3 only
(C) 1and 2 only (D)1,2and3

In which of the following cases did the Supreme Court of India opine that ‘Preamble’ is not an
integral part of Constitution of India?

1. Berubani Case 1960

2. Pattu Rajan and Ors vs State of Tamil Nadu 2019

3. B.K. Pavitra and Ors Vs Union of India, 2019

4. Satvinder Singh Saluja and Ors vs State of Bihar 2019

.1 only (B) 1,2 and 3 only
(C) 2,3 and 4 only (D)1,2,3and 4

Provisions relating to Election of President can be amended by which of the following methods?
.Special majority of Parliament and ratification by half of the states.

(B) Special Majority of Parliament

(C) Simple Majority of Parliament

(D) Orders of President

[RFP-1] rro. E
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111.

112.

113.

114.

115.

116.

RURAL Ul suotd A WS sy [Q vild 8 ?
(A) 213269¢ 111 S60 Ar2uld A2 vAR s34 [A8usin xuld 20l 8.

(B) 2A429¢ 143 8601 032Ul HS A N8R 1 51l HEIAL UR MR BRAAH “uAIEu-l WAHA 53
s 8.

@ >1-126¢ 73 S5t 02ulAA amy vl A 2ivuami 2udl 8.
(D) BuRisd WA 518 Al

-

cuRdly 2las-l g R sHAL DA suotdid dHHL 221 2gAR sl
1. ATICUR G

2.zl RS AL AL

3. asdl RS uW1R.

4. A, Henad, By x4 Poizusi 2ulzealdziin Qi adlaz -l Aaad .
(A) 1,2, 32 4 @2 123

(C) 3,2, 11 4 (D) 1,4,2¥1 3

QLR RUYA ootd, AL UL sui [Atunl i ¢ ?

1. due AlRRUH d- aeul 214 218H] [AugsHl Ad crvailRa 52 9.
2. -ueudadl -1 Al uam 1951-52 i A sdl.

3. R YA (2020) 15 weuuAll 2271 saHi 2ud) 6.

@: 22113 (B) $5d 2 241 3

(C) 85 1 41 2 (D) $5d. 1241 3

08 GusHl 13-l AMRAA 221 anl 1964 Hi s 2udl edl.
(A) 28R GusHi-l ivaimi atul aqul
(B) dlsucu-l aenuaid 12891
(C) AU HAHRAA 51281
@0 3. Bt A aBmRA cmad sidl

ARA A5[Ad $ 31l v ygilana Aeu Guidal 112 uRd A5 AL U4 sio 2488512 200 €9 ?
@i [adus (B) letaruani v1gertl 1idL
(C) -ueula [d8us (D) BuRisd U4l 51 )

auRd-lL Yzelluad suoid a4 Wh sy / sui [Qauq / (el 0 /i e ?
(A) dui Yoo 2426l sadR 2id 6 e 22l sfaq-l anda a6,
@ il 22el asan 2ual w2 udlsl snd 8.

(C) (A) 21 (B) bid

(D) (A) 211 (B) U4l 415 -l
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111.  Which of the following statements is INCORRECT regarding President of India?
(A) Under Article 111 President gives assent to all Bills passed by Parliament

112.

113.

114.

115.

116.

(B) Under Article 143 President can consult the Supreme Court of India on important public and

legal issues.

. Under Article 73 President is empowered to grant pardons.

(D) None of the above

Arrange the following matters according to their placings in the order of Schedules of Indian

Constitution.

1. Official Languages

2. Forms of Oaths of Elected officials
3. Urban local government

4. Provisions made for Administration of tribal areas in Assam, Meghalaya, Tripura and Mizoram

(A)1,2,3and 4
(©)3,2,1and 4

@: 4 1and3

(D)1,4,2and 3

Which of the following statements are correct regarding the Finance Commission of India?

1. Parliament Act defines the Manner of appointment of its members and Chairperson
2. Finance Commission was first constituted in 1951-52

3. Upto now (2020) Fifteen Finance Commissions have been constituted

.1, 2and 3

(C) 1and 2 only

(B) 2 and 3 only
(D) 1 and 3 only

The Committee on Public Undertakings was set up in 1964

(A) due to increase in the number of public undertakings

(B) on recommendation of Lok Sabha
(C) on recommendation of Rajya Sabha

.on recommendation of V.K. Krishna Menon Committee

Which one of the following gives authority to the Government of India to withdraw money from
the Consolidated Fund of India for meeting expenditure?

.Appropriation Bill

(B) Demand for grants in the Budget
(C) Money Bill

(D) None of the above

Which of the following statements is/are correct regarding the Election Commission of India?

(A) It comprises a Chief Election Commissioner and two deputy Election Commissioners.

.It allots symbols for independents contesting parliamentary elections.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

[RFP-1]
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117.

118.

119.

120.

121.

RURA ASIR HlA[AUM, 1935 Al A1 WA 5§ [l edl ?

1. uididl s10602) A AppUAEA AlucuHi 2udl gdl.

2. Uil 21 Sl [gyull uautald e sami 2udl sdl.

3. HIRAAMLY, 58 AURAHE 2U, 8, 2 AdBLs Yod HalBsRHAl Aaraus saumi 2udl gdl.
4. BAA cudla ual 24 2pansizil - 245 u1Bia cudla Aa-d Aas sdl.
@:s 204 (B) $5d 2, 3 %11 4

(C)s5d 101 4 (D)1,2x3

A%, HiAAES1R 201 ouoid, DA WS sui (Al i o ?
1. 2udo e, adl vetdd Rad you ndla sial suasus 9.

2. uedl adl Aeldd-l 5% tonddl xAual [(Rg =udle saan aosan e =nadla ddls iomi
291 Al QL AAPHA HRAAAL Rl Slal AS .

3. g i uedl AR Al Yed el viaa 70 anl Gu-u A Al Yl SigLuR 4.
(A)1,2%13 @:5i22113
(C)$5d 11 3 (D) $5d 1241 2

D2 WAL 53 / sui (A / [l Griz ydlu ulRng ouoid w2 / i 8 ?

1. Gr ydl Aol Araua 21 qraHsll oid Gr ydlu uRue- ueu 8.

2. dydidR & W2 wels 2uain a0 adls s1d $2 9.

3. yalnR as ol 5 dedl ay AU A AU Al P52 S AU HAAL HUUAUH] 209 8.
(A) $5d 2 (B) $5d 1 ¢ 3

(C) $5d 2 21 3 @:. 213

D2 WAL 56 2240 20U A% Y016 248 ([RUH, 1956 gL saHi 20l ¢dl ?
1. dtidea ulRue

2. AlHis U gL HldRarlg Auis

3. aR[RAd Axul e all xe1dd

@:5 2213 (B) $5c 1 A 2

(C)$5d 11 3 (D) BuRlisd U4 518 1l

BRAAH RUAAAL AAS SR 85HA lotd AL UL sui [Arunl i ¢ ?

1. guld gzt Aelda SiSust cusid vldiedl 2R 2yl GRAH RuaEd HI2 oibsdl 9.

2. GRaAH Al 20T 291 Ui Al vigdls drl A SIS 85HA 86U drl SAUMI UL
siSua Aee-l Yruasl 53 6.

3. UAUSSIRS S5HA 86U AL U BRAAH Al duu xALG0A guld W2 vidrsdl ).

(A) $5d. 1 211 2 (B) $5d 1 ¢ 3

@:s 2w (D) 1,21 3
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117.

118.

119.

120.

121.

Which of the following were the features of Government of India Act 1935 ?
1. The executive authority of provinces was vested in the Governor.
2. Diarchy was abolished in the provinces and the Centre.

3. The size of Legislature was increased and the provision of Universal adult suffrage was
introduced.

4. There was a provision for an all India Federation with British Indian territories and princely
states.

.1, 2 and 4 only (B) 2, 3 and 4 only
(C)1and 4 only (D) 1,2 and 3 only

Which of the following statements are correct regarding State Human Rights Commission?
1. The chairman of the commission must be a retired chief justice of a high court.

2. The members should be a serving or retired judge of High court or a district judge in the state
with a minimum of seven years experience as a district judge

3. The chairperson and members hold office for a term of three years or until they attain the age
of 70 years

(A)1,2and 3 .2 and 3 only (C) 1and 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding the North Eastern Council?

1. Both the Governors and the Chief Ministers of the North Eastern States are the members of the
North Eastern Council.

2. It functions as a regional planning body for the North-Eastern area.

3. Priority is given to projects and schemes which will benefit two or more states of the North-
Eastern area.

(A) 2 only (B) 1 and 3 only
(C) 2and 3 only .1, 2and 3

Which of the following institutions were established by the States Reorganization Act, 1956?
1. Inter-State Council

2. Delimitation of constituencies by the Delimitation Commission

3. High Courts for the newly created states

.2 and 3 only (B) 1 and 2 only

(C) 1and 3 only (D) None of the above

Which of the following statements are correct regarding the Advisory Jurisdiction of the
Supreme Court?

1. It is binding on the Supreme Court to give its opinion on any matter referred to it by the
President.

2. Atleast Five-Judge Bench of the Supreme Court hears any reference made to it under its power
of Advisory Jurisdiction.

3. The opinion given by the Supreme Court on a reference under Advisory Jurisdiction is not
binding on the President.

(A) 1and 2 only (B) 1 and 3 only .2 and 3 only (D)1,2and 3

[RFP-1] [PT.0.
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122.

123.

124,

125.

126.

127.

A1 U4 sUL AR 85 HIA HIRdAL ARIRSIA Buasy ¢ ?

@115 14 S50 s1ueL A UL 85 AW SIUELT UHA 2R

(B) 21329¢ 15 801 4, ald, suld, [0, o~ 218al dHiAL SIEURLAL MEMIA AH-L 85
(C) A429¢ 16 861 SR AUs<Hl tUGAIHE dsll AL 85

(D) BURlsd dxIH

A WA 56 ouotd udi A 6121 saul 2uddl Gameli-l siaa-mi 2uadl a4 ?

(A) A8 211 A%l a3 52+ Alvell 2095l adagll,

@201 082 [Rueimidl AolA siaau .

(C) MIRd-l 2As[3d §3uigdl A%UA A5 AFELL UUAL AU S5 G121 AU RHidl.
(D) 020 g la -l [Rani sguldat dad [Ganeu w2 Hisddl oo sidunt sueid.

5§ ol gralAlmi auudd curd- AlAaA, oiHIREL AHL 1AL g1R1L L. 214 y2usl, 1950 -
A% SALAR $AUHL AUAEA Sl ?

(A) Y3l (B) [&-€l
@-isiw 211 3 v (D) Busd Wl 1S 1l
MURAHE AU UA dZlS HIaAL Honaa Wi ual 21l 42ellHi im0 «......... Hoda sia S,

(A) AR 5 a9l ay ARUAHE 10% HLA Hell
(B) AR 5 ddl ay A%AHI 4% HIU Hdll
(C) 6l A%AHI 15% HI~Y Hdll
@GuRisa iQ 56

A0 UL 5y / sui Qe / (sl 2 / i ¢ ?
(A) N8R sAL 21 i) M 2818 HI2 2[B512u2691 (51 dlr2l) s vior % AlSaguoll ukn 6.

(B) UL HeLd vac AR [2oy-a d- 2lE5285- Guaidl sau-l - wid QR adl AAe1dd d- Al
Guala sat-l $29 uLsal Mg 2l A €.

@ ») > (B) vin
(D) (A) 211 (B) U4l 51 1l

D2l WA 53 / sui (A / Qa2 /i 9 ?

(A) 3B Al g1 dami 2udan [Retaidl ailan {-lldsn 530 asal 4.

@-isnl uflavi an-Reue-u Rsidl 23 2R5025 WARMA 60 U2 2uaRd 8.
(C) (A) 21 (B) bid

(D) (A) 211 (B) U4l 415 -l
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122.

123.

124.

125.

126.

127.

Which of the following fundamental rights is available to the citizens of India only?
. Right to equality before law or the equal protection of the law under Article 14

(B) Right against discrimination on grounds only of religion, race, caste, sex, place of birth or any
of them under Article 15

(C) Right to equality of opportunity in matters of public employment under Article 16
(D) All of the above

Which of the following matters does not come under the purview of recommendations made by
the Finance Commission?

(A) The distribution of net proceeds of taxes between the Union and States.
. Funds to be allocated to States from the Public Account of India.

(C) The principles to be followed by the Centre while giving grants-in-aid to the States out of the
Consolidated Fund of India.

(D) Any other matter referred to the commission by the President in the interest of sound finance.

Constitution of Indiawritten in which language script was signed by the members of the Constituent
Assembly on 21st January 19507?

(A) English (B) Hindi
.Both English and Hindi (D) None of the above
To be recognized as National Party in India, a party must have secured at least in the

previous election.

(A) 10 per cent of valid votes in four or more states
(B) 4 per cent of valid votes in four or more states
(C) 15 per cent of valid votes in two states

. None of the above

Which of the following statements is/are correct?

(A) Quowarranto is a very powerful instrument for safeguarding against the usurpation of public
offices.

(B) A High Court can issue a mandamus to compel a court or judicial tribunal to exercise its
Jurisdiction when it has refused to exercise it.

@ Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct?
(A) The Cabinet cannot review the decisions taken by the Cabinet Committees.

.The Cabinet Committees are based on the principles of division of labour and effective
delegation

(C) Both (A) and (B)
(D) Neither (A) nor (B)

[RFP-1] rro. EJ
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128.

129.

130.

131.

132.

D2 WA 53 / sui (e / Qa2 /a0 9 ?

(A) ABUAIHE [Q12801 S0, AlSAMA YAIR 54 A S1A dg [A8us dlsuneud (A adi 2¢ 2.
(B) dueHi [Aaeu Ss0 S1u d [A8us il At nHltan s120l € 2al.

(C) (A) 21 (B) bid

@~ 211 (B) WA 416 4l

A0 U 5y / sui Qe / (sl 2 / i ¢ ?
(A) UUE SIUEL GIRAL A5 AU APAUA A4 SgAd Uea-i adlazelR dls [Aysd s3 as o,

Y =\

@~ 55 20 Az e vl utad adlazer ddld Rysd srami 2ud, di di
adlazelR ddls-u sl dn-u HARkisnel 2ad- Ad Guala s

(C) (A) 21 (B) tid
(D) (A) 211 (B) U4l 518 1l

A8 Al A AL A6 iotd, A1 UL sui (Al i ¢ ?

1. ue ddls yt:lRmgs e sikaus awua 9.

2. QR USIR AL 51 AU ARSI S50 3=y, SISURL A3 W2 wist Avudl AL,
3. Apuwarl B4 ARG S1A30 sirdl AU,

(A)1,2x43 (B) $5d 2 241 3

(C) 854 11 3 @5 1012

MURAAL [R5 werdv uas sustd A U4 sui [Qss i ¢ ?

1. [Rd=s uidvn udlas guldn s [Buer-duusll A8l 9 52 8, 2ed 3, [AlRaia [Buen
{3l [Buot-dwuell xdaid, Aew (Rt U+l ASaid 24 28 GUsHL UL vSAd.,

2. Aarl gl AU [Ru6ll a4y deeinl 2uldd [R=s Heidv udlas uas 2ul 9.

3. [Raas wsidvn udas aoaqi [Baell el [Bue-dwusll A8adl ¢id- anguldd 29 52 6,
ARGIE AU[A d AFAWAA HIsE 6.

(A) 1,243 (B) $5d 2 21 3
@512 (D) §5d 1444 3

%y, Wel 000 Huel AulRs ail custd DA W4 sui [as- ol ¢ ?

1. 2uR o vada ay A%l [Qanaen sua uaR s34 dued [Q-dl 52 iR due awa wel u2
SIAELAL oiritaal 2A[85d €9,

2. VUl SIUEL S5 o A%AUIA % AL UL FHEL 5L UAR 5UL 8.

3. oA SISURL A% 20UB ti-UdAEl UM SIUEL 2AUUAAL HIdLG 1A dl, AU 5l 20 vRSL uAR
sl %32 9.

(A) 1,243 (B) $5d 2 ¢ 3
(C)$54 14 3 @:s a2
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128.

129.

130.

131.

132.

Which of the following statements is/are correct?

(A) ABIll pending in the Rajya Sabha which has not been passed by the Lok Sabha shall lapse on
dissolution of the Lok Sabha.

(B) ABIll pending in Parliament shall lapse by reason of the prorogation of the Houses.
(C) Both (A) and (B)
. Neither (A) nor (B)

Which of the following statements is/are correct?

(A) The Parliament by law may appoint the Governor of a State as the Administrator of an
adjoining Union territory.

. If a Governor of a State is appointed to act as an Administrator of an adjoining Union

territory, he shall exercise his functions as such Administrator independently of his Council
of Ministers.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding the member of the Union Public Service
Commission?

1. The member is debarred from reappointment as a member

2. Ineligible for any other employment under the Central or State Government
3. Disqualified from becoming a constitutional functionary like a Governor
(A)1,2and3 (B) 2 and 3 only

(C) 1 and 3 only @ and 2 only

Which of the following statements are correct regarding Comptroller Auditor General (CAG)
of India?

1. CAG submits three audit reports to the President, i.e Audit report on appropriation accounts,
report on finance accounts and report on public undertakings.

2. CAG advises the President with regard to prescription of the form in which the accounts of the
Centre and states shall be kept.

3. CAG submits its audit reports relating to the accounts of the state to President of India, then
President passes them to the Governors.

(A)1,2and 3 (B) 2 and 3 only
.1 and 2 only (D) 1 and 3 only

Which of the following statements are correct regarding the legislative powers of the Parliament
on state list?

1. Parliament is authorized to make laws on state list when two are more state legislatures pass
resolution and request the Parliament.

2. Such law is applicable to only those states which have passed the resolution.

3. Parliament needs to pass the Bill again, if any state wants to adopt the same law made earlier.
(A)1,2and 3 (B) 2 and 3 only

(C)1and 3 only .1 and 2 only

[RFP-1] rro. 8
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133.

134.

135.

136.

137.

2w cudlu Al 200 D2-u U4 sui [Qanl i o ?
1. v cudly A ud diesilas R S wa 6 24 vilax R aeud wa 8.

2. 1950 Hi (uRcdld Hedl A MiRdl adladl A 211 audla uidla cudla uidla Aami seaami
244,

3. UUE APU UM 514U AR Ad] 2B1E tudl Al Gell sa g €.
(A)1,2%13 @:5i22113
(C)$5d 11 3 (D) $5d 1 11 2

AR 52158 AoiAa DA WA 53 / sui Qe / Qe 2] /0l 8 ?

(A) AU 52153 alngu uHA 2R QLU 8, d Bl S2aLs MRIHE Ay A Asdl -l
(B) xdlu s2isdl-l aluend sigui ussizl asidl 9.

(C) (A) 21 (B) i

@~ >4 (B) WA 416 )

210u(8d [(AusEsR (Absolute veto) eilad 1A Ul 53 / sui [Qaun / [l 0 / i 6 ?
(A) Wguld viisol Aeu-L [Q8us Aecini 20 RS- Guaiol 530 a3 8.

(B) uxguld »u [Aumlasi-l Guaial A1 [A8usiml url 530 a5 € g HaAlHN ADY 20l ©
([A8us w2 2uL ugl) 2 g H-llHsn nguldn Adis 20U 6 5 d2il 20 usi-u [Q8usl ur Al
L 24,

@~ 211 (B) vid
(D) (A) 211 (B) U4l 415 -l

RuRarL Guarnguld-l 242ell el Al WS sui (el i o ?
1. eRd-i Guarguld-l eellui Aue-u Y2rdan vin unliysd vid 10dl aur ad as o,
2. cuRarL Guangula-l f2eflui Hist AUl oin ASinL i Al UL ¢l A A3 9.

3. APUAMI d Avid-l dHIH AU sigHA uAR 2AAL Udld 244 dlsue 2uddl duld g
Guarzuldn sigL udl g2 53 asal.

@: 2213 (B) $512 411 3
(C) 554121 3 (D) 55 1 21 2

[Qaznni slad AeAUE AviaL 2450 AL UH 54 / sui [ / [l 00 / i 6 ?

1. ol 518 ulsd e oin Al 2 Y21 20d dl dl 10 [Bau-l »ie2 d su1 AeHi Adl 2ual 1idl &
d-ll 2w s2cu-l 28 €.

2. A vuusiRl N scumi Alsa Y4 o di, disucuHi d-l siss vucl 4 onu .

3. % 518 s -l ueu uaL ol 918 W 21 2d 8, di ollon 28Ul d-l tiss vucl ud .

(A) 1,243 (B) $5d 2 ¢ 3

@:: 1 (D) 554 1247, 2
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133.

134.

135.

136.

137.

Which of the following statements are correct regarding All India Services?

1. The immediate control on the All India Services lies with the Centre and the ultimate control
lies with the states

2. In 1950 Indian Civil Service was replaced by the Indian Administrative Service and Indian
Police was replaced by the Indian Police Service

3. The Parliament is authorized to create new All India Services on the basis of Rajya Sabha’s
resolution.

(A)1,2and3 .2 and 3 only
(C)1and 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding national emergency?

(A) The proclamation of national emergency applicable to the entire country, cannot apply it to
some parts of the country.

(B) Proclamation of national emergency cannot be challenged in court.
(C) Both (A) and (B)
. Neither (A) nor (B)

Which of the following statements is/are correct regarding the Absolute veto?
(A) The President can exercise this veto with respect to the private member’s Bill

(B) President can also use this veto in government Bills when the cabinet resigns (after passing a
Bill) and the new cabinet advises the President not to give his assent to such Bills.

@ ot (») and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding the election of Vice President of India?

1. Intheelection of Vice President of India, both elected and nominated members of the Parliament
can participate.

2. Intheelection of Vice President of India only elected members of the both Houses of Parliament
can participate.

3. The Vice President can be removed by a resolution passed by a majority of all the then members
of Rajya Sabha and agreed to by the Lok Sabha.

.1, 2and 3 (B) 2 and 3 only
(C) Land 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding Double membership in the legislatures?

1. If a person is elected to both the Houses of Parliament, he must intimate within 10 days in
which House he desires to serve.

2. If the person defaults of such intimation, his seat in the Lok Sabha becomes vacant.

3. If asitting member of one House is also elected to the other House, his seat in the second House
becomes vacant.

(A)1,2and3 (B) 2 and 3 only
.1 only (D) 1 and 2 only

[RFP-1] rro. 53
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138.

139.

140.

141.

142.

Daumidl 58 A2l wlou dd AR & ?

1. dRilsd us — AWBLE gt — Ys us-l vigusl as &

2. NARIBA Uz — AMd g — 518 Y5 ussl 1l

3. 28 Y us — A [Baudl 2l Al 2udld yeor — Albid, geust
(A) 1,251 3 @512

(C) $5d.2 211 3 (D) $5d. 1241 3

DAl 56 oAl uiou Ad Al € ?

1. -uudla [Q8as — 75 Rau-ll »ig s1ugl s2al ASH

2. (B vdia — d 2 wiom yeixil anar W2 2l 2ud 9,

3. MR APE — FUR AlssU Al WS AAE g1 (Ao AR 285 2541 2uvHT 20d 8.
(A) 1,243 (B) $5d 2 21 3

(C) 554 14 3 @:si1242

A2A-uniell 56 Al [Alas st AsAUAIAL v Al 18 210y Ad Asiadl © ?

-\

1. M — 2uleonld [QraRinl adlaz

-

2. YR — uddlu [QzdRil adlaz
3. ARUARS — AFUHIL SIUEL 2 UARAL A2l
@ 213 (B) 51 2 %11 3

(C) $5d 1 41 2 (D) $5d. 1241 3

cuRdla qilRUEA uotd DA-uwidl sy / sai Qi / [Qal wig /viei o ?
1. A% SISURL A A% ATUUR 44 A5 Hadl 2uug el

2. AU AWM 4H U d2 8,

3. RABU AHIH 4HA WeAlls 20U 8,

4. % 4HA WAL 20U Al 249 4HA ALl vl suoid WA 9,
(A)1,2,3%14 (B) $5d 2, 3 ¢ 4

(C) 854 1,224 3 @4

AR5t {00 ANA WA 53 / sui (A / [l ) /a0 8 ?

1. wlZeun z1aa sidate L RS (urd-l [Aeell waRsdl e 2122 a1 w= ¢,
2. ciRarll (22l ol sdid 518 4r1amUR cudul [Rasd wiel as ©.

3. MR- Azl waulRst [Qon (A war ¢urasl yeustd At 8seR 8.

(A) $5d 1 (B) $5c 1 1.2

@:s 2w (D) 1,21 3
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138. Which of the following pairs are correctly matched?
1. Starred Question - Oral Answer - Supplementary Questions can follow
2. Unstarred Questions - Written Answer - No Supplementary Questions
3. Short Notice Question - asked by giving a notice less than 7 days - Written answer
(A)1,2and 3 .1 and 2 only
(C) 2and 3 only (D) 1 and 3 only

139. Which of the following pairs are correctly matched?
1. Financial Bill - Must be enacted within 75 days
2. Vote of Credit - it is granted for meeting an unexpected demand

3. Additional grant - granted when the amount authorized by the Parliament through the -
appropriation Act for particular service.

(A)1,2and3 (B) 2 and 3 only
(C)1and 3 only .l and 2 only

140. Which of the following pairs are correctly matched regarding the special powers of Governors of
various states?

1. Assam — Administration of Tribal areas

2. Manipur — Administration of Hilly areas

3. Nagaland - respect to Law and Order in the State

.1, 2and 3 (B) 2 and 3 only
(C)1and 2 only (D) 1 and 3 only

141. Which of the following statements is/are INCORRECT regarding Indian Secularism?
1. State does not recognize any religion as official religion of the state.
2. State is neutral towards all the religions.
3. State engages in promotion of all the religions
4. State does not recognise religion and considers religion only a private matter of people.
(A)1,2,3and 4 (B) 2, 3and 4 only
(C)1,2and 3 only .4 only

142. Which of the following statements is/are correct regarding Citizenship?
1. Citizens of Pakistan or Bangladesh are eligible to apply for Overseas Citizenship of India.
2. An Overseas Citizen of India (OCI) cardholder can buy property in India.
3. Overseas Citizens of India (OCI) are entitled to visit India even without visa.
(A) Lonly (B) 1 and 2 only
.2 and 3 only (D)1,2and 3

[RFP-1] rro. B3
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143.

144,

145.

146.

147.

gL 85 860 A WA sui adllga sl 2uda € (42698 25-28) ?
1. 8L 202 HeMa U Uldoiy.

2id: 50l AL 247 Yo Ad 4H HiAal

3. agulaxi-l gl @

4. wilRs qe-) suoidid A2aq sa-) AadstdL.

(A)1,2,3%14 (B) 55 1, 2 ¢ 4
@522 4 (D) 554 2, 31 4

N

D2l WA 53y / sul (A / Qa2 /i 8 ?
(A) HAGA 5% s1AeAUR Id Q9L 5 WIS d 5% A1 AeilAd s1uE1 uAR 530 wstdl 9.

@ 2501 unouou eun iR sraumi udar 421 YRl AARAUH R YN/ 539 2iuLw
Qi wulde sami 2udl edl.

(C) (A) 21 (B) tid
(D) (A) 211 (B) U4l 518 1l

RURA A1 AL WS su1 [Qeuet SIS Hanau Ssu -l ?
1. RASIA 2 N8R AEAMA A4 [Aeuat

2. vidRa [Qeua

3. 2iuy 08 [Qeudt

4. g G [Acua

(A) $5d. 1 211 2 (B) $5d. 1,2 %1 3
@524 (D) 1,2 32 4
MR Al ¥4 .......... a5 69,

1. Qs siadlui o ad

2. AU AR 1 o1l

3. ApAAHIHL sl

4. ABUUMIHL Ha 2]

(A) $5d 1 211 4 (B) $5d 2 21 3
@51 2013 (D) $5d 1 1 3

Rl 2ell2l ouoid DA WA sy / sui (A / Qe 02 /i 8 ?
(A) e 21 A% [Qaaeurdl 2zell e £35 we s Haldedir W Hist 6l HdglR Al €.

@ <15ua ulsa wa, (@, suld 2iaa o adid-u R SSURL HAZIR AsL W2+l WA HdAER WlHi
AW sa- €lall 53 sl el

(C) (A) 211 (B) vid
(D) (A) 21 (B) U4 518 el
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143. Which of the following are classified under the Right to Freedom of Religion (Art. 25-28)?
1. Prohibition of discrimination on grounds of religion.
2. Freedom of conscience and profession of religion.
3. Protection of culture of minorities.
4. Freedom to manage affairs of religious institution.
(A)1,2,3and 4 (B) 1, 2 and 4 only
.2 and 4 only (D) 2,3 and 4 only

144. Which of the following statements is/are correct?
(A) Law cannot be passed related to any fundamental duty to make that duty legally enforceable.

@ Fundamental duties were incorporated into our Constitution by 4274 Amendment Act passed -
during the period of emergency.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

145. Which of the following departments of the Government of India are not under any Ministry?
1. Department of Investment and Public Asset Management
2. Department of Space
3. Department of Pharmaceuticals
4. Department of Atomic Energy
(A) 1and 2 only (B) 1, 2 and 3 only
.2 and 4 only (D)1,2,3and 4

146. Attorney General of India can
1. Take part in the proceedings of the Rajya Sabha
2. Be a member of a committee of the Rajya Sabha
3. Speak in the Rajya Sabha
4. Vote in the Rajya Sabha
(A) 1and 4 only (B) 2and 3 only
.1, 2 and 3 only (D) 1 and 3 only

147. Which of the following statements is/are correct regarding Elections in India?

(A) There are only two electoral rolls for every territorial constituency for election to the
Parliament and the state legislatures.

. No person can claim to be included in any special electoral roll for any constituency on grounds
of religion, sex, caste or race etc.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

[RFP-1] [PT.0.
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148.

149.

150.

151.

152.

153.

A2 WA sui Qa0 o ?

1. due 1963Hi A xAB[Aun .

2. sl ¢uo-17 e 08 doilBda 9.
3.

Aopurl [Qamuen [Q8us, ERUHL 2R azgsHl W2 siSuR e (2isie Ria) Gualosl ous
531 25 69, uig Al i MM A4AE UsUAd sa-L $.

@ 213 (B) $51 2 %11 3
(C) 85 1 41 2 (D) $5d. 1241 3

A0 U 5y / sui Qe / [Qan-l vl /wizi & ?

(A) 20031t 89w oitnella YuRl xAAARUH 2R Ald 241 2R F2Ald WS- Y5 Al
AU, 6 AADL HA2L AN [Qud 53,

@ 112120 Alavil w2 2ia0 sdla 2o av 2006 i AR QHT 20l

(C) (A) 211 (B) tid

(D) (A) 211 (B) U4l 51 1l

(At uRuel-u suoid A1 UL 5y / sui [Qeun / [l 2 / i ¢ ?

(A) [ uRue ueie a1 HI2 2iaan 2 W d AUl [ el stgHdldl d Hdaotl sua 52,
dl e [Qan ulRue Aoge s3 a5 9 5 d-dl - sd as .

(B) 213269¢ 368 ol Aue (A uRnel 2271 / uege sl Aru Hond €9,
(C) (A) 211 (B) tinl
@ ») 211 (B) W4 46 14

N 0 1 3| 4 5
(QenellAi-) v 3 2 X 1

oA GuHl WSl trg s 4 Sld dl x  agnH Yeu s2¢ asu aal ?

(A)5 @:

(C)7 (D) BuRisd U4l 51 ]

[Asurt [nadl 2is 222ui s2aus [Qensdlziial Hoda a2 ustsui 2 69,
2
3

wn

Y Y Y

N AAAS, X, X, Lo, X L HRLS 6. X % X, A HEA ¢ QWA U dl Adl HeuS s2el 4 ?

11 Ry aeee n

(A)X—x +c ()= h*C
n

©) (n—l))?—xl+c .M

n
0.007749 yglaol e d W d-uHidl agdu 56 Avul oue s Ul ?
(A) 0.000009 @)o.oo0005
(C) 0.000004 (D) 0.000001
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148.

149.

150.

151.

152.

153.

Which of the following statements are correct?
1. The Parliament enacted the Official Languages Act in 1963.
2. Part XVII of the Constitution deals with official language.

3. State legislatures can prescribe the use of any language (other than English) with respect to
Bills, Acts and Ordinances but the translation of the same in English language is to be published.

.1, 2and 3 (B) 2 and 3 only
(C) 1and 2 only (D) 1 and 3 only

Which of the following statements is/are INCORRECT?

(A) 89th Constitutional Amendment Act of 2003 bifurcated the combined National Commission
for SCs and STs into two separate bodies.

. The separate National Commission for SCs came into existence in 2006.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding Legislative Councils?

(A) Parliament can abolish or create a Legislative Council if the concerned Legislative Assembly
passes a resolution to that effect with simple majority.

(B) Parliament derives its power to create/abolish a Legislative Council from Article 368.
(C) Both (A) and (B)
. Neither (A) nor (B)

The marks scored by some students for a question in the Science test are shown in the table given
below.

Marks 0 1 2 3 4 5
Number of Students 3 2 3 5 X 1

If the mode of above data is 4, then what is the smallest possible value of x?

(A)5 @:
<7 (D) None of the above
The mean of n observations, x,, X, ,..., X_, is X. If x_ is replaced by c, then the new mean is
(AT -x +c (B) T —H*re
n
© (n—l))?—x1+c .m
n

What is the least number which should be subtracted from 0.007749 to make it a perfect square?
(A) 0.000009 @)o.000005
(C) 0.000004 (D) 0.000001

rro. B3
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154.

155.

156.

157.

158.

159.

160.

-\

Vi AL 7 393 tLSAAL SR UR s 1242 AUIRL s 3 HEd HOA 8. dl 24 d- Seeu 251 [3:516-2
UYL GRAAR 8 ?

(A) 10% @:25%

(C) 13.3% (D) BuRisd U4l i 1l

13 A4, 14 AL 241 15 Al cuggi-i Busian assn 524 a9l ?
@:: 2 A (B) 28 Al Al
(C) 42 i AH) (D) BuRlisd U4 418 1l

-

s uHony Agssivrit [Asel Al doud 24 Al 21 10 AL iy, dl d-u A 214 uRE[AAL dpRinR
sedl 2l ?

(A)12:5 B)12:7

(C)13:5 @Guisa W4 66

(A2 157-160) Al :uldcdl-l 2114 530 UL FUG UM :

-\

S, P, R, K 21 G ol uin caul3dil 8. d U4l & sise: 8, ud eudl-u 29 AlRuR, 2ulE2se 2
S BsBrar2 9. 3is2 A WSS WsIBre2 €35 WA AL 512 S5 9. oudlu A oou waA R,
Ry 247 AL 2H AR $12 69, 20 ui™ WSl 6L HASH E 8, R cusl-u AR el Ad2- [2¢d), yal
21 el 8 9, AZS A5G-~z Al Gl 9, ruR S22 siser Al Al 9. oo sis2r il
Qe €9 % Gl yoror AlPRUR 2§14 2S AUsBrarell a2 2ud 8. K 2tivii-l W Rrldize ©
i ddl wid S 89, R G [Bedlui 28 8 2 d-ll wiAd d-u 8. 2[F[RuR il 8 8 x4 d-l wA
(R ©. P Ao 28 8, PR S HHSHI 28 € 21 d S 8.

P Al caqaiy 5L 69 ?
@-u2¢ visBre2 (B) $is22
(C) wl=[Rur (D) 2A518ve~2

RWA 58 5129 ?

(A) SFs51 A
56 @2
(C) R (D) A+

i uiaHL Al Gl sieL e ?
(A)R (B)S
@- (D) GuRlsd Wl SIS Al

yeiui o8 6 ?
(A)S B)P

C)K D) R
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154.

155.

156.

157.

158.

159.

160.

On an order of 7 dozen boxes of an item, a retailer receives an extra dozen free. This is equivalent
to allowing him how much discount?

(A) 10% @:25%
(C) 13.3% (D) None of the above

Area of a triangle with sides 13 cm, 14 cm and 15 cm is?
@::cm (B) 28 cm?
(C) 42 cm? (D) None of the above

If the diagonal of a rhombus are 24 cm and 10 cm, then ratio of area and perimeter of that
rhombusiis...

(A)12:5 (B)12:7
(C)13:5 .None of the above

(Directions- 157-160.) Answer the questions on the basis of the following information:

There are five persons S, P, R, K and G. Two of them are Doctors, while other three are Engineer,
Architect and Chartered Accountant. A doctor and the Chartered Accountant each own same car
Indica. The other three own different cars viz. City, Ciaz and Verna. Two of the five persons stay in
Mumbai, while the other three persons live in three different cities viz. Delhi, Pune and Bangalore.
The Chartered Accountant is the tallest, while the doctor who is an ENT is the shortest. The other
doctor is an eye specialist and lies between the Engineer and Chartered Accountant height wise.
K is an eye specialist and owns Indica while G lives in Delhi and owns a Verna. The engineer lives
in Pune and owns a City. P lives in Bangalore, while S lives in Mumbai and is an ENT.

What is P by profession?
.Chartered Accountant (B) Doctor
(C) Engineer (D) Accountant

R owns which car?

(A) Indica @civy
(C) Ciaz (D) Verna

Who is the tallest among these five?
(AR (B)S
.P (D) None of the above

Who lives in Pune?
(A)S (B)P

C)K D) R
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161.

162.

163.

164.

165.

166.

167.

168.

169.

oA 61 AvA2AAL AAI 189 1A A dHAL I ALV 2 AL 254 21 211420 8. dl d WAL -l
21 HIEL Al ARl 24l agl ?

(A)3:5 @: s

(C)7:10 (D) BuRlsd U4 518 1l
2 UL st aulf SAx32 4 Al 1990+, 5A=32 A 697

(A) 1995 @096

(C) 1997 (D) 2001

A 2l ugud (7) 4 e 58 v 20a8?
649.6875, 433.125, 173.25, 495, (?)

@ (B) 11.125
(C) 115 (D) BuRisd U4l 51 1l

P, Q, R 21 S 423 31. 8,400 Al {ld agAHi 1d 8 5 P 311 Q, Q ¥l R dHY R 11 S -l ¢d1 2:3,
4:5 21 6:7 UL 9RUTRHAL O, dl P -l [32x4l..

(A) 3L. 1,640 (B) 31. 1,420

@:. 1,250 (D) GuRlsd WSl 51 Al

~\ N

5 slRS2UL S2Als S0, 4 A i 5 dlal 3oL 31 69, %A s €31 489 Ad dani 2ud dl dlan -
g3l Ud d-ll Acuanl 1/3 69, dl suseHl s £31L s2aL 89 ?
(A)3 (B) 4

(€)5 @

215 A0HE 15 YL 217 10 A4 €9, oAl 22269 {1l AR BHEARL UE $AUHE 2019 el 1 250 247 2 yul 2ud
all 2icua-u sedl ?

(A) 20/33 @:./46

(C) 24/49 (D) BuRisd U4l 51 )

£9 £915RAXA A Ui 915121 E51HT Hs SIRHUL BLAL 8. A2l RISl Blaut 81U d-l icua-u s2d) ?
(A) 2/121 (B) 1/231

@462 (D) BuRisa WA SIS Al

ol 2[AMIFU AVABAL X 2Ly (X > y) Al QAL 161 6. dl x — 3y o yeu S2¢ a9l ?

é@: (B) =2

(C)3 (D) BuRisd U4 518 ]
AR (Al M, N 241 P 923 31, 1,391 Al Ald adaucuui 204 €9 5 M 3 HOdd 2541 5 218U 42161 N 2

HOAA EHL 6 QLR GIRAGR P 2, HNAE 5HAL 7 20 9. dl N 2 s2dl 251 Had) 83l ?

(A) 390 @5
(C) 546 (D) BuRisd U4l i -l
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161.

162.

163.

164.

165.

166.

167.

168.

169.

If the sum of two numbers is 189 and the highest common factor (HCF) and lowest common factor
(LCM) are 21 and 420 respectively, then what is the ratio of small and large numbers among
them?

(A)3:5 @: s

(©7:10 (D) None of the above

Which of the following year will have the same calendar as that of the year 1990?
(A) 1995 @096

(C) 1997 (D) 2001

What should come at the place of question mark (?) in the following number series?
649.6875, 433.125, 173.25, 49.5, (?)

@ (B) 11.125
(C) 115 (D) None of the above

Rs. 8,400 are divided among P, Q, R and S in such a way that the shares of Pand Q, Q and R as
well as R and S are in the ratios of 2:3, 4:5 and 6:7 respectively. The share of P is....

(A) Rs. 1,640 (B) Rs. 1,420
.Rs. 1,280 (D) None of the above

A basket contains some black, 4 red and 5 green colour balls. If one ball is taken randomly, the
probability of getting a green colour ball is 1/3. What is the no. of black balls in the basket ?

(A)3 (B) 4
©)5 @

There are 15 males and 10 females in a class. If three candidates are selected at random, what is
the probability that 1 female and 2 males are selected?

(A) 20/33 @246
(C) 24/49 (D) None of the above

Six boys and five girls stand in queue in a shop. The probability that they stand in alternate
positions is:

(A) 2/121 (B) 1/231

.1/462 (D) None of the above

If L.C.M. of two prime numbers x and y (x >y) is 161. The value of x — 3y is ?

@: (B) -2

©3 (D) None of the above

Rs. 1,391 are divided among three friends M, N and P in such a way that 5 times of amount received
by M is equal to 6 times of amount received by N and is equal to 7 times of amount received by P.
How much amount will N receive?

(A) 390 @+
(C) 546 (D) None of the above
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170.

171.

172.

173.

174.

175.

176.

5 uauni 70% (Qenellaal aulBani wia 2 244 80% A (QenHi, w12 10% i [Anaui A aul.
oA 144 [QenellAl oiq [Anani wa 2, di ga [Qendl2 seen sl ?

@:«0 (B) 252
(C) 264 (D) BuRisd U4 518 1l

P, Q 211 R+l g1ct-ll GHR-l ucuol 108 a8, 12 avl ug el du-{l GH-l 9RiaR 1:3:5 Sl dl »uel 12
ar ugdl ARl GuRL dRilr S2dl 8ol ?

(A) 2:4:5 (B) 3:4:5

(C) 3:5:6 @Guisa A a6 d

10 61 visll Avuiiql 13209 ARl 2ud €. ARNAL] R UAYSsAL A5 AvuAL 2isl Gzl A ©
i U319 2.7 B2l 82 69, o BA21AA AvALAL BisiHL AAU 11 SiA, dl Yo AL 58 8a?

(A) 65 @ (C) 83 (D) 92

25 gsIelR ol al3uvll uls 31 308 Ui dA 8. s GUR d 1296 15l i ol uR d 1296 vil2 Had 8.
AU AAGIRUL Al 151 2HAU vil2..

A 1.
(A) U8 51 A& st @ ooic
11 N 3 N
(C) 155 % 18l (D) 35 % vile
31 1,600 L 254 10% asql®y iy, @u% 6 WA oRua di, S2en asHi 31. 1,944.81 19l ?
@: i (B) 2.5
(C)3ay (D) BuRisd U4l i )

{12 U sul [Aseu v AR s2dl el U3 8 ?
(A) 2412 : [Agd uae (B) A% : e
@ Saiisllez : Roual (D) 2Rifl2R : dgua

25 uldd 15 50 Hl22 B adousiz axdl 524 12 BsasD 530 €13 8. dl 15 6+ Y21 s2a1 49l
UAR S2Al UHY AL ?

(A) 21 B2 @ e
(C) 32 M2 (D) 36 M2

((Rgo: 177 4l 180 W2) : €35 AHL 215 U2 21 6L [Atunl (1) 244 (1) 2ucumi 2 89, dHiR 2 [Aely
sl 9, 3 [Asn-inl 2uuand udd HUS L 2udar UsL-l Faiet AU Ydld 8 5 $H. ARl Faus A
YL UL,

(A) [Atnr (1) 2is¢ 2UUAL UL BB HYAL AR 6.

(B) (At (11) 254, 2uten Usi-l Sust 2uua vl 6.

(C) [Qann (1) 2 [Qsne (1) Gid 2UUAL UL FAUGL AL 2UAAS 6,

(D) [ (1) 2 [Qanet (1) 6iA 012 weL 2001 usil ot 2l vaitd 9.
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170.

171.

172.

173.

174.

175.

176.

In an examination 70% students passed in mathematics and 80% in social studies, while 10%
failed in both the subjects. If 144 students passed in both the subjects, the total number of
students was?

@:-0 (B) 252
(C) 264 (D) None of the above

The sum of the present age of P, Q and R is 108 years. 12 years ago their ages were in the ratio of
1:3:5. What is the ratio of their respective ages after 12 years from now?

(A) 2:4:5 (B) 3:4:5
(C) 3:5:6 .None of the above

The average of 10 two-digit numbers is calculated. While calculating the average one number
was mistakenly reversed and the average got reduced by 2.7. If the sum of the digits of reversed
number is 11, what is the original number?

(A) 65 @
(C) 83 (D) 92

A shopkeeper sells two watches at Rs 308 each. On one he gets 12% profit and on other 12% loss.
In entire transaction his profit or loss was..

(A) No profit no loss .1% % loss
11 . 3
©1 55 % profit (D)3 > % loss

In how many years will a sum Rs. 1,600 at 10% compound interest, compounded half-yearly,
become Rs. 1,944.81?

.2 years (B) 2.5 years
(C) 3 years (D) None of the above

Which of the following option is different from other three?
(A) Ammeter : Current (B) Balance : Mass
.Hygrometer - Viscosity (D) Taseometer : Strain

Aman runs around a circular field of radius 50 m at a speed of 12 km/hr. What is the approximate
time taken by him to complete 15 rounds?

(A) 21 minutes .24 minutes
(C) 32 minutes (D) 36 minutes

(Directions for 177 to 180) : Each question has a problem and two statements (I) and (1) . You
have to decide, if the information given in the statements is sufficient to answer the question.
Indicate your answer as

(A) If statement (1) alone is sufficient to answer the question.

(B) If statement (I1) alone is sufficient to answer the question.

(C) If statements (1) and (11) both together are needed to answer the question.

(D) If statements (1) and (I1) both even taken together are not sufficient to answer the question.

[RFP-1] rro. B3
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177.

178.

179.

180.

181.

=

A a 21 b yaus Avavil Sl di (a + b) ?
() 8<ax<11
(1) 7<b<10

(A) [Qtnr (1) 2is¢ 2UUAL UL FUBL BUUAL AR 6.

(B) [Atunt (11) 24, 2uuL aidl oaien 2uudL vaid 9.

(C) [atn (1) 2 [Qaun, (11) 6id 2UUAL UL AL 2IUAL 2ALUS 69,
@it (1) 203 R (1) 6iA 208 R 20l us-l st iU vaid -9l

6l 21522 g1 wis [Bauui S2a uail 215u qa ?

(1) S50 2is [Badui 8 ses Sl 69,

(11) 4 21522 3 [2aumi 900 uAll 21y 53 €9,

(A) [t (1) 2is¢ 2U0AL UL BBt HYAL AR 6.

@< (1) 2isg 2udan unHl e uua vaid 8,

(C) [atun (1) 2 [Qaun (11) 6id 2UUAL UL AL U 21ALUS 69,

(D) [ (1) 2 [Qsne (1) oi 012 weL 20 Usi-l et 24Ul Yaid -9l

Al il Gu seddl ¢ ?

(1) Anardl sradl Gu sl siarll BHR sl 528l €.

(11) 3aél 2uadL Q¥ d-l 741 o~ [2au Goadl.

(A) [Qanr (1) 2Us¢ 200AL UL FULL HYAL AR 69,

(B) (At (11) 254, 2uten Usi-l Fnst 2uuAL Yl €.

@ et (1) 2 [ (1) 6 2udien uairl ooy 2iudL 2uags 8.

(D) [ (1) 2 [Qsnet (1) 6id 018 weL 20 usi-l et 24l Yaid 9.

AR ASA X, Y A Z d % sHHL vis Al vuni 2udan 9. X Al Z o 2id2 100 [BHL 6. dl Y 3 Z 524l

524 g2 897

(1) X 4l Z g 2l X dl Y - %idR 52l 25% 24 auR 8.

(1) Y &l Z ugiacnni c@ldl a4u X 4l Z usiuaimi Qi A48 sdl 24191 69,
@t (1) 2isg udien wadl ais viudl vald 8.

(B) [Atunt (11) 2s4, 2uuer Uaiql oaion 2uudL vaid 9.

(C) [atunt (1) 2 [Qaun (1) 6id 2UUAL UL AL 2IUAL 2ALUS 69,

(D) [t (1) 2 [Qsnet (1) oie 201 weL 20 Usi-l et 24Ul Yaid -9l

=\ Y

s uislAs cuunl ‘SISTER’ -l 54 535301, ‘UNCLE’ il ¥5d 84670 341 ‘BOY” -l ¥3d 129 €iu dl,

-

d UM “SON” -l Ri5d sul sl ?
(A) 353 .524
(C) 846 (D) 643

-\
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177. Ifaand b are integers, is (a + b) an odd number?
() 8<ax<11
(m 7<b<10
(A) Statement (1) alone is sufficient to answer the question.
(B) Statement (1) alone is sufficient to answer the question.
(C) Statements (1) and (11) both together are needed to answer the question.

.If statements (1) and (I1) both even taken together are not sufficient to answer the question.

178. How many letters can be typed by two typists in one day?
(I) Aworking day consists of 8 hours
(1) Four typists can type 900 letters in 3 days -
(A) Statement (1) alone is sufficient to answer the question.
.Statement (11) alone is sufficient to answer the question.
(C) Statements (1) and (11) both together are needed to answer the question.

(D) If statements (1) and (I1) both even taken together are not sufficient to answer the question.

179. What is the Sonal’s present age?
(I) Sonal’s present age is five times Ketki’s present age.
(1) Ketki will celebrate her 7t birthday next year.
(A) Statement (1) alone is sufficient to answer the question.
(B) Statement (11) alone is sufficient to answer the question.
.Statements (1) and (1) both together are needed to answer the question.

(D) If statements (1) and (11) both even taken together are not sufficient to answer the question.

180. Three towns X, Y and Z are on a straight line in same order. Distance from X to Z is 100 kms.
How farisY from Z ?

(1) The distance from X to Z is 25% more than distance from X to Y.

(I1) The time taken for reaching Y to Z is less than time taken for reaching X to Z.
.Statement (1) alone is sufficient to answer the question.

(B) Statement (11) alone is sufficient to answer the question.

(C) Statements (1) and (11) both together are needed to answer the question.

(D) If statements (1) and (I1) both even taken together are not sufficient to answer the question.

181. Ifinacode language ‘SISTER’ is coded as 535301, ‘UNCLE’ as 84670 and ‘BOY’ as 129, how will
‘SON’ be coded in that language?

(A) 353 @-2-
(C) 846 (D) 643

[RFP-1] [PT.0.
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182.

183.

184.

185.

186.

215 yd ds aag a3 s2 8. 1 [3Hl viar st oue, d elB a:s 5305 (53l 04 6. yni: d yd ds
502 Bl WA 9. 2id d BrR drs 5N 9 Bl WA . dl A3vud-u [Brrgell d Seal g2 82 ?

@- -0 (8) 9 (3
(C) 11 (34 (D) BuRisd U4l 51 ]

Q2 2ud el uglaui s oisdat, doraiu 1ddRA 214 ada uldiasid eald 6. di 2ugla-l sul et
Al e915<l2A eld 8 5 % ™MAdIR 8 wa uldas efl?

BN .

C

@: (B) D ©cC (D)E

([RE : 184-185) vuden usliui »is WRRaldd @i sl 20 8 211 dwiR >uddl uRRalq w4 Al
aloy uldlzan 56 8ol d 58l sauq 9.

22U YR 25 2Hi oludl auid, aud Ale A 2 yedu w9, duiR...

(A) yesu vidl dui g © d Ad RS

(B) y25uMi y3au 51900 913 Ul d-it Hil&se - 2Rl uaet sl ASA.
@ cuera-dl uidlud oea sl A

(D) 2-4idll Badl g AS.

AHA o1 U3 8 5 dHIRL Rat asidl 18 9d U4 530 81l 8, dH g 5220 7
(A) a-ll 08 ioi8 ALl e,

@ A0 el ndu sql.

(C) arll & e 08 dal 2.

-

(D) tlloniiA d-it [4d Adaail.

s ool 25 Yauri 600 [RAs51 241 50 Vit 1200 [Russt €. oA 12% 25 Vel [Risst 244 24% 50 UaAi-u
[Ras51 €2 sami 2ud, dl slamiddl 203 241 251 64 g2 A 8 ?

@216 % (B) 22.4 %

(C) 25.6 % (D) BuRisd U4l i -l
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182. Ajinkya started walking towards the East. After moving a distance of 1 km, he turned Southward
and walked 5 km. Again he turned to East and walked 2 km. Finally he turned to North and
walked 9 km. How far was he from his starting point?

@: (B) 9 km
(C) 11 km (D) None of the above

183. In the given figure, triangle represents girls, rectangle represents sports persons and circle
represents coaches. The portion in the figure which represents girls who are sports persons but
not coaches is?

B\D\\ c

C

@)= (B) D ©cC (D)E

* (Directions for Questions 184-185) In these questions a situation is described and you are required
to decide the most suitable reaction to the given situation.

184. While you board a train at the station, you find a suitcase beneath your seat. You would...
(A) open the suitcase to look through its contents
(B) try to find out the owner’s name from the papers etc. in the suitcase
.report the matter to the police

(D) drop down from the train

185. You find that your friend has been cheating you, what would you do?
(A) break relation with him
.make him realize his mistake
(C) give him tit for tat

(D) warn others about him

186. A bag contains 600 coins of 25 paise and 1200 coins of 50 paise. If 12% of 25 paise coins and 24%
of 50 paise coins are removed, the percentage of money removed from the bag is nearly ?

@216 % (B) 22.4 %
(C) 25.6 % (D) None of the above

[RFP-1] rro. B3
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187.

188.

1809.

190.

191.

192.

193.

194.

195.

-

(il 187 € 189 W2 [Aga) : 2uden uai-l [Aoidl ealadl 2l [Asew d 2ugldziil Gualol 59 urie
$3.

(o)

Mo, 25dfin, 34l (@)

o, wel, wag (@

A, usl, yedl (B)

(3Hd bl : 122 x 3-8 x 162 =7

(A) 1/9 (B) 1/108

(C) 1/81 @Guisaif a6 d

(A2 : ugi 191-193) A 2udan €35 MUl s i3 Youariddl el 2uuami 20da 9. dui 2ais
HouaRl ve 8. duil Sell-l U1 (pattern) Al vedl YouaRl b €.

abca bcaab aa caa ¢

(A) bbac (B) bbaa
.acbb (D) acac
cc__ccbcc _acchcc ¢ b

.acac (B) abab
(C) abac (D) aabc
___aaba__bba bba abaa b

.aabab (B) ababa
(C) baaba (D) bbaba

Vs UHAA 21 OUASL SOl JRITR 6/m 8. dl uMaA-l euggrl dond i1 duasl Birunl dpia
seal 2l ?

(A)1:2 .2 01

(C)1:3 (D) BuRisd U4l 51 ]

25 ANg2R WA 10 Al x 12 Al x 8 Al Rl 245 WA 8. ol 21 Ului d wenu S2dl doud-l g
sl 4o asal ?

(A) 10 &l (B) 12 Al

(C) 15 Al @Gucisaia a6 d
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187.

188.

189.

190.

191.

192.

193.

194.

195.

(Directions for 187 to 189): Choose the correct option showing the details of given questions using
following Venn diagrams:

(o)
)

Disease, Leprosy, Scurvy
Dog, animal, pet .
Sun, Planets, Earth .

The value of 122x 33x162=7
(A) 1/9 (B) 1/108
(C) 1/81 .None of the above

(Directions for Questions 191-193): In each of the question a letter series is given. Some of the
letters are missing in it. You have to find out the missing letters identifying the pattern.

abca bcaab aa caa ¢

(A) bbac (B) bbaa
.acbb (D) acac
cc__ccbcc_acchbcc_ ¢ b

.acac (B) abab
(C) abac (D) aabc

___aaba___bba_ bba abaa_ b

.aabab (B) ababa
(C) baaba (D) bbaba

Ratio of Volumes of cube and sphere is 6/x. What is the ratio of side of cube and radius of
sphere ?

(A)1:2 @:::

©1:3 (D) None of the above

A magician has a box of dimensions 10 cm x 12 cm x 8 cm. What can be the maximum length of
the magic wand that he can keep in this box?

(A) 10 cm (B) 12cm
(C)15cm .None of the above

[RFP-1] rro. B8
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196.

197.

198.

199.

200.

A2 Aellni 2uousl ue sy ea ?

101, 103, 107, 109, 113, 127,

(A) 129 @:s:
(C) 133 (D) 137

-\

25 A5AHE 36 HUHT Y 12 2ell 2uyarll v Sy, dal A Asal® cuer alls awug Sy, dl
ol €2 S2dl ¢l ?

@:422% (B) 52.32%

(C) 66.66% (D) 75%

Y 3

s 21 10 [MfRewi 12 (34l 2id 510 9. o dol 2is 2[Qs Uiked YAR Sl 6 As~3 A dl 2l
dous ...

(A) 90 Hle: (B) 100 ¥l

@ 20:022 (D) GuRisd WA 516 1€l

i) {2l M v 5O 89 S B A3 1661 24 2045 4 GIRLAUHL 204 dl 10 241 13 v ad ?
@27 (B) 131

(C) 137 (D) BuRisd U4l 51 ]

s AislAs Fuunl “BEARD” -l dSd “425132416” €1 dl “COLD” -l dsd
@o22514416 (B) 921519616

(C) 904254716 (D) 935458716
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196.

197.

198.

199.

200.

What is the next term of following series?
101, 103, 107, 109, 113, 127,

(A) 129

(C) 133

@:.::

(D) 137

If an investment offers to triple the money in 36 months, what is rate of interest, if the compound

interest calculated annually?

@422 %

(C) 66.66%

(B) 52.32%
(D) 75%

Atrain covers a distance of 12 km in 10 minutes. If it takes 6 seconds to pass a telegraph post, then

the length of the train is:
(A)90 m

@:20m

(B) 100 m
(D) None of the above

What is the greatest number which on dividing 1661 and 2045, leaves a reminder of 10 and

13 respectively?

@27

(C) 137

(B) 131
(D) None of the above

In certain coded language the code of “BEARD” is 425132416 then code of “COLD” is

@o22514416
(C) 904254716

(B) 921519616
(D) 935458716

[RFP-1]
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Aol cAitll-Uoll LUl AL o8l
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001.

002.

003.

004.

005.

006.

s SlasiAsRA, AUAULL AWNRIAL AU P AU AHAAOUA AQ deissiul [QAeumd 3

NN

glal 8. —alllrus 3l (Merchant Capital)«il asa2uoil, el 48 (Industrial Capital)-l d1a2u0l
21 AU Y4 (Finance Capital)il #uouvil, 41A-1 Ul sUL dsissl 2uaiel Yol Ary @l sdl ?

(A) al@lezus HA-AL AnuRul (B) ey 3l axuouo

@ 2 flu 4 AL unoun (D) GuRsd WA A1 ]

oAl AslaAd eun [Asiu dl-u (Integrated Child Development Scheme) 197541 @) s 2udl.
AL A S su [Aeua (Prec)ui d Al wan ay saHi 2udl ?

(A) H811 (B) M3

@62y (D) BuRisd YA SIS )

Y Y

virellseidl A WAL 56 uraldui Nd8stl A A2 €925 ASWASIRL A AA2AA dA1
$AHL 204 €9 ?

(A) a8lens a2 urkld (Strategic Sales Public Offering Method)

@225 ndz gRvued wssld (Initial Public Offering Method)

(C) AHL-uda 85 uBAR utald (Equal-Access Voucher Method)

(D) daa-sHA1l AR Auie- utald (Management-Employee Buyout Method)

A1 Y4 56 uR[RalA sald 8 3 FHi s1me1-1L UL (Labour efforts) [Aead asS onu €9 ?
(A) v la siigusl (Structural unemployment)

(B) 2»1z21) eiRieroudl (Frictional unemployment)

@25 ciiroudl (Disguised unemployment)

(D) Hiadl siious (Seasonal unemployment)

wAIRS HSYAl vy 8.

(A) 582 HEYA VUL ALY HEYA QAL dSlad

@34l vuy 217 Y vsWMHAU A% W2 AGELL A2 dslad
(C) d eyl vuauidl cuer ysavu-l cueoudl 52l % 1A df HU .
(D) d % d -uisly an we-l w52l g4 vuy 8.

uld Bax wendls 3adl-u Ageini Rz Aol Jvuql 2iuRaldd wugs ¢,
(A) 283 [Qe1rui 2000 342 211 flal [yl 2400 $a
@213 [azarzui 2100 3a 217 waflat Rzarui 2400 36
(C) 83 [Arcirui 1800 342) 14 Aflal [yl 2400 3@l
(D) 283 [Gcxui 1800 3@ i il (A4 2100 54l
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001. On the basis of the form of colonial exploitation, economic historians have divided the whole
period into three phases viz. the period of merchant capital, the period of industrial capital and
the period of finance capital. Which of the above phases continued till Independence?

(A) The period of Merchant Capital (B) The period of Industrial Capital
@) e period of Finance Capital (D) None of the above

002. In Gujarat, Integrated Child Development Scheme was introduced in 1975. In which of the
following blocks of the state was it first introduced?

(A) Mehsana (B) Bharuch
.Chhota Udepur (D) None of the above

003. Under which of the following methods of privatization, the shares of public sector undertakings -
are sold to the retail investors and institutions?

(A) Strategic Sales Public Offering Method
@ nitial Public Offering Method

(C) Equal-Access Voucher Method

(D) Management-Employee Buyout Method

004. Which of the following describes a situation where the labour effort gets divided?
(A) Structural unemployment
(B) Frictional unemployment
.Disguised unemployment

(D) Seasonal unemployment

005. Effective Revenue Deficit is
(A) The difference between gross revenue and net revenue
.The difference between revenue deficit and grants for creation of capital assets
(C) It is measured as revenue deficit less interest payments

(D) Itis the total deficit of the government for that financial year

006. The measurement of absolute poverty line unchanged in terms of calories per day/per
person is

(A) 2000 calories in urban areas and 2400 calories in rural areas
.2100 calories in urban areas and 2400 calories in rural areas
(C) 1800 calories in urban areas and 2400 calories in rural areas

(D) 1800 calories in urban areas and 2100 calories in rural areas

[RFP-2] rro. [ER
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007. DA AA s [Aau-l i € ?
1. wan yyaly dlou Geauen usius wa (5Ul2a 933)4 wanr 2uudl sdl.
2. Al aaly dlor ddn-Hid & (Wage-goods sector) -t [as1-l or390u1d BuR ¢ Y5l gl
3. cRaHi 2P Yy dloru ol 214 ay aHiadl 9E Gu ¢ ysul gdl.
4. on¥)l ynaly alg-uat adl, 2516 21 ay aHiadl 9l Gu MIR Ysul g,
(A) $5d 1 211 2 (B) $5d. 1,2 %1 3
@:s52 3014 (D) 1,2, 3% 4
008. MURAML @y saAHE »uddl dlu M [@Asu Al (Rashtriya Krishi Vikas Yojana) (RKVY) il
Sl suL 8 ?
1. s[RH NneR A5 Aty
2. s A dA doild Astiui s 4 2510 9l sina sl
3. ydeuraui sRull sild cuad.
4. aAsv [AzARIML 5810 usadL 60,000 uHi-l u5(&q (s,

(A) $5d 1211 4 (B) $5d. 1,2 %1 3
(C) $5d 2 21 3 @: 23214
009. A AidRAJIA URE HIN, HIRAL Al YL W dl d MR-l 4 ay 13 siruasl.
1. A4 vl 2. Yl vl 3. uHA: queadl g
(A) 1,294 3 @:s2u13
(C) $5d 121 3 (D) 5543

010. uldszs [3Hd us1udl (Regressive Price Subsidies) 2A2id
@:15124) (subsidy)wial Aot g2t sl Ma ot ay crilRd o 8.
(B) a8l (subsidy)-i [Ad@ui Hi2rwd yau (leakage) 8.

(C) Aot 2ol uvumellyi sudlil (corporate) d-il @l Hi2l (341 Had €.
(D) Gl Bl 811 (subsidy) ¢urdui 2ulds glERA Aol wl 8.

011. ~weud AFAR doraly (vertical) 21 AHALlA (horizontal) swasll-l 218

@) 211242 5101980 21 00141 s1raelu el B Fud doirdda s1nagl 2 3 da Al a2
sunaefl-i g edui 6,

(B) uHy s11asll 21 20l Ad eion acsiui s1nagl-i Aeeini 8 w1 doizdda sinagll 24 2ulds
ld utR A%l A sinaell- igeind 9.

(C) AHAZNA s101980 31 35 244 A%AL A s11aell- AgHH B R dotala sinapll 2 AUl 214
225 a1l A2l @23 s1nagl-n deciui 9.

(D) AHALA $101980 2 S5 A AL AL sl AseHL O FuR doradla sinaell A [afne
Al AUl 23 sl Aeeini .
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007. Which of the following statements are correct?
1. First Five-Year Plan emphasized on capital goods industries.
2. Seventh Five-Year Plan stressed on the need for developing wage-goods sector.
3. Eleventh Five-Year Plan in India emphasized on ‘faster and more inclusive growth’.
4. Twelfth Five-Year Plan stressed on ‘faster, sustainable and more inclusive growth’.
(A) 1and 2 only (B) 1, 2and 3 only

@:. 3and 4 only (D)1, 2, 3and 4

008. What were the aims of Rashtriya Krishi Vikas Yojana (RKVY) launched in India?
1. To enhance public investment in agriculture.
2. To achieve 4 per cent annual growth of agricultural and allied sectors.

3. Bringing Green Revolution in Eastern India

4. Integrated development of 60,000 pulses villages in rain-fed areas.
(A) 1and 4 only (B) 1, 2 and 3 only
(C) 2 and 3 only @:23and4

009. If International Monetary Fund provides loan to India, it will improve India’s
1. Current account
2. Capital account
3. Overall Balance of Payments
(A)1,2and3 @2 and 30nly
(C) 1and 3 only (D) 3 only

010. Regressive Price Subsidies means
.A rich household benefits more from the subsidy than a poor household
(B) There is huge leakage in the distribution of subsidies
(C) Corporates are enjoying a much larger share of subsidies than the poor households
(D) High price subsidies are pulling down economic growth in India

011. According to the Finance Commission, Vertical and horizontal allocation means

. Horizontal allocation refers to the allocation across states and vertical allocation refers to that
between Centre and states.

(B) Horizontal allocation refers to distribution across financially weaker states and vertical
allocation refers to that between financially stronger states.

(C) Horizontal allocation refers to allocation between Centre and states and vertical allocation
refers to that between states and local bodies.

(D) Horizontal allocation refers to distribution between Centre and states and vertical allocation
refers to that between special category states.

[RFP-2] rro. [N
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012.

013.

014.

015.

016.

017.

®MRAHL 5[ @ (agricultural census) Al AHALAL SUHL 204 8,
(A) uis ay (B) 2L ad isaiR
@iz ¥ 252 (D) AR a¥ AsaR

Sl Viglua 2020-21 AR “Ease of Living” | ulReum Ssn - Ul sun e yuu [auaid
203l AcuHi 2uL 8 ?

1. 5[, Rug 24 sl [as 2. Yeusidl, g x4 us1S
3. Qa1 sl 4. Aeilas Qs x1q 9l
(A) 554 1,297 4 @:s 1223 (C) 5542, 3 4 (D) 554 1,39 4

U513 Al (securities) vac AR i1 wigyd] (quaranteed) tudd A0l f2i1 s
588,

(A) tli=s t1212 (Bond Market)

(B) 2215 t1R (Stock Market)

@-\.c2-21% eiomz (Gilt-Edge Market)

(D) - 1= (Money Market)

nat=l yan alog- (el - UL sa [Qanl i 6 ?

1. WM anssiu Genors Risiq didld 2uudl 24 du-ll w69 alsan uops sl 21 240 Al 248
8d 6.

2. naEl yar Al (PM-YUVA) 3 Gelldl Hadd 2 Widd duq (s dsuaudl qysd
Gusn ¢,

3. Gelol AsRAsdl AU 2 AsAn Sslnil 12as gIRL U ALl AHAlSWL sUMT a4l

(A) 1,294 3 (B) $5d 241 3 (C) 554 1A 2 @513

S U GIRL A dUL elMA sauMi 2udel 3oidll 6is (Bad Bank)-l [Qeuadl suoid - U4 sa

(Qtu-l i ?

1. duis6is e 59 oisi-u geid 8 (bad loans)dl wiEl 52 8.

2. S1dMl MHIRd U212 2udl ols 2l [Qaieu 538 8.

3. d ®uRd- uld3u A3 (twin balance sheet)dl HascdlHidl 61812 vuaH] HEEIU Y.

4. duudl oisi-l NPA €2 $2UMi HeE3u sl

(A) $5d 1 11 2 (B) $5d. 2 241 3 @51, 2013 (D)1,2,3%1 4

YA AUIR Gl AY2LL 202041 A3 UM 20dd ‘Gujarat Land Bank Portal” «l/<u Yy 84/

Squl g e ?

1. s e Guaidefl wre B 08 Rdasia Geior 2anuar 12 -l 2l w2 usiuzu ad,

2. Land Bank elfis ausdini Guaoy ol (el aulddl ydl wd €.

3. W UZd 25Hi 1L, 3¢, sl Has, vigl, war, well dul oA H2as Bl wnvudla ylaui
adldl Wl ydl ws €.

(A) $5d 1 211 2 (B) $5d. 2 (C) 854 11 3 @:. 22113
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012.

013.

014.

015.

016.

017.

In India, agricultural census is done at an interval of
(A) Every year (B) Once in three years
.Once in five years (D) Once in four years

According to the Union Budget 2020-21, which are the three major subjects under the term of
“Ease of Living”?

1. Agriculture, Irrigation and Rural Development

2. Wellness, Water and Sanitation

3. Education and skill

4. Industrial development and growth

(A)1,2and 4 only .1, 2 and 3 only
(C) 2,3 and 4 only (D) 1, 3and 4 only

The market for government securities or securities guaranteed by the government is called as

(A) Bond Market (B) Stock Market
.Gilt-Edge Market (D) Money Market

Which of the following statements are correct regarding Pradhan Mantri YUVA yojana?

1. Educate and equip potential of the early stage entrepreneurs is one of the objectives of this
scheme

2. Pradhan Mantri YUVA Yojana (PM-YUVA) is a joint initiative of Ministry of Industries and
Ministry of Human Resources Development

3. The project will be implemented through a network of Entrepreneurship Resource and
Coordination Hubs

(A)1,2and3 (B) 2 and 3 only (C) 1and 2 only .1 and 3 only

Which of the following statements are correct regarding the concept of ‘Bad Bank’ introduced
recently by Central Government?

1. Itis a bank which buys the bad loans of the banks.

2. Government of India is presently considering to set up such a bank

3. It will help India come out of the twin balance sheet problem

4. 1t will help commercial banks to eliminate NPA.

(A) land 2 only (B) 2and 3 only .1, 2 and 3 only (D)1,2,3and 4

What is/are the main purpose/purposes of ‘Gujarat Land Bank Portal’ which was introduced in
January 2020 by Gujarat Government?

1. To assist investors to search for land to set up industry in transparent manner using online
mode.

The land bank offers details of available land at industrial sites.

3. The portal offers details of nearby infrastructural facilities such as road, rail, airport, port,
power, water grid, gas grid network etc.

(A) 1and 2 only (B) 2 only (C)1and 3 only .1, 2and 3

[RFP-2] [PT.0.
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018.

019.

020.

021.

022.

023.

A2 ouda ¢S dal alo-u- Sqil ¢ ?

1. [t gl asi 50 FMelun d) 2udll asid [Ruia s2d.

2. 50% Wl axdld larg g well Guasy A d YRMRd s:d.

3. ucls adl Al sa2 (SR e9x1)ui 2uaR 1 Wldluq F2dl gl 5.

4. 909% g2oln tisloL Al Guasy suadl.

@cu2+0 daaly alo-u (B) wial ynaly di-u
(C) il vl diog- (D) el Yaarly uior-u

ad 2030 YHML MR 5 Zldlun st Heldat etiaal 21 8% il x1[Ard gl i s
‘Strategy for New Index @ 757 UM+l U €l N3] sul €.

(A) cudla Axd oi3 (B) 2o+ i3

(C) -usw Houad @GuisaiQ 66

ol [Alay dlor-uil (gl DA WS s (sl i ¢ ?

-\

1. BPL dal HeaH ol §2oiin adu (Cashless) dofloll uraiz ydl wisdl aiori yous-l 21344 45
20y 8.

2. Wl a2 yariq [l slaci-l didlm gl wgar wie Slact ad S Wigse A3 saHi il 8.
3. 5 GanenA g sa e ad 201040 $M Heleuarll WIM sAURL 2uedl 8.
@5 1u12 (B) $5d 141 3 (C) 55 2 ¥R 3 (D) 1,2 A 3

A2 WA 54 / s N8R W dl3 i 2ud 8 ?

1. d 2[As AR G121 20 il s 3Rurdl Yol sa 12 sami 2ud 8.

2. d Ay (current) W i1 48 (capital) WML adllgd sl 2ud 8.

3. w1y (current) w2l G Slu vsuHAA Qledl s |G sUMi 20d 8.

(A) $5d 1 44 2 @:s 2 (C) $5d 141 3 (D) 1,24 3

D WAL 5y [Atuq / s Qs 0 /i o ?
(A) Vi disl 5 B2 SHAL AL S1U uid ARl WA 50135 AlsLs ay WAL ld diln gleisidl aLloy
(chronic poor) s8cu €9,
N

(B) i disi 5 3l [Rufid Ad Aol 2482 214 61812 2U1a-21 5L €l d2iA 2R Aot (churning
poor) 8 9.

@ ») 211 (B) vin

(D) (A) 21 (B) U4l 418 ]

2yel sl A2ruR Alog- ueid N2l W sy / sai [Qanq / [Qanl 2 / 0l 9 ?

(A) U S1ASHAL HSTAML 8251 3UvAL AYRIA: HIAL 55 USIR GIRAL AUIR SAUHL 20 O,
@) 215 213 Srvoufa ugeiA 2ique (Regyes yg wsaumi wud 8.

(C) (A) 211 (B) tid

(D) (A) 21 (B) U4 518 el
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018.

019.

020.

021.

022.

023.

Which Five-Year Plan has the following objectives?

1. To create 50 million new work opportunities in the non-farm sector.

2. Toensure that 50% of the rural population has access to proper drinking water.
3. Toincrease green cover by 1 million hectares every year.

4. To provide access to banking services to 90% of households.

.Twelfth Five-Year Plan (B) Fifth Five-Year Plan

(C) Seventh Five-Year Plan (D) Tenth Five-Year Plan

To make India a $ 5 trillion economy by 2030, and to achieve consistent 8% growth has
released a comprehensive document titled ‘Strategy for New India @75’.

(A) Reserve Bank of India (B) Planning Commission

(C) Ministry of Finance .None of the above

Which of the following statements are correct regarding different schemes of Gujarat?

1. The scheme providing cashless medical treatment to the BPL and middle-class families is
called Mukhyamantri Amrutam

2. To impart the training of various skills to the youth of the State at the rural level, Kaushalya
Vardhan Kendra Project has been launched

3.  Krushi Mahotsav has been initiated in the year 2010 to double the agricultural production
.1 and 2 only (B) 1 and 3 only
(C)2and 3 only (D)1,2and 3

Which among the following is/are considered as public expenditure?
1. Itisincurred by local governments to satisfy common want

2. Itis classified into current and capital expenditure

3. Current expenditures are incurred to create productive assets

(A) 1and 2 only .2 only
(C)1and 3 only (D)1,2and 3

Which of the following statements is/are correct?

(A) The people who are always poor but may sometimes have a little more money are called
chronic poor.

(B) The people who regularly move in and out of poverty are called churning poor.
@ Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are INCORRECT regarding Sampoorna Grameen
Rozgar Yojana?

(A) The core component of the program is formed exclusively by the Central Government
.Food grains are provided free of cost to the States/Union Territories

(C) Both (A) and (B)

(D) Neither (A) nor (B)

[RFP-2] rro. [N
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024.

025.

026.

027.

028.

029.

A A dl FURAHE AL YRasl aaisl asi.
1. el oist du-u v ((B2e) Aoidla cuasiig [Qae 52
2. 5% ARSI A%AIA aY el 2.

3. MIRd AR RBI Wil 3801 (borrows) 4.

(A) 1,243 (B) 50 2 41 3 @5 1013 (D) §5d. 2

Payments Bank A uai-ll (licences) 23l sl W2 RBI gt A Y4l Al a1 scumi
udl el ?

(A) Gu aiiz u@la

(B) A, dl. 28l ulfd

@) 123442 ulala (Nachiket Mor Committee)

(D) [Brna oan uldfad

wafs Reen weulld sar (aaRrdl) |2 doRid AR gL AA YA 55 Alo-l Anau
ysauui 2udl 8 ?

(A) [Qenasl i+

(B) [Azngly uier-n

(C) o 212 AU, 51454 (School Health Checkup Program)
@Gurisa ann

cuRaxL [A2ell §lum 2rmaHi DA WA sun ol custdi-l asda i 6 ?

(A) [a2ell-aan mesudl, (A Buis 2485121 (Special Drawing Rights) (SDRs) i1 [agamidll 1l
Ai.

@) (a2:0-uaw 2125udl, RBIHL Yasl 21-nd 214 SDRs
(C) [agall-uar virsuudl, [Au 65 drsdl div da SDRs
(D) [Aesll-aa vrsuHdl, RBIHL Yaul -uHd 244 (A% ols a5l din

BURLSAL tUoldl, Al v N8R [AdREL HAAU GIRL dAR AU 2 s AR - s A 518
(One nation-One ration card) tHels0u-l AnY Hulel 56 9 ?

@2l 2021 (B) 2B 2021 (C) %eusS 2021 (D) »il212 2021

A0 U 5y [Qenqt / s [Qeunl )/ uai o ?
@ 203 225121 vigwrusini WA w3yl vur gl cud Rdla-@ (Fiscal Policy) 18l staicusi 24 8.

(B) -l 5 % Geurg Sl AsAHAL A% AHE AU AsAL Sid d AuHidl 12512 11 1YL vy ¢S
SAUM 24 89,

(C) (A) 21 (B) tinl
(D) (A) 21 (B) U4 5185 el

[RFP-2] [Contd.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


024. Money supply in India can be increased if
1. The commercial banks expand their credit operations
2. The Central Government gives more grants to the states
3. The Government of India borrows from RBI
(A)1,2and 3 (B) 2and 3 only

.1 and 3 only (D) 2 only

025. Which of the following committees was constituted by RBI for issuing licences to Payments Bank?
(A) Usha Thorat Committee
(B) Y. V. Reddy Committee
.Nachiket Mor Committee

(D) Bimal Jalan Committee

026. Which of the following schemes is adopted by Gujarat State Government to enhance primary
education?

(A) Vidhyalaxmi Bond Yojana
(B) Vidhyadeep Yojana
(C) School Health Checkup Program

@1 of the above

027. Which one of the following groups of items is included in India’s foreign exchange reserves?
(A) Foreign currency assets, Special Drawing Rights (SDRs) and loans from foreign countries
.Foreign currency assets, gold holdings of the RBI and SDRs
(C) Foreign currency assets, loans from the World Bank and SDRs

(D) Foreign currency assets, gold holdings of the RBI and loans from the World Bank

028. What is the deadline for implementing “One nation-one ration card” set by Ministry of Consumer
Affairs, Food and Public Distribution?

@ iarch 2021 (B) April 2021
(C) July 2021 (D) August 2021

029. Which of the following statements is/are correct?
. Fiscal policy is considered good when the government has high revenue deficit in budget.

(B) The revenue deficit is fulfilled by government with the money which could have been spent for
the creation of productive assets.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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030.

031.

032.

033.

034.

035.

e WS su1 saAAA0 217 ARl 211 A<l $2 (Goods and Services Tax) (GST) 3L dlg, ¢ ?
1. 5y Gewe yes
2. [Blas~s [Qazw 52

3. AR
4. 2unlis cum uRHl 42 (Fringe Benefit Tax)
(A) 554 1 1A 2 (B) $5d 3 21 4 @:5i1243 (D) 1,2, 34

cuRdxl yaaly aiginmi o [ (Plan holiday) Wl s120u0 A2 U4l sui gdl ?

1. e Yaala aig-u-dl Rrsnd

2. 5[ Gengni s2isdl

3. -l dlst 21694

(A) $5d 1 11 2 (B) 55 2 44 3 (C)$5d 11 3 @:. 22113

A58 -UHA RUTR (Cash Reserve Ratio) (CRR) tlioid 12« WSl suu (sl i ¢ ?
1. CRR -uRu-it yasty [Ruuq sraug -weusla a4 8.

2. CRR ¥ 65 gIL d-ll §& unimisdl RBI Wi A53Hi uvicu-dl adi (S 8.

3. CRR 2uRIL U 1% Hal 69,

@51 nq2 (B) §5d 2 %11 3 (C) 554 1241 3 (D) 1,21 3

auRdld 3¢dHL The Diamond Quadrilateral Project idold G-t - Ul su1 adi sAsiai o ?
1. 2l 2. 6lduy3 3. 4§ 4. slastil

(A) $5d 111 3 @51 324 (C) $5d 2 21 4 (D) 1,2, 31 4

9o ARSI M Bellol A8 Ris Al (Fish Entrepreneur Yojana) tlieid -l W4l 53 [Qun / sa
(Al 2 /i e ?

(A) 2133 old / omoala-dl w8 i #3212 31 20,000/- L 25 [B1d 40%6 U1 2uuUHL 214 8.

@ zingo’ uedl-u 62 w2 WRAQWIA 31 100/- A Rraalt il e Bau veurisy ds0 adly
2ni 204 O,

(C) (A) 241 (B) tirl

(D) (A) 21 (B) U4l 518 el

National Investment and Infrastructure Fund Limited (NIIFL) oueid - U4l sa [Qadl
i 69 ?

1. NHFL 2Aid:ndla 2 (idla [Raasid asaionyel 15 W@esid 8.

2. NHFL 2512 Hvidtd Wi seHl o 5L 52 6.

3. NIFL A% G310 41 89, — W2 ¢l *idlong @isio (Fund of Funds) A edglens dsi @ision,
(A) 1,243 @:5 1213 (C) $5d 1241 2 (D) $5d 2 41 3
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030.

031.

032.

033.

034.

035.

Which of the following taxes were replaced by the Goods and Services Tax (GST)?

1. Central Excise Duty 2. Dividend Distribution Tax
3. Service Tax 4. Fringe Benefit Tax

(A) 1and 2 only (B) 3and 4 only

@ 2nd 30nly (D) 1,2, 3and 4

Which of the following were the reasons for Plan Holidays in Five-Year Plan of India?
1. Failure of the Third Five-Year Plan.

2. Crisis in agricultural production

3. Serious food shortage.

(A) 1and 2 only (B) 2 and 3 only

(C)1and 3 only .1, 2and 3

Which of the statements are correct regarding Cash Reserve Ratio (CRR)?

1. CRR is a monetary tool to regulate money supply.

2. CRR is the portion of the bank’s deposits that a bank should keep with the RBI in cash form.
3. CRR deposits earn interest.

.1 and 2 only (B) 2 and 3 only

(C) 1and 3 only (D)1,2and 3

Which of the following cities of India are connected under The Diamond Quadrilateral project of
the Indian Railways?

1. Delhi 2. Bengaluru 3. Mumbai 4. Kolkata
(A) 1and 3 only .1, 3 and 4 only (C) 2and 4 only (D)1,2,3and 4

Which of the following statements is/are correct regarding Fish Entrepreneur Yojana of Gujarat
Government?

(A) On average Rs. 20,000 unit cost, 40% assistance is given to women belonging to Scheduled
Caste/Tribe.

. Training is given to Women for growth of *Zingo’ fishes under a ten-day course with Rs.100/-
scholarship

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding National Investment and Infrastructure
Fund Limited (NIIFL)?

1. NIIFL is a collaborative investment platform for international and Indian investors.

2. NIIFL invests in government infrastructure projects only.

3. NIIFL has three funds — Master Fund, Fund of Funds and Strategic Opportunities Fund
(A)1,2and 3 @ and 30nly

(C)1and2only (D) 2 and 3 only

[RFP-2] rro. RE3
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036.

037.

038.

039.

040.

Awrudla AHdAs (Financial inclusion) A WeAll8d s W2 GIRAHE UH-2 6isl (Payment Banks)
A 20U A HAL 20ucuHi 2udl €. 21 deeui DA UL sun @l i S ?

1. [l (residents) HlQAAL 244 Rzt dsui-l Hicuda su-dlal 21 Yu: Hise guan yu-2
6% (Payment Bank) il Mad sl tisicl Wistdl 41d 6.

2. Udi-2 olsi (Payment Banks) (12l ualriil g1z 83l a5 4l

3. UHr2 6lsl (Payment Banks) 3412 s1$ 21 36lle 518 o0l 53l a3 8.

(A) 554 11 2 @:se 1213

(C) $5d. 2 211 3 (D)1,2x3

A1+ ‘Sovereign Gold Bond Scheme’ 244 ‘Gold Monetisation Scheme’ -l 8q, / Sdil sul /
s e ?

1. MuRdld 201 Wi 8¢ 2Augi (idle) Al A dAHL Qlad,

2. A4 &Ml FDI A Ues - 2,

3. yael 2uad vl surddl uiadbiad aaisdl.

(A) §5d. 1 (B) $5d 2 1 3 @513 (D) 1,224 3

A2 Y4 56 ALl 0=l AN AsAAL €9 ?

1. Adl s — Ay Aedu ulld

2. dgll A AdL 52 — 124 Ui A

3. Yt alfd 52 — o0 AR

4. aiow cuou-u 48l ™ 52 (Long term capital gains tax) il ueigl — [QAogu s ulld

(A) 1,2, 314 @:s 124 (C)$5d 1,34 (D) $5d 1, 2 91 3

MUDRA %~ oietd - W4 sun Qe 0 ¢ ?
1. MUDRA -l ¢igion qg1a 6l usi2-l 9.

2. yaH (8w A2l (Micro Finance Institutions) it 31 1 cs Y-l el 112 yan B dig-u
(Micro Credit Scheme) (MCS)

3. cawdl oisl, wels arlle eist (Regional Rural Banks) (RRBs), &g [adlu 6isi, «iq tigloy [Axdla
su-lail (Non-Banking Financial Companies) (NBFCs) #u2+ll y-[HaueL aios-il.

@: 2213 GEEVERE (C) 554 124 3 (D) $5d 1 244 2

cuRAML [dAL) [B1& (Treasury Bills) tuieid -2 WS s [Atunl 202 € ?

1. Slaul QURA AR AR uskU [l Bl 7 $2 9. — 14 [Bax, 91 [Ban, 182 [Bau
364 [eaa.

2. (A2l [Bret tieori ot 31 25,000/- L EHHI 244 31 25,000/- L AAUsHI Guasy .
3. (o<l [Bredl (T-bills) iy A ~1at anl el aioll Hea-dl A5l as ydd ud ©.
(A) 1,24 3 (B) $5d 2 41 3 @512 (D) 55 1 91 3
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036. The establishment of ‘Payment Banks’ is being allowed in India to promote financial inclusion.
Which of the following statements are correct in this context?

1. Mobile telephone companies and supermarket chains that are owned and controlled by
residents are eligible to be promoters of Payment Bank.

2. Payment Banks cannot undertake lending activities.

3. Payment Banks can issue both credit cards and debit cards.
(A) 1and 2 only .1 and 3 only
(C) 2and 3 only (D)1,2and 3

037. What is/are the purpose/purposes of Government’s ‘Sovereign Gold Bond Scheme’ and ‘Gold
Monetisation Scheme’?

1. To bring the idle gold lying with Indian households into the economy.
2. To promote FDI in the jewellery sector

3. To reduce India’s dependence on gold imports.

(A) Lonly (B) 2 and 3 only

.1 and 3 only (D)1,2and 3

038. Which of the following pairs are correctly matched?
1. Service Tax - Raja Chellaiah Committee
2. Goods and Services Tax - 12t Finance Commission
3. Value Added Tax - Rangarajan Committee
4. Abolition of Long term capital gains tax - Vijay Kelkar committee
(A)1,2,3and 4 .1, 2 and 4 only
(C)1,3and 4 only (D) 1,2 and 3 only

039. Which of the following statements are correct regarding MUDRA scheme?
1. The funding support from MUDRA are of two types
2. Micro Credit Scheme (MCS) for loans up to 1 lakh finance through Micro Finance Institutions.

3. Refinance Scheme for Commercial Banks / Regional Rural Banks (RRBs) / Small Finance
Banks / Non-Banking Financial Companies (NBFCs).

.1, 2and 3 (B) 2 and 3 only
(C)1and 3 only (D) 1 and 2 only

040. Which of the following statements are correct regarding treasury bills in India?

1. At present, the Government of India issues four types of treasury bills, namely, 14-day,
91-day, 182-day and 364-day

2. Treasury bills are available for a minimum amount of Rs.25,000 and in multiples of

Rs. 25,000.
3. Treasury bills (T-bills) offer Long-term investment opportunities, generally up to three years.
(A)1,2and 3 (B) 2 and 3 only
.1 and 2 only (D) 1 and 3 only
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Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


041.

042.

043.

044.

045.

At [del 2l W4 sui [Qa- i e ?

1. yedlg wRlds carciare (R, sRun, welll susy 214 GHetary, [Ral-dl wondl MRy &,
2. AHAA ALOLAL Aeclla U 51281 AlellaRRIAL Brdl 1R dR$ 82 8.

3. AR 2 Al AW i uR [QAgayeidla [l 21 wia ©.

@ 23 (B) $5d 1 1 3

(C) 55421 3 (D) $5d 1 1 2

Aid[Rs ALl (inner planets) (Al A1 WA sui (el i ¢ ?

1. AR H3NH 2l 644, Y5, Yedl 244 {o 21dRs AL a5 vl .

2. dvll YA i yedl - yAasi-l Al 1295 GHeL s sl 241dRs A8l als sinvu 9.
3. RS AL ALRHINAL dHAL AHEE S GUEL ASL SRl AY AW $U 2id? ndal 8.
4

AHIRY L 2UARS AL AL AHSE 20 (BUEL) AL Sl HI2L 2R AY, BrddL 414 €9 dAL dil gl
(BuALl) A4l dH-ll $d AQUL 8R4 9,

(A) 1,2, 3244 (B) $5c 1 1. 2

@51 223 (D) 554 2, 341 4

cuRdui gl [del Al WA sui [Qannl i ¢ ?

1. siusl, swaHl sl oA (Regur), udl 4l 249 ugviG gl ¢ia-dl ol you usil 8.

2. siurll ol siowR, wsis, ab, A8 i dlalbiu Wl aggn aua 8.

3. swrll soll ol (Regur) Yo vddlun dosRid, HSIRAR, 58125 i HeaueaHi 2uddl €.

4

Al ol Al drardl UAR Wkl dAddL a2 (sedimentary) vssiuidl Ruier wa € 24 d Aol
BuonG ¥l €, FHi Uinsdral, Ardla 150U dal WS 2L L] HIUH S1u €.

(A) $5d. 1 211 2 (B) $5d 1 ¢ 3
(C) $5d 1,2 %1 3 @:. 232114

QURAHI gl (A2l A2 WS sui (-l i o ?

1. [Ry el Gemazann [Asieui HifuAAR dvid WA € 2 d MURAHL dgLv dxtuiddl udsl 8.

2. dugladl [guseu ga-dl Alell Hidl 42l © 244 d ulEn ae-u glouainiddl Ggmd 6.

3. [5wau A€l cuRani ollon sH-u Al Wiew gndiadl 2200 52 8 % Raaygnedl .elldl 9.

@51 w72 (B) 52 %A 3

(C)$5d 11 3 (D) 1,21 3

RURAML 1AL WS 84 w35 da (rock system) Alell [Aya HnH virlod 4Riad wss da 9 3 3 ulas
vilofie oL a5 uRL onslld € ?

(A) s (Cuddapah) @rar

(C) A3t (D) [ae
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1. Earth’s original atmosphere was rich in methane, ammonia, water vapour and the noble

041. Which of the following statements are correct regarding atmosphere?

gas neon
2. The density of the atmosphere decreases outward, because of the gravitational attraction of
the plane
3. The temperature of the atmosphere and surface is influenced by electromagnetic radiation
.1, 2and 3 (B) 1 and 3 only

(C) 2and 3 only (D) 1 and 2 only

042. Which of the following statements are correct regarding inner planets?
In the inner Solar System, we find the “Inner Planets” — Mercury, Venus, Earth and Mars

2. Inner Planets are so named because they orbit closest to the Sun planets between the Sun and
the Earth

The inner planets are also much more closely spaced than their outer Solar System counterparts

Generally, inner planets are larger and denser than their counterparts, and have a number of
moons or rings circling them

(A)1,2,3and 4 (B) 1 and 2 only
.1, 2 and 3 only (D) 2, 3and 4 only

043. Which of the following statements are correct regarding Soils in India?
Alluvial, Regur, Red Soil and Laterite Soils are the major types of soils in India
Alluvial Soil is suited for Rice, maize, wheat, sugarcane, oilseeds etc.

Regur or black cotton soil spread mostly across interior Gujarat, Maharashtra, Karnataka
and Madhya Pradesh

4. Red soils are formed from iron-rich sedimentary rock and they are usually poor growing soils,
low in nutrients, humus and nitrogen

(A) 1and 2 only (B) 1 and 3 only
(C)1,2and 3 only .1, 2,3and 4

044. Which of the following statements are correct regarding rivers in India?
1. The river Indus rises in Tibet, near Lake Mansarowar and it enters India in Ladakh.
2. The Godavari is the largest Peninsular river and it rises from the slopes of the Western Ghats
3. The river Krishna makes the second biggest waterfall in India, known as Sivasamudram
.1 and 2 only (B) 2 and 3 only
(C)1and 3 only (D)1,2and 3

045. Which of the following is the richest mineralized rock system of India, and is also called as
storehouses of metallic minerals?

(A) Cuddapah .Dharwar
(C) Gondwana (D) Vindhyan

[RFP-2] [PT.0.
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046.

047.

048.

049.

050.

051.

052.

Da-u WA su wulaami ‘uRiEl (Epiphytes) [QYa Hisumi A wol ¢ ?

(A) €3 uularel (B) vidlu 2@
@ Gras2oilu Az vaiaza (D) Gaauddlu (Alpine) uuiazel
‘ol aioL AU’ (Green Wash Area) 26¢ YyAd 69,

(A) 2nari- (topographical) <l <152 YR 83 gL R Ssn-l Aitndal [
@):21<si4 (topographical) - s uR Al a [z

(C) 2anai- (topographical) il #1521 U WAL WS Ss0-l [A2d1R

(D) 2amari- (topographical) -l <52 U Al Haaudll (saed) Wil gl

Al N W 5y o AlRHUIN-U Uy WA3’ (Gas Giants) d<ls vilowu €9 ?
(A) Ha, ), YA 24 Ty (B) all, YR, Ay 24 w2l
@-1>, 2, 4212 A Ay (D) Gulsd dxuy

pdHi Foredl [Agl A2 UL sul [Aan-l i 6 ?

1. GO UIAUR FAEL — D01, QA3 U YRd

2. GuaslRoidly s W ol — 211, UG A AHAR

3. Gudlu GuuslRoidly sicwn ofadl — strusial, A2, HUARIR A 549

4. Haya Fodl — 15 [eeuil GuR [Raan 8.

@ 23214 (B) $5d 2, 3 i 4 (C) 851,244 3 (D) $5d 1 ¥ 4

yed)) -l surwal uReHMal 21420 uotd A W4 53 / sui (@ / [Qanl 0 /i o ?
1. s RRafaui sgslu ulRad-l.

2. [2au 2 aa-dl dondui uRad-

3. [Bau i Aad Ruiw

4. uygHi well alag Ruia

(A) §5d 1 @:sa 1212

(C) 8541, 241 3 (D) 1,2, 344

wAl, s, Rl v ndlu &l x4 54 A AsvuAAL 89,

(A) dity, 2, Sl 2 viLdR @ ivi, 20, vudz 214 siaxl
(C) vldR, SIARL, ity i Al (D) A, div], SLAAL 244 viLdR

A2l W 56 A dlil il {ld Al 8 ?
2lggH ol — Al Fal st Rl da DAL drs gl awustl 4aadL gail.

NN

1.
2. Guasloidla wrvr Fodl — 1 gall st Gruouni &9 ofl 208 Atdie Yl dnqi wall vidl v .
3.

-\

Guasl2oidlu sicinad — aui-L H21eN0HL AHA g3 6913 URl Sl Al 4n 918 £921e9aul
Sl 8,

@:. 22113 (B) 55 2 244 3 (C) $5d 11 3 (D) $5d 1 11 2
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046. In which of the following environments ‘Epiphytes’ are mostly found?
(A) Tundra environment (B) Continental deserts
.Moist tropical environment (D) Alpine environment

047. The term ‘Green-Wash Area’ denotes
(A) Recorded irrigated area by a canal on topographical map
.Recorded forest area on a topographical map
(C) Recorded crop area on a topographical map
(D) Recorded bog land on topographical map

048. Which of the following groups of the planets are called the ‘Gas Giants’ of the solar system?
(A) Mars, Saturn, Uranus and Neptune
(B) Saturn, Uranus, Neptune and Pluto -
.Jupiter, Saturn, Uranus and Neptune
(D) All of the above

049. Which of the following statements are correct regarding forests in Gujarat?
1. Moist deciduous Forests - Dangs, Valsad and Surat
2. Tropical Dry Deciduous Forests - Amreli, Junagadh and Jamnagar
3. Northern Tropical Thorn Forests - Banaskantha, Rajkot, Bhavnagar, Kutch
4. Mangrove Forests - Distributed over 15 districts
.1, 2,3and 4 (B) 2, 3and 4 only
(©)1,2and 3 only (D) 1and 4 only

050. Which of the following statements is/are correct in terms of effects of the revolution of the Earth
around the Sun?

1. Seasonal changes in the weather condition

2. Variation in the length of day and night

3. Causes the day and night

4. Causes the movement of water in oceans

(A) 1 only .1 and 2 only (C)1,2and 3 only (D)1,2,3and 4

051. Kbhetri, Kolar, Sindari and Jharia areas are respectively associated with
(A) Copper, Gold, Coal and Fertilizer
.Copper, Gold, Fertilizer, and Coal
(C) Fertilizer, Coal, Copper and Gold
(D) Gold, Copper, Coal and Fertilizer

052. Which of the following pairs are correctly matched?
1. Coniferous Forests - Trees with needle-like leaves and downward-sloping branches
2. Tropical Deciduous Forests - Trees shed their leaves in dry summer for six to eight weeks
3. Tropical Thorn Forests - plants are leafless for the majority part of the year and are scattered
.1, 2and 3 (B) 2 and 3 only (C)1and 3 only (D) 1and 2 only

[RFP-2] rro. K3
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053.

054.

055.

056.

057.

A U4 56 Adai 0=l Ad Al €9 ?

ulzonld ol AU

1. suadl, 2ul x4+ Rl (Balti, Garra and Sippi) — DBRUS
2. wRll, AsHL 24 A2 (Khasis, Chakma and Gangte) — 04
3. HRH, Al 21 Y2 (Maram, Chiru and Purum) — Hdy:
4. &dluL, M50 31 AR (Bhotia, Bhuska and Tharu)  — Griusal
(A)1,2,3%1 4 @:s2 3274
(C) $5d 121 3 (D) $5d. 2 211 4

adt (Lagoon) [l - U4l sui [Qeu-l i e ?

1. a9 (Lagoon) L) 2us1e (bars) 121 aHgell et udal elegn well-l oL 8.

2. @9 (Lagoon) Ylaugl WiHdl s[R3Rl wiA 6169 snaia adls [RAuia w 6.

3. @31 (Lagoon) 4 $€ 1 Glale aellai ayg-dl Awdl u 2uaiR Avi .

@ 22113 (B) 55 2 241 3 (C) 54 11 3 (D) $5d 1 11 2

A Q4L 5 A8/ Al i) d Azl © ?

1. oldum Ay — oi8ad1e AU Geunt

2. (Rdl Rl — ey AR

3. 0125 (snow) [l — Sl Al Geurt

4. 5100 gludt — R armell R

(A)1,2 3314 (B) $5d 2, 3 ¢ 4
@51 223 (D) 554 3

gl 2 AU Genrdl (A9l A1 WA sui (Al i € ?

1. il €l ou sisle 8dlu Geurddl il 208l 20idi 9.

2. elsg el s1fl2ou Arglu Genrtuisll uaiR wu 9.

3. 49) el eiiglyR AU Genniedl v wu 8.

4. [Bwau A2l A2l U Genuiall v a9,

(A) 1,2, 3% 4 @:s 1203
(C)$5d2, 321 4 (D) BuRisd U4l i 1l

A2A WA 55 oAl =l Ad Al € ?
1. wilddug (very dense) ¥ — gairil 2u9te--l Aaudl 709% 5 ddl ay

2. M8 (Biviiauni uea) — Gazdl sau-l a=u ol 5 % 1096 Al 2 ga 2u9e- Al 4R1d €.

3. vjeal (open) FAAl — g& 2u9ie- AL 40% Al ay ud, 70% ol 2 Slu 8.
(A) 1,221 3 (B) $5d 2 21 3
(C) $54 194 3 @51 nA2
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053. Which of the following pairs are correctly matched?

Tribal Groups — States
1. Balti, Garra and Sippi — Jharkhand
2. Khasis, Chakma and Gangte — Assam
3. Maram, Chiru and Purum - Manipur
4. Bhotia, Bhuksa and Tharu - Uttar Pradesh
(A)1,2,3and 4 @2 3and40nly
(C) 1and 3 only (D) 2 and 4 only

054. Which of the following statements are correct regarding Lagoon?
1. Lagoons are shallow bodies of water separated from the ocean by sandbars

2. Coastal lagoons are created as a shallow basin near the shore gradually erodes.
3. The size and depth of coastal lagoons often depend on sea level.

.1, 2and 3 (B) 2 and 3 only

(C)1and 3 only (D) 1 and 2 only

055. Which of the following pairs is/are correctly matched?
1. Bengal Tiger — Bandhavgarh National park
2. Indian Leopard - Jawai Dam Sanctuary
3. Snow Leopard — Hemis National park
4. Black Panther — Periyar Wildlife Sanctuary
(A)1,2,3and 4 (B) 2, 3and 4 only
.1, 2 and 3 only (D) 3only

056. Which of the following statements are correct regarding rivers and National Parks?
1. Kosi river traverses the Eastern boundary of the Jim Corbett National Park.
2. Diphlu river runs through Kaziranga National Park
3. Nugu river passes through the Bandipur National Park
4. Krishna river passes through Venkateshwara National park
(A) 1,2, 3and 4 @ 2and30nly
(C) 2,3 and 4 only (D) None of the above

057. Which of the following pairs are correctly matched?
1. Very Dense Forest - Tree canopy density of 70% and above.
2. Scrub - Degraded forest lands with canopy density less than 10%.
3. Open Forest - Tree canopy density of 40% and more but less than 70%.
(A) 1,2and 3 only (B) 2 and 3 only
(C)1and 3 only .1 and 2 only
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058. DAl WEl-1 4 wel-11 e A3,

ael-1 gl-11

1. RATHSIA AMUIRRY a. $idl

2. yail a=aell AeuRe b. €lsie

3. YAUIRIAR HAMARRY C. HelL

4. [$aumore Aneurey d. Awsie

(A) 1-a, 2-b, 3-¢, 4-d @:02-a3-¢c4-d

(C)1-c¢ 2-d, 3-b, 4-a (D) 1-d, 2-a, 3-b, 4-¢c
059. gadwg[Qm _ wiwdge.

(A) [enan (B) Henau-ll 251

(C) »Raedl @:uyn

060. (IR USIR GIRL LA 202040 N3 s2AUHI 2UdQ AlE Al A2d<] 2018 -t [QdrdaR 218 (gl D
U4l 5y / sui (A / (sl e /i 6 ?

(A) MiRd [Qadl air-ll o azdl-i 70% azdl 41d 8.
(B) ®URdlrll 30% A& A ALEL HIZAL AU 8-l 18R A 6.
@~ 211 (B) vin
(D) (A) 211 (B) U4l 415 -l
061. GURAML W3S d (Rock System) cioid A1 WSl sui [Qeu-l i ¢ ?
1. HIRAUR W3S dA (Rock System) sicid 3uid<ls wss (metamorphosed rock) d=t €.
2. YRABU W3S dod 5L (Cuddapah) dan [dea daa-l amdal s2 6.
3. glaflat vgs da dlRarug 24 desueut 2A[dlRsd (Extra) [guseu d-limi oal 1o 8.
(A) 1,243 @:sa 1212
(C)$5d 291 3 (D) $5d 1 11 3

062. A auiBg (el a-u Ul sui (Al i e ?
1. GuRdHi G-uoum elai ulzsll a21€l uani 2ud € R Gryudlu uasi Qo g3t 2ud 9,

2. wdelfun v [Asldlud GausaiHi e wHdl G souit dxi-l 18 sl uld
ARRAULE U4 ¢9.

3. el@a wfll arauedl »Rell uys wen A wan eRud Awadl azu 501 ulan wew

AAE U 69,
(A) 1,243 (B) 55 1 %A 2
@:s 1203 (D) $5d 1
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058.

059.

060.

061.

062.

Match the Following List-1 with List-11

List-1 List-11
1. Ratanamahal Sanctuary a. Dangs
2. Purna wildlife Sanctuary b. Dahod
3. Shoolpaneshwar Sanctuary c. Narmada
4. Hingolgadh Sanctuary d. Rajkot
(A)1l-a 2-b, 3-c, 4-d
.1—b, 2-a, 3-¢, 4-d
(C1-c 2-d, 3-b, 4-a
(D)1-d, 2-a, 3-b, 4-c
The Dhupgarh peak belongs to
(A) The Vindhyas (B) Meghalaya hills
(C) The Aravallis .Satpura

Which of the following statements is/are correct regarding detailed report of tiger Census, 2018
released by Government of India in July, 2020?

(A) India has 70% of total global tigers population.

(B) Nearly 30% of India’s tigers live outside tiger reserve
@soth (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Rock systems in India?

1. Dharwar rock system is the highly metamorphosed rock system

2. Purana rock system includes Cuddapah and Vindhyan system

3. Dravidian rock system is found in the extra-Peninsular regions of Tamil Nadu and Telangana
(A)1,2and3 .1 and 2 only

(C) 2and 3 only (D) 1 and 3 only

Which of the following statements is/are correct regarding monsoon in India?
1. India gets Southwest monsoon winds in summers and Northeast monsoons during winters.

2. The Southwest monsoon arises due to the high pressure cells that are formed over the Siberian
and Tibetan plateaus.

3. The Arabian sea branch of the Southwest monsoon first hits the Western Ghats of the coastal
state of Kerala.

(A)1,2and 3 (B) 1 and 2 only
.1 and 3 only (D) 1 only
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063. -t U4l 56 Al / Al il Ad el € ?

(A) il aaugl 8ol — Graydlu ol dan ulamamel uan dsdl [ dsiui s aug a3
400 A.HL U3 ©.

(B) ®UR qRAIEl &sll — i &xui 200 - 300 A Hl. N HuleHi a1 HuddL 8l 20d 9.
(C) 0L 247 4 201 8ol — 4 &sll awldls 50 A.4Lofl 24691 aaue dnd .

@) Guzis axum
064. [Qaa- 201 (A9l DA A 585 A dl2l ) € ?
eN) el UsIR
1. ilaud @ — &3l [l
2. vRofluq m — el GuaslRoiflu
3. 47 W — a1 Gaasloiflu
4. HALSIHL — Mdiwa sRasiel
(A) 1,2, 344 @:s2 304
(C)$5d 1,21 3 (D) $5d 2 911 3

065. Nt WS 53 / sul (At / Q- 2] /i 9 ?
1. Gesipil venaReL (Mesosphere) Hi vl o €9,
2. yed) Guadll uARd scumi 2uadt A3UL a2l vua-iaRl ulaldd 2 9.
3. tugl »uaL (Exosphere) ¥ GwHL 2141 (Thermosphere)-l 28l 10000 (5,41, Y4l [Qdg .
4

2UUUARRL Yedll ARG 2id 2R 8 5 B waidla d AR [A5kal gL puu-lse adal aa
adls YRR sami »ud .

(A) 1,2, 3214 (B) $5d. 2, 3 ¥ 4
@51 32104 (D) $5d 2
066. -+l UL 5 Al / Adlwal =l fld AL € ?
98l CEICRIRVETE]
1. AL (Teak), HY3l (Mahua) 1 dlmul (Semul)  — Guas(2oidly v
2. tuan (Babool), dlHsi (Neem) 24 vilogsi (Khejri) — Guasl2oidla [Aea dlai
3. dluu (Rosewood) 244 usidt-l (Mahogany) — si2wu 11 5601 (Ebony)
@:s 1 (B) 5 1 %A 2
(C) $5d. 2211 3 (D)1,2x43

067. AW UL 53 / sui [ / [l 0 /a0 e ?
(A) 2R Mgl san £§ awdl uR 3l o 8 R Bsu, [Ruie a6,
(B) 531 25+dld U3 (Concentric layer) HRAddL 6125+ AY2RAU 8.
@) 211 (B) vin
(D) (A) 211 (B) U4l 415 -l
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(A) Extreme Precipitation regions — Northeastern regions and the windward side of the Western
Ghats experience an average of 400 cm of annual rainfall.

063. Which of the following pairs is/are correctly matched?

(B) Heavy Precipitation regions — The regions experiencing 200-300 cm rainfall belong to
this zone.

(C) Desert and Semi-desert Regions — These areas receive below 50 cm of rainfall.
.AII of the above

064. Which of the following pairs are correct regarding deserts in the world?

Desert Type of desert

1. Australian Desert - Cold winter

2. Arabian Desert — Sub-tropical

3. Thar Desert — Sub-tropical

4. Atacama Desert — Mild Coastal

(A)1,2,3and 4 @2 3and 4 only
(C)1,2and 3 only (D) 2 and 3 only

065. Which of the following statements is/are correct?

1. Meteors burn up in mesosphere

2. Radio waves that are transmitted from the Earth are reflected by ionosphere
3. Exosphere extends from top of the thermosphere up to 10,000 km
4

lonosphere is defined as the layer of atmosphere of the Earth that is ionized by cosmic and
solar radiation

(A)1,2,3and 4 (B) 2, 3and 4 only
.1, 3 and 4 only (D) 2 only
066. Which of the following pairs is/are correctly matched?
Trees Forest type
1. Teak, Mahua and Semul - Tropical Deciduous
2. Babool, Neem and Khejri - Tropical Evergreen
3. Rosewood and Mahogany - Thorn and Ebony
.1 only (B) 1 and 2 only
(C) 2and 3 only (D)1,2and 3

067. Which of the following statements is/are correct?
(A) Dew is caused when humid air condenses on cool surface
(B) Hail consists of masses of ice with concentric layers
@soth (») and (B)
(D) Neither (A) nor (B)
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068.

069.

070.

071.

072.

073.

074.

2 2uudL anq usRl WSl san usi-n an Aledl ay woaldu Alds (Species diversity) 421d € ?
(A) au2lldiva sRoifla an

@crasloifu wviz an

(C) unelldizm sl2oidla uiauz an

(D) unelldin slRoidlu sl ol

D2 WA 53 / sui (e / [@Qanl 2] /i 9 ?

(A) Wl buxsl (Pearl Millet) 24 Glogusll 2uotigaimi o Goudl asi €.
(B) 442 (Pigeon Pea) 2124 Mogcudfl 244 94 Y&l vuslisauni Goudl asiu 8.
(C) (A) 21 (B) i

@~ >4 (B) WA 416 ]

QA1 U4 sui [Qandl i o ?

1. Brau udamoudl Al Gria-l udamon 36l (Central) [Ruan 3 Brulg-u undl 210vn 9.
2. [RBuan udaruoul g el siaon oust [Ruan 21aq1 Raulds siun a3 sinvua 9.
3. 2ialun (inner) [R31aa xaq [Rad: (lower) [RHaa 21 [Ruad sl dls 2iovu 9,
(A) 85 1911 2 (B) $5d 2 21 3 @: 2213 (D) $5d 1 ¥ 3

1R vidlu 1ol dd Hofl 2ud €9 L suL UsIR WS (drilling) $UMi 2ud € ?
(A) sl wsH (-0 Qello)

@12 s (Riis-aiz o)

(C) Heoedlyesdl s (slacSa fefla)

(D) dtteala s (adlsa dddla)

A U 56 €l [Gusedlu Grugan [Aeuwd 53 € ?
(A) o1 @-ix (C) 20g1ad (D) (s

cuRAHL sl $o1gcll (A9l Al WA sui [Qan-l i A ?

1. UiAH (Ponam) uis $2018¢l utald 304 vu-iaaini 2ud 9.

2. uig (Podu) wis de1edfl utald ABNBAHE UM 20d 8,

3. %4 (Jhum) wis F2e1edl utald HMBAML u-lai »ud 8.

4. gxal (Kuruwa) uis $01edl utald 00mui stu-itacuui 2ud 8.

(A) 1,2, 3214 @:s 32114 (C) $5d 1241 2 (D) $5d 1,221 3

Al ouatal 2011 (A2l DA WS sl [Qeunl i o ?

1. 91 ApUl $& Al 6.7% AR Ald ardl vuiag ed.

2. Uoet Asudl g4 Al Aldl ay 2444Ad ald axdl vnad sd, 2 eani A Gl ©.

3. aRUd AL AZYRA w1l adl-i 8.19% 4d ©.

@:. 22113 (B) 55 2 241 3 (C) $5d 111 2 (D) $5d 1 244 3
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068. Which of the following type of forests has the highest species diversity?
(A) Temperate forests .Tropical forests
(C) Temperate deciduous forests (D) Temperate grass lands

069. Which of the following statements is/are correct?
(A) Pearl Millet can be cultivated under hot humid condition only
(B) Pigeon pea can be cultivated both under hot humid and hot dry condition
(C) Both (A) and (B)
.Neither (A) nor (B)

070. Which of the following statements are correct?
1. The Northernmost Himalayan ranges are called the Central Himalayas or the Himadri -

2. The Southernmost range of the Himalayan system is called the Outer Himalayas or the
Siwalik range

3. The Inner Himalayas or the lower Himalayas is also called the Himachal range

(A) 1and 2 only (B) 2 and 3 only
.1, 2and 3 (D) 1 and 3 only
071. When oil occurs under the continental shelf which kind of drilling has to be employed?
(A) Onshore drilling .Offshore drilling
(C) Fishtail drilling (D) Vertical drilling
072. Which of the following rivers divides the Peninsular plateau?
(A) Ganga .Narmada
(C) Godavari (D) Krishna

073. Which one of the following statements are not correct regarding shifting cultivation in India?
1. Ponam shifting cultivation is practised in Kerala
2. Podu shifting cultivation is practised in Andhra Pradesh
3. Jhum shifting cultivation is practised in Madhya Pradesh
4. Kuruwa shifting cultivation is practised in Assam
(A)1,2,3and 4 .3 and 4 only
(C) 1and 2 only (D) 1, 2 and 3 only

074. Which of the following statements are correct regarding census 20117
1. Gujarat was having 6.7% of Scheduled Caste population of the total population of the state

2. Punjab was having highest percentage of Scheduled Caste population of the total population
of the state, which is highest in the country

3. Gujarat accounts for 8.1% of the Scheduled Tribe population of the country.
.1, 2and 3 (B) 2 and 3 only
(C)1and2only (D) 1 and 3 only
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075. NA-u U4 sui [l i e ?
1. auig-l eudla (withdrawal) d-l 2214 52l ay 33udl eindl a2-L 6.
2. auid-l gl (withdrawal) -t 200000 $24i 4y ) oindl ae-u .
3. ARAEL AAML ARALE Ay MAAULAAL 241 YRadAglladl 421d 8.

(A) $5d 1 11 2 (B) $5d. 1 21 3
@:5 2213 (D) 1,224 3

076. 1A= WS s vi-loy ol GURAML dlg-vi-lor-t &t 08l Astudan gl ?
(A) HYHY (B) tefl-1o821 &
@iz (D) Slendl-gixde

077. -l U4l sul cudly [gusefly Gauga-l Al Hi2l a0 (unit) € ?
(A) wearl G ol (B) Hiacu-il G2 ugal
@z vz G uza (D) Renau-l G2 uga

078. [aa- uny oAt [Ael DA WA 54 / sl [t/ [Qa-l ) /wai e ?
1. [Qa 24 A Aol adwdd B.
2. ofletcfla uMA Aot 70 UEH Jutil A 7140 Yl el A WAl B.
3. ofletcfla uma Aot WU RIS aot wa 150 Yol wialell a2 wddl 8.
4. AxSA AR YRR A sral ugllaur uHARA(l uReEA Uagsn sl U B.
(A) 1,2, 3214 (B) $5d. 1,2 %1 3
(C)§53 @51 204

079. 6l 21491 [RaAndall (Ecosystem) »aal Faugal (biomes) ad-l uRad-ls &=t w2 Al Y4 sul
68 ALY €9 ?

(A) walazel (Environment) @ sicin (Ecotone)

(C) axdl (Population) (D) S5121u (Ecotope)
080. W. Koppen g 3l U517 Suellscl &2t Jdni Youed [Axag o ?

(A) Bwhw & Cwg .AW & Bshw

(C) Aw & Bwhw (D) BuRisd U4l 51 )

-\

081. et WS 5L HIEL HEIRU 53U S18L 39Y Al i 2ud 89 ?

(A) 2A-i3 [ sl (B) s4dsu wSwdu-y
@-10u Srar§ (D) ARWIRL sialdl

082. walds Adl &l IRNSS Alen {220 A5 Y wisar ulEda 6.
(A) 20 A4 @20 022
(C) 200 W2 (D) BuRisd U4l i 1l
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075. Which of the following statements are correct?
1. The withdrawal of monsoon is much more rapid phenomena than its arrival
2. The withdrawal of monsoon is much more gradual phenomena than its arrival
3. Within monsoon region there is high reliability and high variability of rainfall
(A) 1and 2 only (B) 1 and 3 only
.2 and 3 only (D)1,2and 3

076. Which one of the following mining areas is not associated with iron ore in India?

(A) Mayurbhanyj (B) Dhalli-Rajhara range
@ chandgiri (D) Bellary-Hospet

077. Which is the largest unit of the peninsular plateau of India?
(A) The Central High land (B) The Malwa Plateau
.The Deccan Plateau (D) The Meghalaya Plateau

078. Which of the following statements is/are correct regarding world’s time zones?
1. The world is divided into 24 time zones
2. The Greenwich time zone extends between 7%2° West longitude and 7%2° East longitude
3. The Greenwich time zone extends between Prime Meridian and 15° East longitude
4. The boundaries of time zones are often adjusted to conform to political boundaries
(A)1,2,3and 4 (B) 1,2 and 3 only
(C) 3only .1, 2 and 4 only

079. Which of the following terms is appropriate for the transitional area between the two diverse
ecosystems or biomes?

(A) Environment .Ecotone
(C) Population (D) Ecotope

080. Which of the following climatic types of W. Koppen is mainly spread over Gujarat state?
(A) Bwhw & Cwg .AW & Bshw
(C) Aw & Bwhw (D) None of the above

081. Dengue fever is caused due to biting of which of the following female mosquitos?

(A) Anopheles gambiae (B) Culex pipiens
.Aedes aegypti (D) Psorophora howardii
082. The IRNSS System is expected to provide a position accuracy of in the primary
service area.
(A) 20 centimeters .20 meters
(C) 200 meters (D) None of the above
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083.

084.

085.

086.

087.

088.

089.

AgIA2 MR-l [y dadauziini el dadlz wsal wel uRema sadl dusuon €. 248 yedlall
R Y- Al £2 2idR 2uddl 2usaioudl dudlz didl ©.

(A) 800 ustaan (B) 80 Hlellu- usiaan

(C) 800 [Brelut usraia @300 Dl usiaan

AluH 3 B uHIY, Alsa-u Gewer e Gualami 4 As 6, d HIRAHI IR RIEINE
Buaoy €.

(A) ydla epaiui 2uddl vall

@11 2R 217 i ani Hi-uose 3l
(C) 2num, MRy 1 Bosmui vi-umse 3dl
(D) Hena, Byt 27 RlEsHui uddla [l

sUALR SR Geuler (BT Geulgt) ial Bttt Ax1da $3 ¢9 5 % Al GualaL 53 €9 2AYAl dil
Guall 53| Wi 2ud 8.

1. @dd weudlzi 2. BGiusi 3. wdl

(A) $5d 1 211 2 (B) $5d.2

(C) 854121 3 @: 2213

ERTHERIE I HEE 53 69,

(A) & uaal wEul 2 aaaui @) vigadl via aaani

(C) A se1Hi (D) %2 Fgruasivil »id QlaHi

uuR1oLd Glod Aldivi Gualol ad Gelloll gL Nl WSl suL Huu gal-l UENSL El3UHE 20 €9 ?

(A) US2i 2 LS gL ues1d 3

(B) -2l A Ues

@152 isuSs 2 uSzu 253
(D) BuRisd U4l 51 ]

gEdl Aldll gvRv- (AR 211 ugRaA L 8g HE 8, d Ut Rimsi WlaR 262 (SSPO)
udl 514 53 69,

(A) dgaea8iz Guas (B) Adloia Guas
@i Ao Guas (D) GuRisd WA 1S Al
GAGAN A2z Adldiaq wiaum ool cliedl Yt wisal W2 (@d 9.
1. GRA2WA (DuisfsA) 2. quaulas 321 vislasw

3. 2 uaEld Al 4. AdlBian x4 neandl gl
(A) $5d 1 241 2 (B) $5d 3 ¢ 4

(C) 54 11 3 @: 23214
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083.

084.

085.

086.

087.

088.

089.

Astrosat is India’s orbiting observatory to image objects in different wavebands. The farthest
galaxy it has imaged so far lies at a distance of (from Earth)

(A) 800 light years (B) 80 million light years
(C) 800 billion light years .800 million light years

Thorium which can be used for nuclear energy production is abundantly available in India in

(A) Mines located in the Eastern States

@) ionazite sands mainly in Odisha and Andhra Pradesh
(C) Monazite sands in Assam, Manipur and Mizoram

(D) Mountain regions in Meghalaya, Tripura and Sikkim

Biotechnology Product (BT product) would include a product, which uses or derived by
using

1. Living Systems 2. Enzymes 3. Proteins

(A) 1and 2 only (B) 2 only

(C) 1and 3 only .1, 2and 3

Terminator Gene helps in

(A) Terminating flowering .Terminating seed Germination
(C) Hybridization (D) Terminating biopesticides

Which of the following are the main air pollutants released from the industry through usage of
conventional Energy Sources?

(A) Nitrogen and Hydrogen Sulphide
(B) Nitrogen and Sulphur

.Sulphur dioxide and Nitrous Oxide
(D) None of the above

A isintended for natural resource monitoring and management and operates from a Sun
Synchronous Polar Orbit (SSPO)

(A) Communication satellite (B) Navigation satellite

.Remote Sensing Satellite (D) None of the above

GAGAN satellite navigation programme is expected to bring benefits like
1. Geodynamics

2. Geographic Data Collection

3. Location based Services

4. Navigation and Safety Enhancement

(A) 1and 2 only (B) 3 and 4 only
(C)1and 3 only .1, 2,3and 4
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090.

091.

092.

093.

094.

095.

096.

097.

098.

A2 WA sul 2L AWOWAAL 512891 Al el ?
[ [KBIEKT] (B) Uil
(C) 2uavi[Brai (D) 8354l

A1 U4 5y e you old 1l ?

(A) Aslza @) ucidu 20

(C) Alvutd] vidl (D) 2ug MRl (d2 dx3)

RURAML 4G LTE 25-elloo- Ate- Hie 1A U4 sul flsa-il eies (frequency band) auia €9 ?
(A) 300 4 400 MHz @)2300 + 2400 MHz

(C) 3300 €l 3400 MHz (D) 1300 €l 1400 MHz

2uAs cule sl uReuM a3 2udd@s dd Aailbd A4l gl Qe sl udal Afdq
Auid A F(ds [Aldadiq @@ uua viag uizisia 8.

(A) HI-dlud vizisia (B) @-lau wigisia

(C) R25e1M Uizisid @: ez vicisia

28 ‘es1S2 s’ (white dwarf) dlirl MM %A 58 69,

@-ic v e (B) vlls-2uS-221 dlafle

(C) Wrs dl¥le (D) 85 3mo0l dlHle

v 580 GuAS 21a AgD AWl g121 unaldd 2l U519 a2 dHeA 5869,

(A) isAsieil (Abscorbo) (B) @wisi (Lobedo)

(C) el (Placebo) @)-1¢541 (Albedo)

HTML Sisyr2 ti-iaal Hie - U4 si-l 32 usal ?

(A) S22 @:s2 2022

(C) §-44 (D) BuRlSsd dHIM

21315 2r-ludlol tuotd A4 WA s v © ?

(A) 2185 vi--luLlal Al @aiRll AL 1A dd Gaue- s3l a5 8.

(B) He™L AHAAL 2 AAl URed AA H+ AL 8] 8.

(C) d &l [Rautdaaml 21gant sau-l waL AL ueL 41d 6.

@Guisa 04 46

A0 U £y / sui Qe / (sl 2 / i ¢ ?

(A) WEs2 NETRA 21 ¢iRdly 244519 {24 3 (ISRO) Hl uda 6.

(B) NETRA asiami s1exion il siecl duy eudla Guasin oAwHl ouetd-l wlds Adqsl
[Rizen 69,

@ ») 211 (B) vin

(D) (A) 211 (B) U4l 415 -l
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090. Which of the following diseases is not caused by the virus?

.Diphtheria (B) Measles
(C) Mumps (D) Rabies
091. Which of the following is not a major source of methane?
(A) Landfills .Mountain rivers
(C) Rice Agriculture (D) Wetlands
092. Which of the following frequency bands is used for operation of 4G LTE technology in India?
(A) 300 to 400 MHz @)2300 to 2400 MHz
(C) 3300 to 3400 MHz (D) 1300 to 1400 MHz

093. The protocol which seeks to protect biological diversity from the potential risks posed by genetically -
modified organisms resulting from modern biotechnology is called

(A) Montreal Protocol (B) Geneva Protocol
(C) Stockholm Protocol .Cartagena Protocol
094. Maximum mass of a stable white dwarf star is known as
.Chandrashekhar limit (B) Bose-Einstein limit
(C) Planck limit (D) Heisenberg limit

095. The proportion of incident light that is reflected by a surface, typically that of a planet or moon is

called as
(A) Abscorbo (B) Lobedo
(C) Placebo @~ 1bedo
096. Which of the following is required to create a HTML document?
(A) Internet .Text Editor
(C) E-mail (D) All of the above

097. Which one of the following is INCORRECT about the genetic engineering?
(A) Genetic engineering can produce organism with desired features quickly
(B) Possibility of toxicity of an organism to humans or other organisms
(C) It would also have the possibility of causing an imbalance in the ecology of a region
.None of the above

098. Which of the following statements is/are correct ?
(A) Project NETRA is an initiative by the Indian Space Research Organisation (ISRO)
(B) NETRA s an early warning system in space to detect debris and hazards to the Indian satellites.
@soth (A) and (B)
(D) Neither (A) nor (B)
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099.

100.

101.

102.

103.

D2l W) sui (el i o ?
1. 3o, A2 wid A oue sifuaidls 2sildio 2Hiwger «dlsa [Asuair x4 udlaa -1
MURd [A2ui 2sHiaL qlal eu 8.

2. B2 (YuAldls-smiaq %) s g2 Al 8 5 gHl AlH WRsd sardl U
Yui-ls 28 6.

3. wuge (Yurdidls-s1oian Jmg2) Juge xireidla B2 wA[Bnql s 9.
@:. 22113 (B) 55 2 244 3 (C) $5d 11 2 (D) $5d 1 244 3

SAA (ISRO)U U2 L1 [ann suoid DA W4 sun (e i 69 ?

1. d -l e sa 1S Auls 2wk wed A2 e oflog vase 2l volnau-ly
R 9.

2. Mo azvudui 2ulEc 1 AUH uuaEl 20 8d § B §5d AR dyasg e sra yqd
A gd.

3. B L1 Maddl 2 AR doas, 3R w1 sieiRFu-Al A0 sauHl 9.
4. dd udua 2Al-siu A2arde a2 adlsanl Guald sAA saUMi 2 e,
(A)1,2,3%1 4 @:sa 1203

(C) 8542, 321 4 (D) $5d 121 4

cRdld Guasl tuoid DA WA 56 Al Al © ?
1. EMISAT — d 28dq Sas2i-ls S-2elor- Guas €.
2. GSAT-7 — [deun uydly [z BuR AewAdgR AHA Y wdal WIS sl 20y 8.

3. CartoSat-2A — d 6last Gualdiavl ¢IRd-L WsiaHi Rada uaue 6y suiv-[A-e vmaill
AU UAH BUAS Sdl.

@:. 22113 (B) 55 2 241 3 (C) $5d 11 3 (D) $5d 1 11 2

85+ QU Iaaui-2 AR S U (DRDO) sustd - WSl st [l i ¢ ?

1. DRDO 2a1u-it 1958 Hi sl 2udl gdl.

2. DRDOl 221u-1 2121 [ady 2d-l, DSO, DTDE 4 DTDPA @udl gcugl a6 sdl.
3. DRDO il W yuu Wigs2 o+lefl g fuda gdl.

(A) $5d 2 211 3 (B) $5d 1 ¢ 3

(C) $5a 131 2 @: 2213

Hrya ant oiotd A W4 su [Qeunl i e ?

1. H-ya Al Gardl gatl A Lld 8-20 W22 Gl siu 6. 1 gail sl uiesizil qud 6.

2. Qld (Red) UsIR-UL HeYd At d2 BuR ofal 1oL 8,

3. @ (Red) 21 51 (Black) H-ya-dl nvumellui uge (White) H-ya Alell 14 Gl Gl 6.
(A) 1,243 (B) $5d 2 ¥ 3

@51 nq2 (D) $5d 1 21 3
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099.

100.

101.

102.

103.

Which of the following statements are correct?

1. India is only the fourth country in the world after the US, Russia and China to develop and
test the Hypersonic Technology Demonstrator Vehicle

2. A scramjet (supersonic combustion ramjet) is a ramjet engine in which the airflow through
the engine remains supersonic

3. Scramjet (supersonic combustion ramjet) is a variant of a ramjet airbreathing jet engine
.1, 2and 3 (B) 2 and 3 only
(C) 1and 2 only (D) 1 and 3 only

Which of the following statements are correct regarding ISRO’s Aditya L1 Mission?

1. Itis ISRO’s second space-based astronomy mission after AstroSat for a scientific expedition
to study the Sun

2.  The mission was initially named Aditya 1 which was limited to observing only the solar corona.
3. The objective of Aditya L1 mission is to study Sun’s Corona, Chromosphere and Photosphere.
4. It was launched using the Geosynchronous Satellite Launch Vehicle

(A)1,2,3and 4 @ 2and30nly

(C) 2,3 and 4 only (D) 1and 4 only

Which of the following pairs are correctly matched regarding Indian satellites?
1. EMISAT - Thisis an advanced electronic intelligence satellite.
2. GSAT-7 - was designed to provide communication capabilities over a wide oceanic region

3. CartoSat-2A — was the first dual-use satellite, with capabilities of monitoring missile launches
in India’s neighborhood

.1, 2and 3 (B) 2 and 3 only
(C) 1and 3 only (D) 1 and 2 only

Which of the following statements are correct regarding Defence Research Development
Organization (DRDO)?
1. DRDO was established in the year 1958

2. DRDO was established with merging three different organizations called DSO, DTDE
and DTDP.

3. Surface-to-Air Missile was the first major project of DRDO.
(A) 2and 3 only (B) 1 and 3 only
(C) 1and 2 only .1, 2and 3

Which of the following statements are correct regarding Mangrove Forests?

1. The trees that grow in Mangrove Forests are generally 8-20 meters high. These trees have
thick leaves.

2. Red type of Mangrove Forests are found along the coastlines
3. Compared to Red and Black mangroves, white mangroves grow at the lowest elevation.
(A)1,2and3 (B) 2 and 3 only
.1 and 2 only (D) 1 and 3 only

[RFP-2] rro. E3
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104.

105.

106.

107.

108.

D2l W 56 A dlil il dd AAdl 8 ?

1. seiz-uneisia — Fa laldud Gud dxa-
2. A udle — vulaze x4 [As

3. [3oudl AHan — ol wizisiaui YRl

(A) 1,254 3 @512 (C) $5d 2 ¥ 3 (D) $5d 131 3

A=A WS s (Qaudl i 9 ?

1. AHAUR YHAA 86U MIRA U517 ML HIRcAL [AellRHL 2nadl dHIH 2UsA (d2 A=) 28181 A4
oanaell sl $9ULd 69,

2. G AWIR IR d2 A3 (@ A Ueiv) [AuHl 2010 AHUR AHA (i sulR
a3aHL U 69,

Y

3. de A= (& 1 uein) [Rusl 2010 AlEsR g1 Rud sal wdl 42 d-su v [hawr
(drainage area) 2124l U4l &3 (catchment area) - Wl 2413l & €9,

@:. 22113 (B) $5 221 3
(C)$5d 11 3 (D) $5d 1241 2

21 U4 sui [Qandl i o ?

1. 512415 52 G1 291 Wit $27UR UAH MRAlA Ugiel 8dl.

2. qay Y-8l saisn Gl 2oL M a4y 6.

3. 2iouf@un e i 2AvigL s{lu uRL GI 2o wna 2y €.

(A) 1,243 (B) $5d 1 %1 2
(C) $5d 141 3 @523

A0 U 5y / sui Qe / (sl 2 / i ¢ ?

(A) A si36l-2 DNA (rDNA) i Guaid @48ls vi-e-ludlomi ai 6.

(B) usHi- sinHi [d23)l DNA g1va $cun o+l g2didel (Gene Transfer) 58 69,
@ ») 211 (B) vid

(D) (A) 21 (B) U4l 518 1l

25002l oloid DAL WA s [Qan-l i ¢ ?

1. A, B, O 5do uttld A1 Us1R-L 2542, A, B, AB 24 O -l ol 69,

2. 5el9g8L YUA AU 5581 BUR w1 rUHIH 2ud Al AR 2 2ol uR 2nald ©.
3. (2% 2 26U oI WA Ui €.

4. di[r2% vsuimi i 9 A l2odo Al 551l Al GuR Siu 6.
@51 2013 (B) $51.2, 321 4

(C) $5a 121 4 (D) 1,2, 344
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104.

105.

106.

107.

108.

Which of the following pairs are correctly matched?

1. Cartagena Protocol - Convention on Biological Diversity

2. Rio Summit- Environment and Development

3. Kigali Convention - amendment to Nagoya Protocol
(A)1,2and3 .1 and 2 only
(C) 2and 3 only (D) 1 and 3 only

Which of the following statements are correct?

1. Under Ramsar Convention, it is mandatory on the part of the Government of India to protect
and conserve all the wetlands in the territory of India.

2. The Wetlands (Conservation and Management) Rules, 2010 were framed by the Government
of India based on the recommendations of the Ramsar Convention.

3. The Wetlands (Conservation and Management) Rules, 2010 also encompass the drainage area
or catchment regions of the wetlands as determined by the authority.

.1, 2and 3 (B) 2 and 3 only
(C) 1and 3 only (D) 1 and 2 only

Which of the following statements are correct?

1. Kashmiri Saffron is the first Indian product to get Gl tag

2. Pethapur Printing Blocks have received Gl Tagging

3. Tangaliya Shawl, Sankheda Furniture have also received the Gl tag
(A)1,2and 3 (B) 1 and 2 only

(C) 1 and 3 only @): and 30nly

Which of the following statements is/are correct?

(A) Recombinant DNA (rDNA) is used in genetic engineering

(B) Introducing foreign DNA into Host cell is called as Gene Transfer
@soth (») and (B)

(D) Neither (A) nor (B)

Which of the following statements are correct regarding Blood Groups?
1. TheA, B, O blood group system consists of 4 types of blood group — A, B, AB and O

2. Blood Groups are mainly based on the antigens and antibodies on red blood cells and in the
plasma.

3. Both antigens and antibodies are protein molecules

4. Antigens are present in the Plasma and antibodies on the surface of Red Blood Cells
.1, 2 and 3 only (B) 2, 3and 4 only

(C)1and 4 only (D)1,2,3and 4

[RFP-2] [PT.0.
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109. {l2lui AR ouord A1 WA sui (Al i e ?
1. i3 UeHi -l audl 2udai siu 8.
2. vigrasl s amiaaHl suggHi ued gl ussital Siu 9.
3. Wlegedl MR, -l 2l 2144 A Qe 20l Y3 2 2R - 8.
@:. 22113 (B) $5d 2 241 3
(C) $5d 121 3 (D) $5d. 1241 2

110. i AR ouotd A WS sun [l i ¢ ?
1. Wy AdidA HI% U 52U Rl 6.
oY hY oY

2. ulRdl Adid= (Peripheral nervous system) AdiAl-ll i suridgrll AR2AIAL, 5 2 Waer 21
$AIRBYHL 1 B, AHIdA 52 9.

3. alasidx dldl 244 Yl ad- nadl igdld 52 8.
(A)1,2243 (B) $5d 2 %11 3
(C) 54 L 94 2 @5 L1243

111, a3eura suotd DA Ul sun Qe i 6 ?
1. ageua ¥81y-ugilid (ship-launched), [QAostflel adl 2i-El-uoiudq 2idlsl 8.

2. dudd nHaE-L ysierandl uRRAMHE (Countermeasures environment), GlstL dnos e9l9Ri, oiAl
wellHi, 2lid AeRHIAIA qguls sl A&H 6.

3. dad 2025 YHlui curdly ASIENHE eMd sUMT 21ad.
(A)1,2%13 @512
(C) $5d. 2211 3 (D) $5d. 1241 3

112, INS s@asl euotd A4 U sui [Qan-l i e ?
1. $aa3l ol 21 gl adldl daa-Sdsds 225 uetul-l .
2. d GURAHL si-t-UR 51U (Scorpene) @il 6lle AoHA 69,
3. d MRd Asienul erma 21 Al 2eid- [Bi-uHig, dd (stealth) AR 6.

(A) $5d. 1 211 2 (B) $5d 2 ¢ 3
@:5 1203 (D) 1,224 3
113, % uoldatl HdL vl 240 woaldidl Ayeiul 8-l audl 158 sl gl dq 58 9.
(A) ¥as (Indicator) ualdil @0 (Keystone) walail
(C) 2lAs (Endemic) wealdl (D) 4 adl (Endangered) wealdil

114, @S2 s1wi2 %152 YAs (LCA) 2 DA W4 sy 2P [Qsaaami 2udl 26 & ?
(A) [as (B) 3%d¥,
@:Q (D) ¢l
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109. Which of the following statements are correct regarding glands in female?
1. Ovaries are situated in the lower abdomen
2. Apair of ovaries are held by membranes beside the uterus.
3. Pituitary gland, Mammary glands and Adrenal glands are common in male and female
.1, 2and 3 (B) 2and 3 only
(C) 1and 3 only (D) 1 and 2 only

110. Which of the following statements are correct regarding Human Body?
1. The central nervous system contains the brain and the spinal cord

2. The peripheral nervous system includes nerves and ganglia that are present inside the brain

and spinal cord. -
3. Lymphatic system maintains the balance of fluid between the blood and tissues
(A)1,2and 3 (B) 2 and 3 only
(C)1and2only .1 and 3 only

111.  Which of the following statements are correct regarding Varunastra?
1. Varunastra is a ship-launched, electrically-propelled anti-submarine torpedo

2. It is capable of targeting quiet submarines, both in deep and shallow waters in an intense
countermeasures environment.

3. It will be inducted into Indian navy by the year 2025
(A)1,2and3 .1 and 2 only
(C)2and 3 only (D) 1 and 3 only

112.  Which of the following statements are correct regarding INS Kalvari?
1. Kalvari class is an indigenous class of diesel-electric attack submarines
2. Itis the second Scorpene-class submarine to be made in India.

3. Itis the most modern non-nuclear stealth submarine to be inducted into the Indian Navy

(A) 1and 2 only (B) 2 and 3 only
.1 and 3 only (D)1,2and 3
113. The species determining the ability of a large number of other species to persist in a community
are called
(A) Indicator species .Keystone species
(C) Endemic species (D) Endangered species

114. Which of the following engines is being developed for Light Combat Aircraft (LCA)?
(A) Vikas (B) Rustom
.Kaveri (D) Bhima

[RFP-2] rro. EJ
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115.

116.

117.

118.

119.
120.

121.

A1 Q4L s Qe i 9 ?
1. W2 2 uRudl 5[R 2t 5125 Wl 8.
2. sRA sidl (Escherirchia Coli) A1HIRA Sld HARIAL HI2L ATASIHE AL €9,
3. wiellui gien [3eiell 2uduiziv anmugun s 9.
(A) 554 111 3 @:s 1212
(C) $5d. 2 211 3 (D)1,2x43
av (e, [Qendflai 214 walsin G2 dpaariawdl Aalds wmadl y wsa W GSAT-15

GuaeHl Guaial 531 24 x 7 -1l MIREL 32 Direct to Home (DTH) 2elldloin AnaiA staill<id seu -l
wgse 8.

(A) SWAYAM @&@)s\WAYAMPRABHA
(C) [Qendl (D) BuRisd U4l 51 )

UL dwus (Corona) &g A s WS ABAHL AN SAURT 2udal AU AR Wty
UMY O ?

(A) $IRi-1L ALAR UL (B) QluiosR AR ULt
(C) Mecul2u AR ot @42z vio
uog eRUA 6 ol a2 2uddls Rl Aneqnedl-l aequq 58 8.

(A) 2ayAlY Y2858 (Chromosomal recombination)
.Q'OR@;[IQ WR $g (Chromosomal crossover)

(©) Q'Ol-‘ejgﬂbl s (Chromosomal translocation)

(D) 2ayAlu yr:asasll (Chromosomal rearrangement)

(3eucoll urmgy 525121 eRairt NA-1 U s aoll / (300 Geurt i 6 ?

(A) S+5133 (301 (B) us1a d3au

(C) a-[3uil @-vu Bruil

Haygw Al Aysd B2 Gers 9.

(A) YR, afleiad x4 afaset (B) udlulq, [Qvixe »i4 aflmias
(C) [avizat, nélei 2 caldsa @ cvize, aleiant 27 viad+
Higsu 3518 6.

(A) 2Aid_REA HE T HR1AAL A Beurld, 229223 9 § ol [Raud-Alu (ecological) dpRuHaion 335120
UL 9, UL WL £ A Al AcuarL 69,

(B) ¥zl (UNESCO) g1Rl [Reuiang, »ulaia w2l (Biosphere Reserves)d, 22022 €.

@) vtiR2lu 1T BR1ad d2dsHl wigl ur- d2dss (Guseyfd) 2l @222 8 3 wui uRRA
[Anas (ecological) dpataHain 25121 a8,

(D) 3 dlze s 4 aed srordaqt gllu u-l [Agra adl Al 2222 8.
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115.

116.

117.

118.

119.

120.

121.

Which of the following statements are correct?

1. Disease causing agents include protozoa and parasitic worms

2. Escherichia coli normally grows in the large intestine of human beings
3. Water soluble radioactive isotopes don’t create water pollution

(A) 1and 3 only .1 and 2 only
(C)2and 3 only (D)1,2and 3

is a project for operationalising 32 Direct to Home (DTH) Television channels on 24x7
basis using the GSAT-15 satellite for providing high quality educational content to all teachers,

students and citizens.
(A) SWAYAM @)s\AYAMPRABHA
(C) Vidyarthi (D) None of the above

What is the name of NASA’s Solar Probe launched recently to explore corona region of the Sun?

(A) Corona Solar Probe (B) Voyager Solar Probe
(C) Atlantis Solar Probe .Parker Solar Probe

The phenomenon of exchange of genetic material between two chromosomes during sexual

reproduction is called

(A) Chromosomal recombination
.Chromosomal crossover

(C) Chromosomal translocation
(D) Chromosomal rearrangement

Which of the following waves/rays are produced during radioactive nuclear changes?

(A) Infrared rays (B) Light waves
(C) X-rays .Gama rays

The Rainbow is an example of combined phenomena of
(A) Reflection, Refraction and Interference

(B) Scattering, Dispersion and refraction

(C) Dispersion, Scattering and Interference
.Dispersion, Refraction and Reflection

The Montreux Record is

(A) aregister of National Parks of International importance where changes in ecological character

have occurred, are occurring, or are likely to occur
(B) a register of Biosphere Reserves maintained by UNESCO

.a register of wetland sites on the list of Wetlands of International Importance where changes

in ecological character are recorded

(D) a register of endangered species on the Red List of the World Conservation Union

[RFP-2]
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122.

123.

124,

125.

126.

127.

128.

2UR(Ad P 13 (Biosphere Reserves) )4 Geltrl 24 2460181 5 24 Sld 24421u3 8 5 d (2uBid
ul2s0) .

(A) Al Hrl uda sau-l Hogdl Al

@ +is gerdl QR © opui A sl ol B : 2iaw, 2516 Qs 2 Asulis el 214 R
(C) usllAl sl atRuldxil GuR ay i Ui 214 69,

(D) AHA [Aauidfl amal diacqiml 204 € 244 d2iA euld Udl W2 ndl quami »ud €.

e WAL Si-L -2l (in-situ) srAAAAHL AHAA SAUML 2ineul ) ?

(A) A Genn (B) AcUIREL

@254 oud (D) 2uR(81q Fa ¥sn (Biosphere reserve)

el A WAL 56 uda w2 el ¢ ?

(A) 2R st gi2L gedl AAldig aaraun

@2 aisi
N

GIRL YU AU
(C) 2u[Rs A5l g1 AL HELHLT, cuaAUA
4

(D) 225 disl gl aruarty A

a-y, el e vAR[Run, 1972 cudui DA W8 208d [QediRiqi su a2t s s € ?

(A) u2Ba Fa Hsn (B) (A2 412 2an

(C) well 22lAq @20 (Rizaw) wlAd

MIRALAL 1L UUIE]L Sdtl HIE BUALY QLA dAHIH ULl AL yaladis 860 »ud 8.
(A) 0d)u Fa [l Arrisny @2 Balalaua eid

(C) Ba [alaaar Auan afldi (D) clRrop HA4A, HIRd ASIR

¥a (Al dna afldig yeu sl 8.

(A) umsmi Ba [alduag e s2d.

@[ sl 8 vl 240 Nuen suisinaAdlél 2222 AuR 524,
(C) ¥a [aldudr i Asidl wraor-i-l [Es Auetdl Yau sl

(D) ¥4 [Alasari cueiil umar-iiml A adaell YRl sdl.

RURAML Ful Blorg A AN dal -l A4 Wi gk siville (composite)
uRard [Agsll lew .

(A) @rreti $HIRL (Lantana Camara)

@) e -Num 2221814 (Parthenium hysterophorus)
(C) 395 Aula-dl1 (Rumex Nepalensis)

(D) »u3(H~ W[Eust-1l (Argemone Mexicana)
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122.

123.

124,

125.

126.

127.

128.

Biosphere reserves are different from the National Parks and Wildlife Sanctuaries as in the
former:

(A) Human beings are not allowed to enter

.A natural area in which three functions are allowed : conservation, sustainable development
and scientific research and education.

(C) Plants are paid greater attention than the animals
(D) Living organisms are brought from all over the world and preserved for posterity

Which one of the following is not included under in-situ conservation?
(A) National park (B) Sanctuary
.Botanical garden (D) Biosphere reserve

Sukhomajri is known for which of the following initiatives?
(A) Natural Resource Management by local people
.Water Management by local people

(C) Grasslands Management by local people

(D) Wildlife Management by local people

Wildlife Protection Act, 1972, provides for which of the following categories of Protected Areas in
India?

(A) Biosphere Reserve (B) World Heritage Site

(C) Elephant Reserve .Conservation Reserve

All matters relating to access by Indians for commercial purposes fall under the purview of
the

(A) National Biodiversity Authority
.State Biodiversity Boards
(C) Biodiversity Management Committees

(D) Ministry of Commerce, Government of India

The main function of the Biodiversity Management Committees is to

(A) conserve biological diversity in a village

.prepare People's Biodiversity Register in consultation with local people
(C) protect intellectual property of the villagers related to biodiversity

(D) ensure equal distribution of benefits from biodiversity among the villagers

An exotic weed, belonging to family composite, gregariously growing in India and responsible for
respiratory and skin allergy is

(A) Lantana camara .Parthenium hysterophorus
(C) Rumex nepalensis (D) Argemone mexicana

[RFP-2] rro. 53
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129.

130.

131.

132.

133.

134.

135.

G231, 21dls (trophic) 2R viiLs gvdl (Food chain) G121 Adi AR A 55 1A

(A) 32isl5a- (Eutrophication)
@-iio-s13 2 (Biomagnification)

(C) viaiudl (Allopathy)

(D) 2 S¥iellars 3an (lon immobilization)

QURARE LA WAL 5UL AN NAH UL SUHIL AY S AL UdRAUA LA BEMa 2l ?

(A) sis2 an (e, e9rdlaole
@014 an [euoy, ulan vioun

(B) tucntane a-t [deuol, uemgal
(D) elaw sidL an [acud, dje1d

RURA AR IR AL scUu 20dd a-llsRAl AdlA aglor v
@222 [q a-ilmi (managed forests) B4 [AlAady Az Hua uawdls@ (main streaming) 534,
(B) 2auRs aygral-l suaixin (biomass) Hidtdl yeder sl
(C) antll [Ra-d= Al yeuis

(D) (R yrt:2auq i1 dl2els daqud-2

A2 WA stei--n su1 ulEu ayal (pools) yedl Gur Al [Aeun € 214 1ol aflusaui A Hiel

s 2 69 ?
(A) AR08

(C) M ya Alsu ugial

CITES al2aau

(A) [@a-u
@R

wid 204 6.

(B) aula-t a-uld

@i

(B) ailReen
(D) ARiedl

BUR GIR Y3 €9,

58 69,

-\

22013 auiell ag g5 2und [ o il uldrias (buffering) axdl Gu UH12 AV 8. gsuq i

Alell ay, 2l ul sl AR (layer)

8.

@ u1av 219 21 SEun d AoARuH v1d

(B) Way] 244 yrsu Sleaum dan HoAldum 41

(C) Wiay] 244 yest s[Run ug 2iieg AAQuH 41d
(D) g 211 yrstn s[RuH da WoAdlQuwn qud

“PESA” ouotd, -0 U4 sau [Qannl i o ?

1. oA ulAldan 1995 i Yud sUH 20dd AHSAUA 2R AAuS Y Wl s YAud
(Flsu-un g 4 A3yes Alu) w1lalRuw, 19967 asl.

2. PESA nlR[RuM Huucd AL 21 HYAR-AA a0 Sl o) 2aleonld axdld, alwe 04
28181 2uald Gaeu 41d 8.

3. AL AR Beadl, i3, lle, UAHSIA U Al Ayeiudl PESA [AdiRl 8t 2uadl

AdiHi el 69,
@:s 1202

(B) $5d 2 ¥ 3

(C) $5d 1241 3

(D) 1,243
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129.

130.

131.

132.

133.

134.

135.

Concentration of chemicals through the food chain at higher trophic level is called
(A) Eutrophication .Biomagnification
(C) Allopathy (D) lon immobilization

The concept of Joint Forest Management in India originated based on first effort in which of the
following places?

(A) Kankar Forest Division, Chhattisgarh
(B) Balaghat Forest Division, Madhya Pradesh
.Arabari Forest Division, West Bengal
(D) South Dangs Forest Division, Gujarat

New Working Plan Code of Forestry issued by Government of India emphasizes on
.Mainstreaming biodiversity conservation in managed forests

(B) Meeting biomass demands of the local communities

(C) Valuation of Ecosystem Services from the forests

(D) Eco-restoration and watershed development

Which of the following active pools of carbon is the largest on Earth and contributes the most to
carbon cycling?

(A) The atmosphere (B) Rain-forest vegetation
(C) Dead organic matter in soil .The oceans

The CITES Secretariat is located at
(A) Vienna (B) Washington
@ceneva (D) Nairobi

Acid rain damage depends on the buffering capacity of the soils in a given region. Damage will be
greatest where soil layer is

.thin and contains little calcium and magnesium

(B) thin and contains abundant calcium and magnesium

(C) thin and contains abundant calcium but little magnesium
(D) thick and contains abundant calcium and magnesium

Which of the following statements on “PESA” are correct?

1. On the basis of the report of the Bhuria Committee submitted in 1995, Parliament enacted
“The Provision of the Panchayats (Extention to the Scheduled Areas) Act, 1996”.

2. PESA Act mainly aims to protect the tribal population from exploitation by making Gram
Sabha and Gram Panchayat centres of self governance.

3. In Gujarat 4 districts namely Dangs, Dahod, Panchmahal and Tapi are fully covered under
PESA areas.

.1 and 2 only (B) 2 and 3 only
(C)1and 3 only (D)1,2and 3

[RFP-2] rro. B3
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136. A A4 su1 [Qeunl ulanae Faldldudl siexuied e agin & ?
1. ufam we 5000 9l Gurid s@eis, 139 Azd-t wallil, 508 uallzil 214 179 Gouadlzil uriag [Au-u
aldldudl sizxuiz Wil s 6.
2. ulfw weni 2AeHi 2469l 325 Als g adl woalda wa 6.
3. ulaw aewi 2695 Hle: i S0 vudg Syl Aldl Gy [ .
4. lm wed sl (UNESCO) [ 42182 2am ddls aiiaumi »ud 6.

(A) $5d 1 211 2 (B) $5d 2 21 3
(C) 8541, 2241 3 @: 23214
137. Wl di2isia A adnd ¢,

(A) RARan 3qaun-z aua

(B) 246 [asn

@3 (as 2irua-iql Guactl (access) 2 awt adawll (benefit sharing)
(D) @y ulRad- au (climate change mitigation)

138, uaiarella 2142 usRell-l uEuni sl Al s1 e ?
(A) sidgix [Zad 24 (scoping), U253 (screening), Heuis (evaluation), »us1Rell (assessment)
@ u2as20 (screening), siddia RPad 524 (scoping), 2usRell (assessment), 4euis- (evaluation)
(C) swdaix [MfZad 524 (scoping), 2usiell (assessment), Heuis+t (evaluation), Yeas2wL (screening)
(D) 2usRell (assessment), Heuis+ (evaluation), Yeas2wL (screening), s1léi=t [(RfRd $24 (scoping)

139. uldgnor AMRA xnéue A4 Q@R 69,
(A) ol Guaiol 21 A8 2uir -l ulsaii-l 3o
@) vuiaze 217 a2 QA ad Qe siRaegd WEai- yara
(C) Al yulazel Alld 8t nadHir [RuHi-l YL
(D) [sruaal wgse-l w1l YRlad sa [Ranid yaen

140. DA UL 56 uonld 2orAAHi )l ?
(A) gl (8 A2 S=flud siuzs) (B) Raiz (soul t129)
(C) WRHIR (AuR selidlsH) @Al laz (A0 3-51dlw)

-

141, QAW AA 5y / s Qe / [Qal AL (5131) Wiegsed, ) anl 9 ?
1. 20 BE2 MRAHL 25 (S5t 33 28 WS A3 SAUHL 21l Sdl.
2. GURAHD HI2LHLOLAL SL3L UM A3UHL Al HOL 8,
3. Al [Ax 20207l ygu- 4R 3L v qguis 5000 €.
(A) §5d 1 @:s 1242

(C) $5d. 2 211 3 (D) 1,2x3
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136. Which of the following statements are the correct description of Western ghats biodiversity

137.

138.

139.

140.

141.

hotspot?

1. The Western ghats are one of the world’s biodiversity hotspots with over 5000 flowering

plants, 139 mammals, 508 birds and 179 amphibian species
2. At least 325 globally threatened species occur in Western ghats.
3. At 2695 meters, Mt. Anamudi in Kerala is the highest peak in Western ghats
4. The Western ghats are considered as a UNESCO World Heritage site.
(A) 1and 2 only (B) 2 and 3 only
(C) 1,2 and 3 only @:23and4

Nagoya Protocol refers to

(A) Millennium Development Goal

(B) Sustainable Development

.Access and Benefit Sharing of Biological Resources
(D) Climate Change Mitigation

Which is the correct order in the Environmental Impact Assessment process?
(A) Scoping, Screening, Evaluation, Assessment
.Screening, Scoping, Assessment, Evaluation
(C) Scoping, Assessment, Evaluation, Screening
(D) Assessment, Evaluation, Screening, Scoping

The Govindrajan Committee Report deals with

(A) Reforming procedures for land use and urban planning

.Reforming procedures that cause delays due to environment and forest clearances

(C) Reforming the existing rules under National Environment Policy
(D) Reforming Rules for ensuring impacts of developmental projects

Which of the following species is not found in Gujarat?
(A) The Great Indian Bustard

(B) Houbara Bustard

(C) Lesser Florican

.Swamp Francolin

Which of the following statements is/are correct description of Rhino Project?

1. This project mostly was started for the protection of One Horned Rhino of India.

2. In India most of the Rhions are found in Assam state.

3. According to the strategy of “Rhino Vision 2020”, an increase in the numbers of Rhinos is

targeted at 5000.

(A) 1 only .1 and 2 only
(C) 2and 3 only (D)1,2and 3
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142.

143.

144,

145.

146.

147.

148.

149.

ol [(Frumi A1 Ul sy Qs vl ¢ ?

(A) A3Ud §& 11.04% (A1 a-la@ 81 41d 8.

(B) AA23ud A% 202 4.26% (A1 %014l 61812 2udd gl S0 2ud 8.
(C) And MRAHI Al aivil edluisiol 4ud 6.

@):1 21 cu1RAAL 50% $2di At Ayt art BR1d 8.

A2l Wl sUL AR AYARAAH A HOLell 1) ?

(A) s AL ax @i e ar

(C) adlu sagdly ol (D) ysiltiun 2501

Aysd A Ayl suel sarad g, wwRs amne Guaia W [QRre wlls [Qzar
(Exclusive Economic Zone) AL AMHilEd sami >ucl 9.

(A) 50 HIlsa wda (B) 100 -iélsa Wsa

(C) 150 154 WiSa @200 1054 wSa

1991-92 e2(Ru 2;awdg COMAPS 1 Qg ©.

(A) aNdl a-dls0L i A 20U 2lsaRl (Compensatory Afforestation Management
Planning System)

(B) AHE 2ud cuae 12 Ae™I 2udvid (Participatory mapping)
@) < Rusic Rz 27 21004
(D) uygra-dl 2108l A AR

arl 202041 posnani 2ARusS Rist Dai-u W4 su1 uiziiziq (protozoan) 9L $1R81 Yey A ?

@:io 20w (Babesiosis) (B) Anoudiau (Amebiasis)
(C) sislasiailau (Coccidiosis) (D) PR (Giardiasis)
Aol @dld 8l HI2 agnH A, 25U R 8.

@) Guoun ) dle: (B) 5 [.2um / dl2?

(C) 6 [R.aum / dle= (D) 3 [R.aum / dleR

918 BUR gttt UM HUR suoid wiLdl sl 2wkl

(A) 51RA (Necrosis) — SiHld 2510 Hey,

(B) saiRi[Ax (Chlorosis) — WIg312Al AYRd sAlRSIA 6i-ud €
@10l (Bagassosis) — €ifl2il A Wy

(D) 26U (Abscission) — WlESIAlg, HALS W

Y =\

ugusia 2l dau / didl wisar W2 e9is-l Guadla 530 gl s well-u [Agglsa-dl ulsan
58 9.

@ 122020025 (Phytoremediation) (B) cualzA24-2211 (Bioaugmentation)
(C) suaiisyy A (Bioaccumulation) (D) sridlfludlosn (Phytoperiodism)
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142.

143.

144,

145.

146.

147.

148.

149.

Which of the following statements is incorrect in case of Gujarat?

(A) Gujarat has a total of 11.04% area under forest cover

(B) Nearly 4.26% area of the Gujarat state falls under trees outside forest
(C) Gujarat has the largest coastline in India

.Gujarat accounts for more than 50% of India’s mangrove forests

Which of the following forest types is not found in Gujarat?
(A) Dry teak forests .Moist Sal forests
(C) Littoral swamp forests (D) Euphorbia scrub

delimited to
(A) 50 Nautical Miles (B) 100 Nautical Miles
(C) 150 Nautical Miles .200 Nautical Miles

As per the UN Convention on Law of Sea, Exclusive Economic Zone for economic exploitation is -

COMAPS established during 1991-92, deals with

(A) Compensatory Afforestation and Management Planning System
(B) Community Based Management and Participatory Mapping
.Coastal Ocean Monitoring and Prediction

(D) Prediction and Management of Community Forests

Due to which of the following protozoan diseases, Asiatic lions died in Gujarat in the year 2020?
.Babesiosis (B) Amebiasis
(C) Coccidiosis (D) Giardiasis

Minimum dissolved oxygen level required for fishes to survive is

@: moiL (B) 5 mg/L
(C) 6 mg/L (D) 3mg/L

Find the incorrect pair regarding the effect of air pollution on plants.
(A) Necrosis — Premature death of cells

(B) Chlorosis — Leaves produce insufficient chlorophyll
.Bagassosis — Stems gets affected

(D) Abscission — Sudden dropping of leaves

The process of decontaminating soil or water by using plants to absorb/breakdown pollutants
is called

.Phytoremediation (B) Bioaugmentation
(C) Bioaccumulation (D) Phytoperiodism

[RFP-2] rro. 3
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150.

151.

152.

153.

154.

AYsa AL vueL 1 5 26408 gL HIRAHE 1A W s [Qudu werayel 5[ 418 2l 45

(AYysd scuml 2nean 69 ?

1. 511y uudid Rd=

2. allAuIA uuRoid Al $EIR
3. 23 uys AWl N3 sRdA
4. gxaidL Al & sRdA

(A) $5d. 1,221 3

@:s 1203

AR AU Udoly 8.

@ 250
(C) lsis Ul

Al w1El-A 1 i€l-B d Al

ael-A

1. slusaRsgl-udd grsaiRiddq (44)
2. RisAlRada use

3. 2i[A3 aul

4. deioid Aoy

(A) 1-d, 2-c, 3-b, 4-a

(C)1-b, 2-¢c, 3-d, 4-a

(B) $5d. 2, 3 ¢ 4
(D) $5d 1,2 211 4

(B) &y 21512
(D) 6y HiMin,

wel-B

a. CO, CO,

b. Y

c. ¥las [Qglas@

d. SO,

(B) 1-a, 2-¢, 3-b, 4-d
@:.-c203-d4-a

arq@art ARAUHL DA U4 56 & as-llsi (field techniques) € ?

1. Qi 2rdse
2. sugrey 25l
3. Al 2144
4. 39124l

(A) $5d.1, 221 3
@Guisa arun

(B) $5d. 2, 3 ¥ 4
(D) BuRisd U4 418 1]

And A Goya-u —uuaanidl Da-u U6 sal / sa ERAun [ 2ERaHL 1R wual /i 6 ?

(A) ara2q (&) xA[8Ran, 1972

(B) 234 wiofd 244 240 uuRedid aladlzil (ad 2RI Hiady) 2«08, 2006

@ ») i (B) vind
(D) an (A=&e) xA@[Run, 1980

[RFP-2]
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150. Which of following are disignated as Globally Important Agricultural Heritage sites in India by
Food and Agriculture Organization of the United Nations?

1. Koraput Traditional Agriculture System

2. Wannian Traditional rice culture

3. Kuttanad below sea level farming system

4. Damyang Bamboo field Agriculture System

(A) 1,2and 3 only (B) 2, 3and 4 only

.1 and 3 only (D) 1,2 and 4 only
151. State butterfly of Gujarat is

.Plain Tiger (B) Blue Tiger

(C) Peacock Pansy (D) Blue Mormon

152. Match the following List-A with List-B

List-A List-B

1. Dichlorodiphenyl trichloroethane (DDT) a. CO, CO,

2. Peroxyacetyl nitrate (PAN) b. Smog

3. Acid Rain c. Biological Magnification
4. Global Warming d. SO,

(A) 1-d, 2-¢, 3-b, 4-a
(B) 1-a, 2-¢, 3-b, 4-d
(C)1-b, 2-¢, 3-d, 4-a
.1-c, 2-b, 3-d, 4-a

153. Which of the following are the field techniques used in wildlife studies?
1. Line Transect
2. Quadrants Technique
3. Radio Telemetry
4. Camera trapping
(A)1,2and 3only (B) 2, 3and 4 only
.AII of the above (D) None of the above.

154. Which important Act(s) have been kept out of National Green Tribunal’s jurisdiction?
(A) Wildlife (Protection) Act, 1972

(B) Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights)
Act, 2006

@ Both (») and (B)
(D) The Forest (Conservation) Act, 1980

[RFP-2] rro. B8
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155.

156.

157.

158.

159.

160.

161.

RURdrL Ay AL BUR a0 [Auus (spatial) 32161l 2152015201, AsA, AASRL A UAR $4 HI2
A1 Q4L 56 alse ian Al viog-Al als sl 53 69 ?

(A) Sflur Swdleye viis 5132 HAgHr2

@132 ud »ils S

(C) udes ads Srrdleye 2iis S-fla

(D) §-dlunt 516-e 25 51322 DU 23 vpY5AL

U 2+ Yau Hie A WS sy sd-a & ?
@ ciu s--an (B) Blb =it
(C) Hi-dlud a2 (D) 2215814 $d-ant

Briryd iRdHi D2 Wl $4 ARiaR [Qud 2AsHiA dd Ardlu Geurt 41d 8 ?
(A) EHEHL AJAAR (B) Al-UR ARUAR
(C) MRAUMSIZL AR @ciisus wiar

sa uguelll vjefl2 521524 ugiil anan w2 A1 WS sul suel Sl duer Awd ugdeL (=l oilé
ATl 20 €9 ?

@< (nzun Rara 23 Rd) g xfRuam

(B) vularat (&) xEMAun

(C) sl (MMt [Reuet 24 [Rizer) [Ruml

(D) 2116552l s eM$U Aze (HAA%Hr2 wirs d=3ellol) 3

-\

a1 WA sin 8o Al sAlRISAIRL 161 (CFC) o Bulert 2434 s lsIRaumi 20y ¢ ?
(A) Slundarn Masia @ -Quaidisia

AN

(C) ugnat [Rare vAE[Ran (D) sui2l wiaisia

auRdrL AL U4 su suel Ss0 ualaRl AR U180 (Environmental Impact Assessment) (EI1A)
52ULd ¢ ?

(A) ARl an x[@[Run (B) sl (UedRl MRl 41 (A1) 2fERan
(C) aruma A& xA[MRun @ uuicze (Rizaw) uBRu

A5l Al

1. AL (Teak) a. s1Wsu slad-Adla (Ficus benghalensis)

2. dlmsi (Neem) b. $%HL &ldu (Curcuma longa)

3. 8MER (Turmeric)  c. 2xBd3u21 $+8s1 (Azadirachta indica)

4. 43 (Banyan) d. 2s2i-u w-élA (Tectona grandis)

@:.-d2c3-b4-a (B) 1-a, 2-b, 3-¢, 4-d

(C)1-a 2-b, 3-d, 4-c (D) 1-d, 2-¢c, 3-a, 4-b

[RFP-2] [Contd.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


155. Which of the following forestry institutions acts as a nodal agency for collecting, compiling, storing
and disseminating spatial database on forest resources of India?

(A) Indian Institute of Forest Management

.Forest Survey of India

(C) Wildlife Institute of India

(D) Indian Council of Forestry Research and Education

156. Which of the following conventions deals with the protection of ozone layer?
.Vienna Convention (B) Basel Convention
(C) Montreal Protocol (D) Stockholm Convention

157. Which of the following lakes in Northeast India has the world’s only floating National Park?
(A) Damdama Lake (B) Lonar Lake
(C) Sasthamcotta Lake .Loktak Lake

158. Which of the following environmental laws empowers the Central and State Pollution Control
Boards to meet with grave emergencies of air pollution?

.Air (Prevention and Control of Pollution) Amendment Act

(B) Environment (Protection) Act

(C) Air (Prevention and Control of Pollution) Rules

(D) Objective of Hazardous Waste (Management and Handling) Rules

159. Under which of the following it is agreed to reduce Global Chlorofluorocarbons production

by half?
(A) Copenhagen Protocol .Montreal Protocol
(C) Pollution Prevention Act (D) Kyoto Protocol

160. Environmental Impact Assessment (EIA) is mandatory under which one of the following Indian
legislations?
(A) Indian Forest Act
(B) Air (Prevention and Control of Pollution) Act
(C) Wildlife Protection Act
.Environment (Protection) Act

161. Match the Column:

1. Teak a. Ficus benghalensis

2. Neem b. Curcuma longa

3. Turmeric c. Azadirachta indica

4. Banyan d. Tectona grandis

@:.:d2c3-b4-a (B) 1-a, 2-b, 3-c, 4-d
(C)1-a 2-b, 3-d, 4-c (D) 1-d, 2-¢c, 3-a, 4-b

[RFP-2] rro. B3
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162.

163.

164.

165.

166.

167.

168.

169.

2516 [Asn LUl (SDGs) tuotd DA WA 53 [Qsunt / sun [Qeunl e /i & ?
1. 256 [As @il 2000 Al 2015 1 Amuousu W2 [RElld seumi 2ueai .

2. SDGs 21 uRuR A3dal dlus wai-l Aus 9.

3. 2Adly AHAAL WaL SDGs USlHL vis 8.

4. SDGs dysd A2l WML AL g1RL [Rud sRcuul e gdl.

(A) 541,221 3 (B) $5d. 2, 3 ¥ 4

@534 (D) $5d 4

YruS2s Aa-A sd-an g stz 3udlE5a4 (UNCCD) n3adlsw (desertification) - Yool

uAlld 52 6.

(A) 0L Sétel 211 (AR

(B) 221, vidleuus 3l Gu 2lasHal 530 d- BrGuaidll eiud) edl

@ a2 vasi-u uRaun 2a3u Y8 ol eraizd)

(D) BuRisd U4l i ]

bt vidHE 2uadl M4 e1GA Ay 8.

@cH. (B) CO,

(C) HF (D) H,O

“¥2”" (soot) UEMS Hru Higl Hlsa 8.

(A) sl (B) »1yul £8- 23l usial

@)= (D) vuRL51H,

I AAHT HAAV WHAMR %N wid Aal 1A €9,

(A) iR (B) 22

(C) RttHe1d @0

21491 2201 vid AA3auiui auel welld pH Al a2 glu 6.

(A) 5416 @: s

(C)6dl7 (D)14l2

A2l U 5y AL ugusg el e ?

(A) Guasl2oila 2ioi [ SRICEEEREAR]

(QETZENEETIN (D) Mg

sl Al s101 2R [Alay ol S18U gl DA WS sul 0l sH eld © ?

@)co.>cH,>cFc>N,0 (B) CO, > CFC > CH, > N,O

(C) CO, > N,O > CH, > CFC (D) CH, > CO, > CFC > N,O
[RFP-2] [Contd.
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162. Which of the following statements regarding Sustainable Development Goals (SDGs) is/are

163.

164.

165.

166.

167.

168.

169.

correct?

1. Sustainable Development Goals have been decided for the time period of 2000 to 2015.

2. SDGs are a collection of 21 interlinked global goals.

3. Gender Equality is also one of the SDGs.
4. The SDGs were set by the United Nations General Assembly.

(A)1,2and 3only
.3 and 4 only

(B) 2, 3and 4 only
(D) 4 only

United Nations Convention to Combat Desertification (UNCCD) defines “Desertification”

as

(A) Spread and expansion of deserts

(B) Desert encroaching arable lands rendering them useless

.Land degradation in dry lands resulting from various factors

(D) None of the above

Greenhouse Gas coming from rice fields is

@cH.

(C)HF

“Soot” is a pollutant mostly coming from
(A) Vehicles

@ ndustries

(B) CO,
(D) H:0

(B) Incomplete burning of organic matter

(D) Mining

In Gujarat Moist Deciduous Forests are found at

(A) Gandhinagar
(C) Ratanmahals

(B) Gir

.Vap i

pH of rainwater in acid rain at different parts is between

(A)5and 6
(C©)6and7

@:ands

(D)1and?2

Which of the following is an example of secondary air pollutant?

(A) Troposphere Ozone
(C) Carbon dioxide

@)~ tmosphere Ozone
(D) Methane

Which of the following represents the correct order of contribution of different Greenhouse Gases

to the Global Warming ?
@)co.>cH,>cFc>N0
(C) CO,>N,0>CH,>CFC

(B) CO,>CFC>CH,;>N,0
(D) CH,;>CO, > CFC > N,O

[RFP-2]
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170.

171.

172.

173.

174.

175.

176.

177.

178.

GuasRoilBa gl andl  cnalisal 9.
@ Cr-isngu ol 2 2uaie3u Balaldua

(B) st1gu ol 244 vuaie3u Faldldudl

(C) [Brastngu ol 244 o1oll Falalasa

(D) BuRisd U4l i ]

SR 5H1 AR e ala UR euu-[RdmeL vmar Wi - U8 st el digdui 2uslRsi-M uan
Guasd nauw 54 ?

(A) g2, (B) 4.5.

@-G (D) A1

(A2 2uR10Y Aeu- ASudl 1412, anl 2050 YHIHI €2 Al s Aimnal axl gl
@- (B) 9 (C) 15 (D) 25

2w AU Blog wo-fl g1, AlPs Bof Aoitld CO, g Beraf 1 He1HIAl-L s128 2020 Hi %
ydl ay.

(A) 2.2 (B) 3.4 @:-s (D) 7.9

SEBI ¥4 Hiél su-l2iid wiedls dis wdia (Initial Public Offering) Hi 10% A e d 4gnu t9g
(divest) $24l edi dia (listing) -it HIREU snal sl

(A)9 (B) 8 (C)7 @:-

Mestal MuRd 244 GIRL -UHis wdal yasRl e sidol WGA WidAL A §242 2RiaA
[Asuacurl 2ol 2ud).

(A) L2 @

(C) [RouyR (D) %4l

DA Q4L 51 29 Al (e WAl A28 AL 20 M Hoaar Hi2-l aHgdl Bu seaiai sul ?
(A) naliu (B) S=3i-ildin

@G- (D) cusSeust

AlFARML AYSd AL AHIRU A, HIRA GIRL WALDd, 2023 4 adls A8l s WAl
6314 YU,

@)oo 2iaandu ay (B) 235 Wist Hidrausdlu an

(C) duaril g 2Aiandlu avl (D) 2 A1 51U, HidRAEU aul

cuRdla saden SAHE Al UAH AR GAIA Al sUud 352 $A2 VI 1 ¢ A

(A) AR (B) Sauud

@S (D) S-iAfi
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170.

171.

172.

173.

174.

175.

176.

177.

178.

Tropical Rain Forests are characterised by
.Infertile soils and exceptional biodiversity
(B) Fertile soils and exceptional biodiversity
(C) Infertile soils and poor biodiversity

(D) None of the above

Which of the following countries recently launched Arktika-M 1st satellite to monitor climate
change in Arctic?

(A) USA (B) UK

.Russia (D) China

According to the reports of World Health Organization, one in people will have hearing
problems by the year 2050.

@ (B)9 (C)15 (D) 25

According to International Energy Agency, Global Energy related CO, emissions fell by
% in 2020 due to pandemic.

(A) 2.2 (B) 3.4 @:-s (D) 7.9

The SEBI eased the listing norms for larger companies by enabling them to divest minimum
% of the Initial Public Offering (IPO) instead of 10%

(A)9 (8)8 (©)7 D)5

Sri Lanka has approved the developing of the West Container Terminal of Colombo south port
with parties nominated by India and

(A) Russia .Japan
(C) Singapore (D) Germany

Which of the following countries had signed an agreement recently for procurement of defence
material and equipment from India?

(A) Malaysia (B) Indonesia
.Philippines (D) Taiwan

United Nations General Assembly recently adopted a resolution sponsored by India to mark 2023
as :

.International year of Millets

(B) International year of Organic Crops
(C) International year of Cow Milk

(D) International Year of Jute and Textiles

Indian Air Force is to participate in multinational air exercise Desert Flag VI in country for
the first time.

(A) Qatar (B) Israel

.UAE (D) Indonesia
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179.

180.

181.

182.

183.

184.

185.

186.

Bedl [Qaldenau-n uasizd dgdui 3él 83si (shrub frog) Hi uin Adl woaldxi-l
SICEEIR

[ NERTE (B) $%9

(C) NA-u [Bruaxn (D) Yeart

WS Aidedlu (Bieui 248 2iaui €9 9901 WRrIR g 6lauHA oi=dl, 1w 6] 24 8.
(A) 2UR UldA A1 YAy (B) AR 24 yaly

(C) t12¢R A Ya1 @12 Do 7 yary

adl 2021-22 AL i W2 ARAd AR ABARHL 9 SAUNL 2udAl Selwuani 3L

53138 iRt 254 (surplus amount) saiacmi sudl .

@122 588 (B) 2u23 258

(C) »u2R 124 (D) 515 atuul 254 (surplus amount) -efl
RURAML GJRelRuAlA U i 570 [Mlduq an usaiq yedl-u Alel o well, Rl
AR [Tl AL 69,

(A) 6121 Y511, 2AiHULA @) 0xci25 95190, weanga

(C) 2%l 5121, HSIRA (D) BuRisd U4l s 1l

@R DAL UL s gsierausia (shipyard) 6 2ueusl Uél-u M a o1+ (next generation missile
vessels) [Rulel sau-l 20852 Houl €9 ?

(A) wSHOL B8 [ BIBEEMEEIN]

(C) WU sisus (D) BURisd U4l 41 1l

2021 Hi MR Astra Mk 2 R a-i udlami a3 sa e 19% 9, d Al WRRL »al@ yuad)
geu 2ell sig1l (Beyond Visual Range) saudll gau-l [Buda (air to air missile) €.

@100 -0 (B) 1600 (3.44.

(C) 2,300 [3.4. (D) Gusid U4l 51 1l

5% AR A%AHL 8 U531 Beurg L FHuivAHL U Hogdl 20l .

@22, a%en, saizs, Grangu 24 alanug
(B) su2s, iU, AR, A% 2 A% AU
(C) 2320, A, ulZu vioun, dldl i HSIRA
(D) BrirMER, HUAULS, AU%Ud, HIRVS 2 YgA<l

-

ad Asl@s «@dld s (instant messaging) iy [Asudl € 204 d gl
[Asuacumi 2udl €.

(A) Sandes, TCS

(B) SVL, $-sila

(C) AMRAR, A S-51RHS5u A2
.Sandes, AU S51RA3sA A2
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179.

180.

181.

182.

183.

184.

185.

186.

Researchers of University of Delhi recently discovered five new species of Shrub Frogsin
.Western Ghats (B) Kutch
(C) Lower Himalayas (D) Sundarbans

Pollard becomes third batsman to hit six sixes in an over in international cricket, the two others
are

(A) R Powell and Yuvaraj (B) Warner and Yuvaraj
(C) Butler and Yuvaraj .H Gibbs and Yuvaraj

crores INR surplus amount was presented in recently introduced budget of Gujarat
Government for the year 2021-2022

.Approximately 588 (B) Approximately 258
(C) Approximately 124 (D) No Surplus amount

The Geological Survey of India has found three fossils of a Dickinsonia, the Earth’s oldest animal,
dating back 570 million years in

(A) Borra Caves, Andhra Pradesh
.Bhimbetka Caves, Madhya Pradesh
(C) Ajanta Caves, Maharashtra

(D) None of the above

Which of the following shipyards of India received the order to construct 6 next generation
missile vessels?

(A) Vizag shipyard .Cochin Shipyard
(C) Mazagoan dockyard (D) None of the above

India is set to begin the trials of Astra Mk 2 Missile in 2021. It is a Beyond Visual Range Air-to-Air
Missile having a strike range of

@160 kms (B) 1600 Kms
(C) 2,300 Kms (D) None of the above

Central Government has approved the establishment of 8 toy manufacturing clusters in
states.

.Madhya Pradesh, Rajasthan, Karnataka, Uttar Pradesh and Tamil Nadu
(B) Karnataka, Andhra Pradesh, Telangana, Gujarat and Rajasthan

(C) Odisha, Rajasthan, West Bengal, Goa and Maharashtra

(D) Uttar Pradesh, Madhya Pradesh, Gujarat, Jharkhand and Puducherry

India has developed alternative instant messaging app and it is developed by
(A) Sandes, TCS

(B) SVL, Infosys

(C) Samachar, National Informatics Centre

.Sandes, National Informatics Centre
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187.

188.

189.

190.

191.

192.

193.

Alus suaaue (AR 2udv AvR ‘sid-rdllud visun 2iks sl (FATF) wlszaid _ ydll
9 dl2’ (Grey list) 1 nd) Jwai-l [Rela sal .

@<, 2021 (B) AR, 2021

(C) Wi, 2022 (D) BuRisd U4l i 1l

-

AU ‘215 s 2 Aar @4l gl A WA 56 6l A2l s (interlinking) ¥R
SAY O ?

(A) 2uigrasl - (Fuu (B) H8IAgl - auidl

@121 - ouierad (D) AgLadl - amd)

uulaRel, ad 24 gy wRadd Huad digdHi aqHl 2dal 6 SiEll2i Yyl awa
12 258l a0 530 69,

(A) YR (B) -

(C) uaan @: i

NITI 2uaiot-i Rawdl siuelRl (migrant workers) we-ll sdlu lld- Yuel (Draft National Policy)
sustd QA Q4 sun [Qan-i i 9 ?

1. DAl Aa-u (design) cuoid Al SIMEIRL YuEL 6L (@011, ariq 53 6.
2. AU A[AHAH As3 Angldlail, viu salel, 2 SIHEIRL HIE 2R BUR BuA S+dld 43 69,

3. oflo wi@am 2anidR (migration) A AYLMUGL AULE s BUR LU Swdld 53 6.

(A) 1,21 3 (B) $5d 2 21 3

@:s 1202 (D) $5d 124 3

Wl Aot Agla ulds vl s2AlA Gera %3y 21 sUgi-u vllel [zarrul €2 adl Gy 8.
(A) ardl (B) :la

@ (D) Y

audla Asien SA x4 AW WA A ui o [Bau aqiell QAU saud, “Squ
2 Wdaidn AR sicz 20217 ui et sl

(A) 212060l uyg (B) 5100 AYs

@ e w0 (D) Malid HSIAIR

(et Houau uxu [Ren dig-u ssn @i Anadl [Raill ol 24 gl Yt unswL 5304
[ReuRdl auouil 217 enaul sal 1% 9.

@120 younas el (B) »12a [Bridl cuywrs§
(C) YsHL AR (D) udld glisud Guitain
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187.

188.

189.

190.

191.

192.

193.

The Global anti-terrorism watchdog Financial Action Task Force (FATF) decided to maintain
Pakistan into Grey List till

.June 2021 (B) December 2021
(C) March 2022 (D) None of the above

Recently which of the following two rivers interlinking was approved by the Taskforce on
Interlinking of Rivers?

(A) Godavari-Krishna (B) Mahanadi-Sabari
.Mahanadi-Godavari (D) Godavari-Sabari

Ministry of Environment, Forests and Climate Change has set up a team to investigate deaths of
Six elephants recently in forest.

(A) Munnar (B) Waynad
(C) Sheshachalam .Kalahandi

Which of the following statements are correct regarding NITI Aayog’s Draft national policy on
migrant workers?

1. The draft migrant workers policy describes two approaches regarding the policy design.
2. The first approach focusses on cash transfers, special quotas and reservations for the labours.

3. The second approach focuses on prevention of migration completely.

(A)1,2and 3 (B) 2 and 3 only

.1 and 2 only (D) 1 and 3 only

Kanchoth festival, a symbol of ancient Nag culture, is observed annually across valley
region of Jammu and Kashmir.

(A) Tawi (B) Ravi

.Chenab (D) Poonch

Indian Navy joined Iran and Russia and participated in two-day long navy exercise “lran-Russia
Maritime Security Belt 2021” in

(A) Arabian Ocean (B) Black Sea
.Indian Ocean (D) Pacific Ocean

Ministry of Education is set to rename residential schools and hostels funded under Samagra
Shiksha Scheme as residential schools and hostels.

.Netaji Subhash Chandra Bose
(B) Atal Bihari Vajpayee

(C) Sushma Swaraj

(D) Pandit Deendayal Upadhyay
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194.

195.

196.

197.

198.

199.

200.

HEYoUL el gkl well 121 HeIelg 2R Ayl SIsH AHA [RaRYMD gnaAaq ay Yie
o1asl.

(A) dlzel @2

(C) a-flA (D) Bulsd U4 i )

AYsd AL uAlarRL sRisH (UNEP) 4R valaelly geau (Environmental Degradation) Hrdil

AHE SR AVHL BlaL 52 89, L AWML 8.

@ nuy uRad-, Fa [@QlRgd 2 2E ugue.

(B) sty uRad-, vixs 4 dlaing »im wiellHl dofl.

(C) wiell-l dofl, alaldtdil -ua 244 s [d-ua

(D) BuRisd U4l 5 ]

s 5 Sudl [Ruul - (OPCs) (One Person Compaines Rules) g8 digdHi su-ll (i:aux) oilod

YHIRL 2021 (Companies (Incorporation) Second Amendment 2021) tuoid <A U4l 53 / s [Aauq
/[t 0 / i e ?

(A) 20 YR Bir-Rarl cudlain curaul 215 alsd su-lziHl - sl urasoll »ud 8.

(B) 1 YRl siSuR uHAd s @alsa sudlaia uedls sudl 2iaan vl su-dlai utadla acd
uar-fl weL 2y 69,

@ ») 21 (B) vin

(D) (A) 211 (B) U4l 51 1l

AF R4, Glot ol el Gu A%UHL Qricns [Aegyd alsa wigsea ol 2ud.
@1, Gurwis (B) es-icl, Griwvis

(C) Aday, [Raausa (D) BuRisd U4l 51 )

RURALRL AL A d-l AcizAiHi AnHl 2sidlaq @il Ao sd-and - dod Sasds aendlq
gl s,

(A) INS 580 @ ns six (C) INS $iRi2 (D) INS 44
Saszisu 2= Srsivan 25di Houad il s2dl A di-e 2512 518 welwi ol%
QUL AR HS 1 2 21A uR L 8.

(A) HDFC (B) ICICI @ss! (D) AXIS

(2 2ulls s124 (World Economic Forum)-l cllils elss, & el o3 - 2021, oa-y2udl 20214

Ao A8, w0 AR [Auaary d.
(A) sUlas 8 adi 21 [Qrad Rua 520,
@ cnziu gl wdd Radus ad.
(C) a2 vieldaag [RulaL sa1 HI2HL uHA.
(D) BuRlisd U4 518 Al
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194. The Mahabahu and Brahmaputra programme will strengthen the water connectivity across the

195.

196.

197.

198.

199.

200.

region through the waters of the River Brahmaputra and rivers
(A) Teesta .Barak
(C) Dhansiri (D) None of the above

According to United Nations Environment Programme (UNEP), environmental degradation poses
triple threat to humans, those threats are

.Climate Change, Biodiversity Loss and Pollution

(B) Climate Change, Ice Melting and Water Scarcity

(C) Water Scarcity, Biodiversity Loss and Planet destruction
(D) None of the above

Which of the following statements is/are correct regarding recently passed “Companies

(Incorporation) Second Amendment 2021, with reference to One Person Companies

rules (OPCs)?

(A) The changes allow Non-resident Indians to incorporate One Person Companies in India.

(B) The changes have also permitted OPCs to be converted into a public company or private
company at any time.

@) soth () and (B)
(D) Neither (A) nor (B)

Recently, Environment ministry approved the Lakhwar electricity power project on river
in state.

.Yamuna, Uttarakhand (B) Alaknanda, Uttarakhand

(C) Sutlez, Himachal Pradesh (D) None of the above

The Indian Navy has inducted into service the third Scorpene-class conventional diesel-electric

submarine called

(A) INS Karna .INS Karanj

(C) INS Korant (D) INS Kuvem

The Ministry of Electronics and Information Technology has released the list of ‘Digital Payment
Score Card’. In this Bank topped for three consecutive months.

(A) HDFC (B) ICICI

@ss! (D) AXIS

World Economic Forum’s annual meeting, The Davos Agenda 2021, was held in the month of
January 2021, the theme of this summit was

(A) Fight with Covid and Build Trust
.A crucial year to rebuild Trust
(C) Time to build the world economy
(D) None of the above
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